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The XXIII-d International Conference on New Trends in High-Energy 
Physics (NTHEP), co-organized by the Bogolyubov Institute for 
Theoretical Physics, National Academy of Science of Ukrain,  the Joint 
Institute for Nuclear Research (Dubna), the Institute for Nuclear 
Research, RAS (Moscow) and the Steklov Mathematical Institute RAS 
(Moscow), was held in Alushta, Crimea on September 23-29, 2013.  

The present Proceedings contain written versions of the invited talks, 
grouped in two sections: 1. Experiment and 2. Phenomenology & 
Theory. Within each section, the talks are ordered alphabetically, by the 
first author.  

To speed up the publication, we minimized editorial intervention.  

We thank the Authors for their invaluable contributions and apologize for 
the black-and-white reproduction of the color figures. This omission is 
compensated on our WEB page: http://crimea.bitp.kiev.ua/, where all 
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� ��� !���� � ���� ,<9 (0--5)�

:� 7� ����� �� ���� .����"� 3������ 7 �	� 0, (0-��)�

�-� �������C��0-�0�-� .#0�0 �������
 <� �B�@�#.#��0-�0�--� (#.#��
.�0;,�����<)�
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 ������
√
s = 7 TeV� ��� ����������� ��	

�


����	� 	
 ���
��� 
���������� dσ/dt� ��
 ���� ���
���� �� ��� 
������

	����	������ ����

�� ����� 0.005 GeV2 < |t| < 2.5 GeV2 ���� ��
��������� 
�	� ��� ���	
� ���	������� 
	����� ���� �∝ e−B|t| ����
B = (19.89 ± 0.27)GeV−2 !"# ���	��� ��� �������� ����	� �����
��� ������� 	�
��$�� �� %�&"'�(2 �	 ��� ������|t| �	���� ��������
��� � �	������� ����$�	��� ∝ |t|−7.8 !)#� *�� |t|������ �����
�� 
	

�� ��
 ���� �	$���� �� ��	 ���� 
��
 ��� ���� �� �������� �� ��

����� �	��� �	 ��	�� 3.5 GeV2 ���� � ����� ���� 
�� ������� �����
�����
�
�

��
√
s = 8 TeV� �����
�
 	
 ��	 ���� 
��
 ���� �������� �������

	����
 ��� �� ��	���

� +��� ��� ��� β∗ = 1000 m 	����
� |t| $����
 �

�	� �
 6 × 10−4 GeV2 ���� �������� ��� ��� ,	��	���������� ������

������ ��
 	�
��$�� 
	� ��� -�
� ���� �� ��� ./,� *��
 �����
������
����
 �� �	

���� �	 ��������� ��� ���
� φ(t = 0) 	
 ��� ������� ���
������� A(t = 0) $�� ��� ��������� ρ = cotφ(0) = RA(0)/IA(0)�
*��
 $�����	��|t| ���� 
�� ������
 �� ����� ����� 	
 ��	�� %�0'�(2

��� 	$�����
 ���� ��� 
��	�� 
�� ���	���� �� β∗ = 90 m ��� �	$�����

1
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√
s = 7TeV

��� ����� 0.01GeV2 < |t| < 1.4 GeV2� *����
 �	 ��� ���� 
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�
���
 	
 ���
� ����� �	�� ��� ��� ��� ���� ��� ������� $�
����� *��
�	����|t| ����	� 	
 ���
 β∗ = 90 m ���� 
�� ��
 ���� ������	����� �	
t = 0 ��� ���
 �
�� 
	� ��� �	��� ��	

�
����	� �����������	� ����
��� �����	
��������������� ����	� �
�� 2����	� 0 �

*3*45 ��
	 ���	���� ���� ��
√
s = 2.76 TeV� *�� �����
�
 �
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��� 
��������� ����������� ��	

�

����	� dσ/dt ��
 �	�����
�� ���� ��� �����	
��� 
�	� ,52�
�
��� ������	����	� �	 t = 0� ��� �	��� �� ��	

�
����	� ��

���������� �
��� ��� 	������ ���	���

σ2
tot =

16π (�c)2

1 + ρ2

dσel

dt

∣
∣
∣
∣
t=0

, �� 

���� ρ = 0.141±0.007 
�	� ��� ,3584*4 !9# ���
�������	���
������	����	�� �������� ��� �����
��� ��	

�
����	� ��
 	�������
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σinel = σtot − σel. �0 
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 �������� ���
����
���� ��� 
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���
��� �����
��� �$��� �	���
� �������� ��� �����	
���������������
����	�7

σtot =
16π (�c)2

1 + ρ2

dNel/dt|t=0

Nel +Ninel
. �" 

�� ��� 
��� ���� ���
 ����	� �����
 ��� ���������� �����	
���7

Lint =
1 + ρ2

16π (�c)2
(Nel +Ninel)2

dNel/dt|t=0
. �) 
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	��� �	 �� �� ��������� ��������� ���� ��� ,52
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�� �	������ ���� ��� ,52 �����	
��� ���
������� �	 	�����

ρ2 = 16π (�c)2 Lint
dNel/dt|t=0

(Nel +Ninel)2
− 1 = 0.009 ± 0.056 �& 

	� |ρ| = 0.145 ± 0.091�

*�� 
	�� ��
���
� ��$��� $��� �������� 
�
������� ����������
� ���
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�	��������� ��� ��������
�� ��
�	�������� �	� ���������� ���
���	��
	� 
������
√
s ��
��� (�
� )�
 σtot σinel σel

���*� ��$� ��$� ��$�

+ ����

� ���%' �,# -�. /��� �0�� �1� 98.3 ± 2.8 73.5 ± 1.6 24.8 ± 1.2
+ ����

� ���%' �,# -�. ��
�$�	 �0�� �2� 98.6 ± 2.2 73.2 ± 1.3 25.4 ± 1.1
+ ρ!
����# -��# 3 
���#. ��
�$�	 �0�� �+� 99.1 ± 4.3 73.7 ± 3.4 25.4 ± 1.1
+ Lint!
����#' �,# -2. ��
�$�	 �0�� �4� 98.0 ± 2.5 72.9 ± 1.5 25.1 ± 1.1

4 Lint!
����#' �,# -2. /��% �0�� �5� 101.7 ± 2.9 74.7 ± 1.7 27.1 ± 1.4

�� ������� ������� �����	�� ��������	���

*�� *���
�	�� *0 �
 �� �<����� ������ 
	� �� ���	
� �����

�� 
�����
	
 �����
��� �$���
 ��� �	 ��
 �	� pT ���������� ����
�	�� �∼)%5�( 
��� ����� ���������� �	 �����
��� �$���
 �= ;% > � ?�
�� 	� � 
������
�	�������� ��� ��

√
s = 7 TeV� ��� ������� �������� �
���	��������

���
��� dNch/dη 
	� 5.3 < |η| < 6.4 ��
 ���������� �� �$���
 ���� ��
���
� 	�� ������� �������� ���� ����
$��
� �	������ ��	$� )%5�(
�� ���
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√
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 dNch/dη 	� ��� 
��� �$���
 �	�� 
	� ��� ������� �������
�|η| < 2.3 ��� 
	� ��� $��� 
	����� *0 �5.3 < |η| < 6.4 � ��� ���������
�� *0 �� � �	��	� �	�������� ���� 2���� dNch/dη ������
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• B	���� ��������$� �BB ��	

�
����	�7
*�� BB ��	

�
����	� �� ��� 
	����� ����	� !�%# ��
 ���
����
�
��� � β∗ = 90 m ��� �� :*�( ���� � �	� ������ ��	��������
�∼%�%& �����
��� �$���
 ��� ����� ��	

��� � � 
	����� BB

����� ��
 	������� �� ���������� ���� *0� ��������� �� ���
�
	�� ������� �������� �� �	�� *0 ���
 ��� �	 ������� ��������




�� ���� �� �����	����

� � � � � �� ��� �
	��	� �
���� ���	�
���� �  ! 
	
�����
��
� �����	��
����� ��� ����	 "� �	���
��
��� |η+|min �|η−|min! 	���	� �
 ��� �	��
��	� ��	��
�� ���� �������� |η| �� ��� �
������ ���������! ��������	��
��� #����� ��� #�
$�� ��������� �
	 ��� �
��� σDD �	� %���� ���
&�'��( 	����
������

|η+|min |η−|min ����� �μ$� 6%
�
� 4#�04 �μ$� 6��7�
 �#�� �μ$�

[4.7, 5.9] [4.7, 5.9] 65 ± 20 +0 88
[4.7, 5.9] [5.9, 6.5] 26 ± 5 29 �2
[5.9, 6.5] [4.7, 5.9] 27 ± 5 29 �2
[5.9, 6.5] [5.9, 6.5] 12 ± 5 �+ ��

[4.7, 6.5] [4.7, 6.5] 116 ± 25 �15 �0�

�� *�� *��
 
������� ���	�
 � $��� ���� �∼:%> BB 
����� �	
�� 
�������� ��� 	��� � 
�� > 	
 ��� �	��� BB ��	

�
����	� ���
������������� �	$����� *�� ���
������� ��
 �	������� �	 ��
�����
������$� 
	� BB �$���
 ���� � ������� �������� ��� 
�	�
η = −4.7 �	 η = +4.7� �	���
�	����� ����	�������� �	 �$���

����� �	�� ��������$� 
�
���
 ��$� ��

�
 ������� "�) ���
1'�(�

*�� ��
���
 A �	�� 
	� ��� �	��� ����

���� ηmin ����� 	� ����

���� ��� 
	� � 2×2 ������ 	
 
�������
 A ��� ���	���� �� *���� 0
��� �	������ ���� ��������	�
 	
 5	��� ,���	 �	���
� C
���
���� ����� �� �	��	� ���� ,52 ��

√
s = 8*�( �� 0%�0� �

���� ������ 
�����	� 	
 σDD ��� �� ���
���� ���� �		� �������

• 2����� ��������$� �2B ��	

�
����	�7
� 
���� 	
 2B �$���
 �� :*�( �
 ���
	���� 	� � ���� 
��
��������� ���� *0� 2B����� ���	�	� D ��� D ��������$� 
�
�
��� �$���
 ��� 
������� ��������� 	��� 	�� ��	�	� �� ��� 68
�
������� ��������
 �� ��� *0 ��� 	��	
��� �	 ��� ��	�	� ��� �	��
�� ��� 	���� ���� *�� �$���
 ��� ���

�-�� ���	����� �	 �����
��������$� ��

� Mdiff � ��
�� 	� ��� ������� �������� �	�-�����
��	� �� *� ��� *0 �*���� " � /��� ��� ������	� M2

diff = se−Δη

�
 �
��� ����� Δη �
 ��� �������� ��� ������� ��� $��� 
	�����
��	�	� ��� ��� ������� �������� �� *� ��� *0 ��	
�
� �� η �	
��� ��	�	��

*�� ��� 	
 ��� 
���� �
 �	 ��������� dσSD/dt ��� ��
 ��������
	$�� t 
	� ���� ���

 
����������
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� � � � � &� ������)
���
� 
� ��� ������ ���	�
���� ������ ���
 ����	���
	����� 
� ��� ���	�
���� ���� Mdiff ��� �	
�
� �
������ �
�� ξ� ���
*
��
����+ ��� *����+ ���� 
� ��� ,# �	� ��)��� 	������� �
 ��� �	
�
�
����
��� �� ��� -#!

Mdiff �:�*� ξ ����
 �
 ��
�	�

3.4 ÷ 8 2 × 10−7 ÷ 10−6 � 3 �����

� ��� �� ��
8 ÷ 350 10−6 ÷ 0.0025 � 3 �����

� �� 3 �����

� ��
350 ÷ 1100 0.0025 ÷ 0.025 � 3 �����

� �� 3 ���� �
�� ��
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�� ��
 ���� �	������� �� � �0 �	�� ��� �	������ ����
,52 �� :*�( ���� ��� β∗ = 90 m 	����
� E� ������	� �	 ���
*3*45�
������	�� �����
�
 	
 ��� ����������� ��	

�
����	� ��
t1,2 ��� ξ1,2� � @	��� ,52D*3*45 �����
�
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�	 �� �	������� �
��� ��� .	�� 2����	�� 	
 ./,� ��� 
����� 
	�
��� ��������� ��	����� 
����
� ���� ���� ���� ����
� ���� �	��
���	 ������

,	������� ,46F 
	� ��� ����-� 	
 ��� *3*45 �	����	����	��

�# ��� ����� �����$�	�

��� /;<)� &( )0400+ -�004.#

�# ��� ����� �����$�	�

��� ��=<!6�!�6!�0�2!�+2> �	?
�'�2�0#�504#

2# ��� ����� �����$�	�

��� �6� �.�( ��00� -�0�2.#

8# ��� ����� �����$�	�

��� �6� '/( 8�00� -�0��.#

1# ��� ����� �����$�	�

��� �6� '0( ��00� -�0��.#

9# /#=# ������ �� ��� -���6��� �����$�	�

��.� 6�%�# =��# ��

# %'� �0�40�
-�00�.#

+# ��� ����� �����$�	�

��� �6� �.�( ��002 -�0�2.#

4# ��� ����� �����$�	�

��� �6� �.�( ��008 -�0�2.#

5# ��� ����� �����$�	�

��� 6�%�# =��# ��

# ���( 0��00� -�0�2.#

�0# ��� ����� �����$�	�

��� ��=<!6�!�6!�0�2!�+0 -�0�2.�
�	?
�'�204#9+��#

��# ��� ����� �����$�	�

��� �6� '%� 2�00� -�0��.#
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Summary of CMS SUSY Results* in SMS framework

CMS Preliminary

m(mother)-m(LSP)=200 GeV m(LSP)=0 GeV
SUSY 2013

 = 7 TeVs

 = 8 TeVs

lsp
m⋅-(1-x)

mother
m⋅ = xintermediatem

For decays with intermediate mass,

Only a selection of available mass limits
*Observed limits, theory uncertainties not included

Probe *up to* the quoted mass limit
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" �	��" ����" �� σ/σSM

γγ !"� * �."/ �0 1"�σ �"��

22(∗) → 4� !"� * �."/ �"!0 /".σ �"�/

33(∗) → 2�2ν 1". * �."! ��0 !"�σ �"��
ττ 1". * �."/ �!0 �"/σ �"1
�� !"� * �."� ��0 �"�σ �"!

����� '��� ��� �����	���� � #���������  ���� ��� #��� 	���� ����� ���
�������� �����0�	! �������0��! ��� ��� ����	0�� �		�	 �� ��� ������
��	������ ��(��� �� μ = σ/σSM�

%�� �	������� 	���� �79� �* ��� ����� ����� ����! ���� � ��,
������ ���	 �� ���	���#����! 2×10−3� ��		��������� �� � � #��	 �*
�������� �0���� �* ��#��� �""" �� ��� * �� ���� ��:��� ��	���� %��
�;�����! �* ��� ���	�� �� ���	���#����! �"<� =� ��� ����	 ����
��� ���:�	� ��� ������� ��� �! �		�� ����� �������� >-? �	�� �,
���� ��� ����	 	�� ����� ���:�	� ��� �� '���� �� ����� ��� 	����,
��	 ���� ������ ��#�� *	�# ��� #��,	������	 ����� �* � @�� �*�:��� ��
0�	! ��	��� %�� �������0��! �* ��� ����!��� �� ���	����� �! ����	�����
��� �������� �0���� �� ��6�	��� ������	��� '��� ��6�	��� ������ �� ���:,
�	� �� 	������ .#��� ����� ������	��� ��#� �	� ��#�� �� ���������
���� ��0� ������ 	�� ��		��������� �� ��� &78 ��� &� �	�� �����
#���� �� 8�� 	� � ��*� ���'� ��� �,0�� � �� * ������ �* ��� ����� #���
�� ��� �� ���� #��� 	���� 110A1501�&� %�� #���# # ����	0�� �,
0�� � �� ���σ �*�	 ���σ ���������� *� �� �� � #��� �* 1251�&� ���
��		������� �� � ������ ��	����� �* "�$+±0.27 
+��

%�� � → BB → 4�� ����� ����! ���� *� 	 ���	��� �������� ��
 � ���! 	�*�		�� �� �� ��� ������ ������� *�	 ��� ��������� �* ���
����� ����� �� /�-� %�� 79 �� 0�	! �#���� �* ��� �	��	 �* 10−4 � �
��� ���:�	� �� �� �#����	 ����� ��� ��� ������ ��� �� ����	�! ���� ��
� ���: �� ��� ��0�	���� #��� �* ��� *� 	 ���	��� �������� 8�� 	� �
	���� ���'� ��� ��0�	���� #��� �����	 # �* ��� �������� ���������� ��
��� * �� #��� 	����� %�	�� �������� *��� 	�� �	� 0������ �� ��� ����C ��
��' #��� ��� B ���: ��		��������� �� ��� B ���� *� 	 ������ ����!� ��
���� #��� ��� �
 BB ������  # �	�� ����� ��� �� ��� ����	#������

���� ��� �
�� ���� ����	�� ��� 	� 	� ��� ���  ��� �� ��� ����	��� γγ ���
��	�"
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  �#�
�� �� �����	�� �� ���� ��� ��� � → γγ ������
" ���
������ 
	��� 	��	���� ��� �, �����  �#�
�� 	� ��� �� �����	� �� ��� �,	������ ��
� �������� ����
 �	

� ����� $�	
� ��� ��
	� 
	��� ���$ ��� �����#��  �#�
��"
6	
��5 	�#��	��� ���� � ������ �� �

 ����	����� �� ��� � → 22 → 4� ������ 	�
��� ��

 ���� ���
�

	������ �� ��� � 1251�&� ��� ������ ��		��������� �� ��� �����0�	��
����� ������ %� ��	�0� ��� (��� 	�� ��� ��� ��*�	#����� *	�# ���
#��� 	�� ������ �� ��#����� ���� � :���#���� ����	�#����� ���� ��
 ��� �������	 '��� ��� #��� ��� ������	 ����	�#����� ���	������ ���
&78 �	�� ����� �������� .� 1251�& �� ������ �* 2�$σ �� ����	0�� *�	
�� �������� �* $��σ ��� ��� #��� 	�� ������ ��	����� �� 0.9+0.30

−0.24 
4��

%�� � → DD → 2�2ν ������� ��� ��#��	���� �������0��! �� ���
γγ ��� BB �������� �� � #��� �* 1251�&� %�� ������ 	� �� �'� ����
pT ������� �� � #������ �	���0�	�� ���	�! �
E%� �	��������� *	�#
���  ��������� �� �	���� *	�# ��� D ����!�� %�� #������ �� �	����
���� ��#�� ��� �	������� �* ��� #��� ����	#������� ���� �� ���	���,
#����! �"<� %�� ������ ���'�  � �� ���� ������� �� �� ������ �* ����
�0�	 ��� �������� ���:�	� �� ���� �� ����#����  ���� ���� '����0�	
��������� %�� ����!��� �� ��		��� � � �� ��6�	��� ������	��� ���������
�� ��� � #��	 �* @��� �	����� �� ��� �0���� ��� �� ��� 5�0� 	 �*
��� �������� ��#�,5�0� 	 �������� �� ��� μμ� ��� ��6�	���,5�0� 	
�0����� �μ� �	� ����!3�� ����	����!� %�� #��� �������0� �������� �	�
��� ",@�� ��� �,@�� ��6�	���,5�0� 	 ��� ���! �	� ���������  ���� ��
����#�3�� �? ����!��� ����� �� ��� �������� #��� ��� ��� �	���0�	��
#��� �����	 ���� '��� ��� �������� �!���# ��� ��� 
E%� -�#������
��� �������� �� ������ �* ��"σ �� ����	0�� �� 1251�& *�	 �� ��������
�* )��σ ��� ��� #��� 	�� ������ ��	����� �� *� �� �� �� 0.76±0.21 
�"��



����� �����	� 
��� 
�� ��

%�� � → ττ ����!��� �� ��		��� � � �� #��! ��6�	��� ���������
�����  ���� ��� ����� �	�� ����� ������ 	�� ",@��� �,@��� � &78 @����
��� &� �	�� ������ ��� ��� ��#�������� �* ��� �'� τ ,������� ����!
#����C �����	��� # �� �	 ���	����� %�� #��� �#��	���� ������� �*
��� ����!��� �	� ��� #��� 	������	 ����� ����  ��� � * �� :���#����
(�� ��� ��� ���:�	� �� ����#������ ���� �� �������� �! (����� ���
�������� ��# ������ ��!� %�� ",@�� �������� ��0� ��	�� ���������� ���
���� �����	������ ��� ��6�	��� � ������� ���� ����	�� ��� ���:�	� ��
	���� ��� ������� %�� ��#�������� �* ��� �������� ��0�� �� ����	0��
������ �* ��+)σ � 1251�& *�	 �� �������� �* ��2�σ ��� � #��� 	��
������ ��	����� �* 1.1 ± 0.4 
����

.� ��� ���:�	� �� �� ��� �� �� * ���� �	�� ����� ������� �� ���
��	��� ��� � → �� ������� �������� ��� &� #��� 
���� '��� ��������
����!� �* ��� D ��� B ������� ��� &78 
��� ��� ��� 
��� �	�� �,
���� ��������� %�� ����!��� �� ����#�3��  ���� �� 
&. ����	�#�����
���� ������ ����� ��� ����	�#������� ��'�	 �* ��� #��� �������0� 0�	�,
������ %�� ����� �* ���� ����	�#����� �� (���� �� � ��#���	 '�! ��
�� ��� � → ττ �������� %�� ��̄ ��0�	���� #��� �� 	������	 ����  �,
��� � # ���0�	���� 	��	������ ���� !����� � #��� 	���� ���� �* +,4<�
-�#������ ��� �������� �� ������ �* ���σ �� ����	0�� �� 1251�& *�	
�� �������� �* ���σ ��� ��� #��� 	�� ������ ��	����� �� 1.0 ± 0.5�
%�� ��#�������� �* ���� ������� '��� ��� � → ττ ��0�� �� ������
�	����	 ���� �σ �� 1251�& ���� ������� ��� ��	��� �0������ �* ���
����� ����� ����!� ���� *�	#�����

9������! � ���	�� *�	 ��0������ ����!� �� ��� &78 ��� B� �	�,
� ����� #���� ��� ���� ��		��� � �� %�� �������� 79 ���� ��0������
#���� �� ���! �� ��� ������	� #����� F� ������ ��� ���� ����	0�� ���
4)< -�/� ��#��� ��0� ���� ��	�0�� �� ��� ��0������ �	������� 	���� �*
��� ����� ����� �* "�24 ��� "�$) *�	 ��� �'� �������� 
�2� �$��

8�����! ��� ���	�� *�	 ��� ����� ����� ����!� ���� Bγ �� ���� ��	,
*�	#�� 
�)�� %�� �������0��! �* ���� ������� �� # �� ��'�	 ���� ����	�
��� � 4)< -�/� ��#�� �� μ �* ���	���#����! ��� ��#�� ��� �
 �� ��,
�������

�� ����������� �� ���	���

.�� �������� �	� ��#����� ��� ��� (��� 	�� ��� �� ������ ��	�������
�� ������ ��� #��� �	� ��	�0��� 8	�# ��� ���� #��� 	���� ���� γγ



�� ���� �� ���������	
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 �����
�� �������� 	� ��� 7#� ���� ����	�	#�
������
�" ��� 
	�� ��� ��� ���� 	��	���� ��� �#���

 7���� μ ��� 	�� �������	���"
6	
��5 ���7����� 
�#�
 �������� �� ��� ���
	�
 ������� �� ��� ����	�� ��� 
	�
�
��� ��� #����� ��� 
	�
� �� ��� �	

� �����" ��� �����	���	��� ���� ��� 7#�
�	8����� ������
� ��� �
�� 	��	�����

��� BB �������� ��� #��� �* ��� ����� ����� ��� �� #��� 	�� ���
�� *� �� �� �� M� = 125.7 ± 0.3�������± 0.3��!����1�&� 8�� 	� �
��*� ���'� � � ##�	! �* ��� #��� 	�� ������ ��	������ �� ��� (0�
#��� �������0� ���	�� �������� 
�+�� �0�� ���� �� ��� #��� 	�� #���
�* 125.71�&� .�� �������� �	����� ��#� ������ ��� �	� ����������
'��� ��� �
 ������������� %�� �0�	��� ������ ��	����� �� *� �� ��
�� μ = 0.80 ± 0.14� ����� ���������� '��� ��� ������	� #����� 8	�#
��� ��#����� (� �* ��� �������� �� �� ���� �������� �� #��� 	� 0�	�� �
�� ������ �* ��� ����� ����� �� ��� *�	#���� ��� �� ��� 0����	 �������
8�� 	� � 	���� ���'� ��� �����	����� ���� �	� �������� �� ��� �'�
��	�#���	� κf ��� κV ���� �	�  ��� �� ����� ��� �� ������ �� ���
*�	#���� ��� �� ��� 0����	 ������ 	�������0��!� %�� #��� 	�� ������
���'��� ��� (��� �	�� ��� ��� ��� ���# ���� ������� ��*�	#�����
�� ��� ���� ��� ��	��! �* ��� ��' ������ %�� ���� ������� *�	 ����
����!��� �� ��� BB ������� '��	� ��� ������ ��� �� #��� 	��� ?�6�	���
#����� ��0� ���� ������ ��� ��� ������ ����,��	��! JP �!�������� 0−�
1+� 1− ��� �	�0����,��:� 2+ #����� �	� ���� ��� �� � ���(����� ��0��
��	��	 ���� 4)<� �� � ##�	! ���� � ����� � ��	��� �	�*�	���� *�	
��� 0+ ��� 	� �* ��� �����0�	�� ����� ������



����� �����	� 
��� 
�� ��

�� 
	�����

G	���#���	! 	�� ��� �* ��� ����!��� �* ��� * �� ������� ��������� ��
/�- �� �"�� ��� �"�� �� $ ��� +%�& ����	�,�*,#��� ���	�! ���
��		��������� �� �����	���� � #��������� �* ) ��� �" fb−1 ��0� ����
	���	���� %�� ����	0�� ��' ����� '��� � #��� 	�� #��� �* ��� �
125.7 ± 0.3�������± 0.3��!����1�& �� *� �� �� �� ���������� '��� ���
������	� 
���� ����� ����� �� ��� ��0��������� �	���	����� 
��!
��6�	��� ���	���� *�	 ��!��� ��� �
 ����� ������ ��0� ���� ����
��		��� � � ��� �#�	�0�� ���� ���� ��#��� ��0� ���� ���������

�" �" 3�	����
� � ����� �� ��	
���� 9���" 6�#" )���" ��� ��/1 %�./�&"

�" :" ��
��� 
�����
��� ���
���� ������ %:
�;�	�� ��� 3	<��

�� ����<��
��
�./�&�  " =/�"

=" 4" +�

��� ��� 6" >����� 9���" 6�#" )���" ��� =�� %�./1&"

1" 9"3" �	

�� 9���" 6�#" )���" ��� !�� %�./1&"

!" '" :�� �
 ��� ?:�):� ��

������	��@� 9���" )���" > ���� � %����&"

/" �" ���������� �
 ��� ?��� ��

������	��@� 9���" )���" > ���� =� %����&"

�" ��� ��
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��� �����	�
� ��
�����
� 
� ��� ��	
� ��	
�����	 ρ0(770)� f0(980)� f2(1270)�
K∗+(892) �� �������
������
� ���������
�	 ��	 ���� 	������ ���� ��� ���
��� ������
�� ��� ������
� ��	 ���
	�� �
 ��� ���� ���� �������
 ����
��������� ��  !"�#�$ ��
�
�	 �� %&'��()(� *
� ��� +�	� ���� ��� f0(980)
��	
� �	 
�	��
�� �� �������
 ���������
�	� ��� 	����+����� 
� ��	 
�	��
���
�
�	 , 	������� ��
����
�	� ��� ���	���� 
� f2(1270) �� ��� �������
 ���������
�	
�	 �������� �	�����	���� ��� �
����� ������������ 
� ���	� ����� ��	
�����	 �	
���	���� �	 � ������
� 
� 	�
���� -�������� 
�������	� ��� ������������ ���
	���	 ��� �
������ �
 ��� �������������	 
������� ��
� � 	�������
� ��	�� 
�
��� .��� �
���� ������ ������� 
� 	��� ���	��� ������ �
� K∗+(892) ��	
�
��
� ���� ���	�����

�� ������	
����

��� ����� 	
 ��
������ ���	� ��� ����	� ���	���
�� �� �������� �	 ���
���� �	�� ����
��� ��� ������� ������
��	� ��
������ ���� ��� �����
��� 	
 ������ �����
��� ����� ��	�� ��� ��	��� ���
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 ��� f0(980) ��
�
���� ���������

�� 
�� ����� ����
���

,-."/ ���� 0��� )� �� ���
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�� ����� �	���� 	
 3�4×+�4×+�4 �3# �� �
���� ������ ���� 	
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 )�3 �	�� ������� 
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	�������	�� dN/dm ���� ��� ���
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��	�BW (m) 
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dm
= [1 + a1BWρ(m) + a2BWf0(m) + a3BWf2 (m)]BG(m). �&�
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m

k

mRΓ′R
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R)2 +m2
RΓ′2R
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m
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ρ0(770) /4"4,5± 44, "�/6!±"�""7 7,5±1 /!/±7
f0(980) //5"6±/6,! "�"/5±"�""4 6,4±! 4!±/"
f2(1270) 1!/56±46!5 "�"45±"�"", /15,±6 /65±4"

.����� ������� 	
 ���� ������� ������ 
	� K∗+(892) ���	� ����
���� �������� %F'

ρ00 = 0.40 ± 0.06(stat.) ± 0.03(syst.). �4�
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	�����	��� �	 �	 ���� ��������� 
	� ���� ���	�� 0	� K∗+(892)
���	�� ��	��
�� �� νNC ������
��	�� ��� �������� ��������� ��
ρ00 = 0.66 ± 0.10(stat.) ± 0.05(syst.)�
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�� �� )��	� ; ���� 415 2/6773�

 � 8� �����
�� �� ���� ����� %
����
����
�� ����� >�	��� ��� ����� � ���� 6,
2/6653�

!� )� �	���� �� ���� ����� )��	� ; ���� 4�14 21""/3�

,� �� %��-��

� �� ����

� ;� )
�

 �� ���� &��� )��	� 8� % ��� ,6�76 21"",3�



���� �����	�


���� �����	


�� 
�
��� �� �
� ���
 �����
�������

��������� �	
 ���
��
 �����
���

����	��
 ������� 	� ��������

����� ��
����

��������

�� �������� �	 
����
�� ��
��

 ��
����� �� 
�� ���� ���������
��� �� �����
������� ������
 
���
��
����� ��	�
���
� �� 
����
���
 �
 ���� �
 ���� �����

�
 ���
��
���

�� ������	
����

����� ����	 
�� �
��� �
���� �������� �
� ��
����� 
�� ����
��� 
��

��� ��
��
�
���� �� ������ ��
�� �� 
� ���� �� ����� ��
�� ����� �� 
����� �� ������! ��
��!��� 
�� ������
��� �� ����������" #�� �����

�����$��� �� 
�� ����
 ����� %���� 

 �&'( 
��� �!����� 
�

 ���
������� !
� ����
 �� ���
��%�
��� �� ����� �
�
���� �� �����" #���	
�
�� ���
�� ��������� ������%�� �� 
�� ��
!����� �� 
�� �

��
��
)���� *�)+ 
�� ���� �
����

�� ��� ���%��� (�� ,������ !�
������

����
� ���
��%�
����	 %�
������ �

��� �
�" �, ��!!�
�� ����

���
*�,�+ �� 
��
��� ��
��
�
� ������ �� (�� ,������ ����� �) �$
�� 


���� 
�� %� �
� ����� 
�
� ������ 
� ����
�� 
�� %
���� 
��!!� 

�� �� 
�� -��$����" (�� ,������ !
� !����� !�
����� ��

���� ��
�, $���

��� 
�� �
�� ���
�� $�
 �
� ���
��%�
��� �� ���� ��
��
!�"
�����
�� �����
� �� 
�� ���% !�
����!��
� �� �, $���

��� 
� ���� 
�
�
�� ���
�� �%���$
%��� 
�� ��������� ��� 
�� ���� �


 ��
 �%

����
�� �� ���������� 

 
 ���
�� �� !
�� ������ �� . #�� 
�� ��
���

��
��!�����
� �� � �%�� *�� ��
 �
������� �����

��+"

/0



�� ���� �� ����	
���


�� 
��� ����
��� ��� ��� ���������
�

���% ��
��
�� 1�2 �� %���
 !
���� ��� 
�� �, $���

��� 
� ���� 
� �
��
���
� �
�����" 3
 �� 
 ����
�� ����
��!�
�� *��45�� !�
�+ !�
������
����
�� �������� � �
����� *��	 ��	 ��	 ��	 � %
�����+ 
� ���� 
�
!
�� �
��� �������" #�� ��� ����$��� ��!�����
� 

 
�� ���% �� 

��
�
��� ����
 3, 6 �� 
%��
 *�47+����� �!����� ��� ���
�� ���
��
�������� �� 
� 6 #��" #�� ��� ����� ���
��� !�
����� %� ���% 

 . #��
����
�
�
�� ./ �% 1�2 �� ���% 
����

���	 �!������� ��� ��� ��� �
���
�������� �$��� ������" 3� �
�� � � ��������� 
%��
 �0�� ��
���� �
� 

����� 
�� �������� �����
��� �� 
 �������
� �� !��
� ��$�� 
���������
��� ��������
��� �� 8�
�
� 
�� ��
�! �$��
� 
�� ��
���� ��
��������
�
��

��� �� ��
��
��� 
�� ��
���
 ����
������" #�� ���% ��
��
��
�
� ������!�� ��������
�� �� 
��� ��$����!��
9

� :����

��� � � � � �"

� )�!��
�! ������
��� 
%��
 �"0;"

� #�
�� ������
���
��� �<������ � ��;"

� 3!�
�
 �
�
!�
�� ������
���9 � �� �!"

� =��
� 
�!� ������
���9 � 70 ��"

� 3�$
��
�
 !
�� ������
���9 � *��4��+ )��>��"

� ,
�
���� ����
�?�

��� ��
� �<������ ��������� /�; %� '��� 
3!
���� ��������$ =�
��
��� 
�� )��� ���
�!"

#�� �


 
���!��

�� �� �
� ���������� 
� 
�� ��
���

�� ��!� 
����
��� �� 
�� ��
��9

� ����@5. �%��	

� ����@�"� �%�� 


�
� A . #��	

� ����@�"� �%�� 


�
� A 6 #��"

: ������ �<����
 
������ ���$���� �����
��� �� � �
����� ���
�
������
� ��
� ������
 ���
�

��� �� 
�� ������
�� $��
�� 
������� 
�



���� ���	�
�� ��

���� � !�� ���� ��
��
��

�
��� 8 �
���� ������

���� ��
� !���!
� ������ �� 70 ��" ��%�

� 

�
� %
�������� ����������� �� ��
��B�� ��� 
� ���� ��$
��
�
 !
�� 
������
��� *� �7 )��>��+	 ��������
 �
�
���� ����
�?�

��� 
�� !
� 
��
�� ?��� C������ �� 
�� ���� ��� 
�
�?��
� 
��!!�
���� ��!�$
�"
#�� ����!� �� 
�� ���% ��
��
�� �� ����� �� D��" �"

#�
��� 
�� $��
���� �� ��
���� �
�
����� 
�� ������
���
�� %� 
��
���
�� ���

�� *�&�E+	 
�
����� �


���� #�4#5 *������� #�
����	
�#+" #�� �&�E ���� ������� �>� !�����
��� ��
��
��� ��
� �6�� ��
� 
��
 ��
�����" F�
� 
 ������
��� �� 77 �! 
���� 
�� G �����
��� 
��
6 �! �����������
� 
� G *%�
! �����
���+ ��
�� *�� �! ��������� ��

�� �!�
�
 �
�
!�
�� ��
��!��

���+ �
 ���$���� 
�!� ������
��� ��
� 70 �� �������� ���
�� ��� 
�� �
����� �� � !���� ������

����" #��
#��������� #�
���� !���� �
��� ��
��
��� ��$�� 6 !� ��
� �77� ��
� 
��
 ��
�����" #�4#5 �


���� �
$� �� 
���� 3���� ,
�
 *3#+ �������
!���� �
��� ��
��
��� ��
� ��/� ��
���
 ��
�����	 ����� ��� E�
��
,
�
 *E#+ �
�
� 
�%� ��
!%��� !�
���� 
�
��� �����!

��� $�
 07�
��
���
 ��
�����" #�� 
�
���� �
� � �"0; !�!��
�! ������
��� ��
�
/H; �<������ ��� 
�
��� ��
� � ������ 
�
� �� I��>�" #�� �
��

���
��
� ��
� 
�� ������� !�����
��� ������� �� !�
����� %� 
�� '
��

���



�� ���� �� ����	
���


)���
����� ���
�! 152 ���

�� 

 
�� 3���� #�
���� �


��� 3# �"
D������� �� ��
���� �
�
����� !�
����� ������ ��
�� ���� ���� 
�� ��
���� 
����!��
 ��
� )��
� �
��� �$
��

���� 
�� 
�� �� 
�� �
���
�� *�4H+����� )3,>�!� ��������� ���� 
�� ������ ���

���" #��
�
����!�
�� *&�:�+ !�
����� ���
��� 
�� 	� !�����	 ����� ��� 

��>����
���>�
���� ����
�?�

��� �� ���$���� %� ��������� ��
��
��
*,�+	 ����
��!
���
�� *&�:�+ 
�� �
���� *��:�+ �
����!�
��� *�� 
$
��
�
 !
�� ������
��� � �7 )��>��+" #�� J>	 ���
�

��� �� ��� 
$���� %� ��������$ ��
��
��� *'3��� 
�� '3���+ ��������� � 0��
��%��� ,��
� =�����" )��� �


���� *)�4)0	 �������� %� �7��
!��
� ���� ������
���
� ��
!%���+ 
�� ���� ��� !��� ����
�?�

���
*� /0; �<������+"

�� ���
����
��� ��� 
������� ����	�������

�� 
���

#�� ���� ������ �� ���������� 

 
�� ��� �
���� ������
��� �

�� %�
!
�� ������ �� !
���
��� �� ��!�
����� ��
� 
�
� � �
�
�����" :��
� �
���� ������� �
$� %��� ����
�?�� %� ���%" D��" � �����
�

��

�� ���% ����
������� ������!
��� ��
� ��$
��
�
 !
�� ������
���
*��4��+ )��>�� *��������� ���� 
�� �
�
���� !�!��
�!+" #�� �� 
��
�� �


�� �� �� %
���� *

 0/��"/0 
�� 0/�/".H )��>��+ ���� �% 
���$�� ��� 
�� ?��
 
�!� �� 
�� ��	

�	� !
�� ����
��!" E$��
�� ������
�� ��
 ������ � )��>�� ����� �������
����� ��
� 
������� ��
�� ��4
5� )��>�� 172 �����

��� ���! ��� ���
��� �
�����"

���� " #$��
�� 

�
�
 �	 ��%������ �� 
�� ���
��� ��

%
���
���



���� ���	�
�� ��

���� & !�� #����
��� �	 
�� ����� ��
�
 	�� ��%��
�� '
(����
) ��� ��%������
'������
)� *�

�� +�
�� �	 
�� ��
�
 �
 � 	���
��� �	 
���

����
�!� !�
����!��
� ��� $
����� � �
���� ������� �
$� %���
������!�� 

 ���%" :� ��
!��� �� ���� !�
����!��
� �� �����
�� D��" 5 ����� 
�� ����
�!� �� 
�� � !���� �� ��!�
��� ��
� 
��
����
�!� �� �� %
����" #���� �
����� �
$� %��� �
����� ��
 �� $���
�� �������
����� �� 
�� �� %
���� ����
�!� $
���� !�
����� �� ��!�
������!��
� ��
� 
�����
��
� �
����

��� %
��� �� 
�� ��
$� ��
�� �� 
�
�����" #�� �

�� �� 
�� �� %
���� ����
�!� 
� 
�

 �� 
�� �� !����
!�
����� %� ���% ����� �"� �%�� �� ��
���

�� ��!�����
� �� . #��
���
�� �� !
�� ������ �� ���������� �� ���	������������� �����

���
���� 
����!��
 ��
� 
%�$� !��
����� 
�����" -���� 
�� ����� ��

!���� ����
�!�	 
�� �� ����
�!� �� ����� 
� %� ��
�������������� ��"
3� %�
� �
��� 
�� ?��
 �����

��
� �� �


��
��
� 
�� 
�� ������ ��� 

�!

�� 102"

�� ��������  �
�!!������

���% !�
����� C
$�� �$���
��� *!����� �� ������

����+��
� 
� 
��� 
�
�� �� 70 �� ��� 
� �����
��� $��
�� ������
���
��� ��
� 
� 
����
��



��� ���� �� ����	
���


���� , !��� �����
��� �	 
�� ��$��� �
����
�� 	�� ��� % ���� �����


�� 
%��
 5� �! ���! 
�� �&�E" ���� ��

���� �� !����� 
� !
��
��K������ �� *���

�� 
� 
�� ��������� �� !�����+	 ���
� ��K������

�� 
�� �
 ��
�� %�
���� 
�� ���
� 
�� !����� 
!���
���� �� ��?��

�� �%���$
%�� �$���
��� �� 
�� ������������� �

��" �� �� �����
�$� 
�
������� %����� 
�� �

��
�� )���� 
�

 
K��
� 
�� ����� �� !�����

��>�� ���
�"

: ���
�
� !���� !����� ��
� �
� ��� 
�
��
�
���� �� ���� ������%��
�� 
�� �) ����� ������
� ������

��� ����������� ��� ��K����
 �
�����
�
����� �$�� ��� ������ �� !
���
���" ���% �
� ������!�� 
��
�����L� !��
 ������� !�
����!��
� �� 
�� ��

� 
�� ��
� ������

��� ��� 

��������" D��" 7 ����� 
�� !�
����� ��
�  
���
� ������

����" ���
��� ����


�� ���
��%�
���� �� ��
$� 
�� ����
 ��
� 
�� ���

� ������


�� �����
!����

� 
� �������
�
� ���
� �


���"

#�� ��������� �� ������

���� ��
�
�
�� ���! ��!%���� �
�����
�� ��

� � 
�	� 
�� ��
� � ������� ���
�� �� ��� � ������ �

��������������������� ���� 1H2	 ����� 
�� ������������� $
��� ��� 
��
�� ���
� �� ��� � �	�	��� ��������� � ��������� ���� 1.2" #�� �

 

��
��
� ��������� �� 
���� �


 *�"� �%��+ ���� %� �!���$�� ���� 
��
����� ��
 �� �


 *5"� �%��+ �� 
�
��B��"

"� �� �������� #��!�����

�	
	 �� 
�������� ���� ���� ���������

�������� �� �������� �����

�, ��!!�
�� $���

��� �� 
�� �� ���
�� �� 
��

�� ��
� 
�� ��
!� 
���� �� 
�� �) 
� 
 �����
 �� ��
��������� %�
���� 
!���
���� �� 
��



���� ���	�
�� ���

���� - �� �����
��� ���
� �� ��� ��.������
 �� ����� ���
�
 �	 
�� ��� ��


�����

�
�
 �� ��
����
 ��� ���%��
����
 �����
 ���
���� �� ��.����
 �$���%
����

� !�� 
���� ���� / �������
��� �	 ��� ���
������

� !���0 ���� / 12
������
���

���
�
� !���� !����� 
�� �����
 ���
� ��
� 
�� ?�
� �


�" #��
��

� ���
� �� �����
�$� 
��� 
� !����� ������� �, $���

��� �����

�� �, $���

��� ��
�� 
���������� 
� 
�� �) �� $��� �!
�� *�� �
�������� �����	 �
�+" (�� ������� ���
��%�
��� $�
 %�� ��
��
!�
����� !����� 
��� ��
��" #�!� ��������
 ���
� �
����� ��� !�
��� 
��� �, $���

��� �
�
!�
��� �� �� !����� �
$� %��� ������!�� ���
��

� � ������� 
�� ��
� � ���	�	�" #�� ��!%���� �����
� 
��

��!�

�%�� ��
� �)9 �� � ���� � ���	���� � �������� �
� 162" #��
!�
����!��
 �����
� �� 
�� �� %� ���% ����� �� D��" 0 
���� ��
�
!�
����!��
� %� 
�� �=D 
�� =� ����
%��

���� 
� ���� 
� :#�:�
��!���
�

� 
����!��
 ��
� 
�� �) ������
��� �������� 
�� ������
��� ��� ������� ���
��%�
���� 

 
�� ������
 ��$�� �� 
�� ������!��

�

�� 
�����
��
� ���������"

�	�	 �� 
�������� ��� ��� ����� �

#�� -��

��
� #��
���� *-#+ �� ��� �� 
�� �������� 
���� �� 
�� �)

��

��� �, $���

��� �� ��
� ��
��
�
���� �� 
�� ��
!����� �� 
��
�
%�%%� J�%
�
��� )
��
�
 *�J)+ !����� !

���" #�� 
���� �
�
� 
�� ��
�
 ������!��

��� �
����� 
���� �� 
�� -#" ���� �� ������

��!� �� 
�� �����
� �%

���� �����
�� ��� 
�� �J) 
���� � �� 
��
���% ������!��
" #�� !�
����!��
� �� � �
$� %��� ������!��



��� ���� �� ����	
���


���� 3 4! � ����� 	��� 
�� �� � ��� �����

��������� � �%�� �


��
 ���! �� � 
�� ���
��" D��" H �����
��
!��� 1/2 �� 
�� � ��
�
�
��� ���! 
�� 
��� ��$�� ��������� �� �

��9 � � �	��������

������
Æ 

 H6; ���?����� ��$�� *��+" #�� 
����
��

�� � ��
��!��

��� ���� %� �!���$�� ���� 
�� ���� 
$
��
%�� �


��
 ��
5 �%�� �� 
�
��B�� ���$����� 
 %
�� ��� ��!�
����� �� 
�� �����
� ���!

��� ��$�� 
�� ���� ��$�� ��������� ����� !
� �����
 �� �����

��� ��
(�� ,������ ���
��%�
���"

$� %��� ��
���

&�����!��

� �
����� �� �
�� ���
�� 
�

 ������� �� 
�� �) %� ���� 

����
� %�� �� ������� ��
��
!� 
�� 
�� !���

�� %� D�
$��� ��
�� 
��� (��
�
� ������
 *D�(�+ 
�� !�
�$

�� %� 
� �����


��� 
�



��� ����� ��$�
� ������� %����� 
�� �

��
�� )���� �� !���?��
%�
������ �

��� 
��>�� 
����
� ���
��%�
���� �� ���
� ������
�" #��
�) ������
��� ��� %�
������ �

�� �� ��

� � ���� ���
� *������
� 
��
D�(� ���������� ������� ��
� ���� ���
���� ?�
� �


�+ �� ���� �� 
?��� ��
� $��� ��� $
��� �� ����� � ����� � ���	" 3
 �� �$�� �����
��� 
�� �� � ���� ���
�9 ����	 � ����� � ����� 1��2" #�� ���%
��

� � ���� �����
� 1��2 ��� 
�� ����� �


 ��
 
���!��

�� �� ����

�� ���� ��
�� *5 �%��+ 
�� ����� �� D��" . 
���
��� ��
� �
��� �� 
����!��

� �����
� 
�� �) ������
���"

#�� ���% 
�� �)� ��!%���� 
$��
�� �����
� 
�� 8'���
� �

����� � ���� � ��	� � ���		 8'��� � ����� � ���� � ������� �



���� ���	�
�� ���

���� 5 *�������� ��
�� �	 ��� � ���� ����� ���
���� �� ��.����
 �$�������

�
12 ������
��� �
 
���� �� ���
���� ����

��
������ �����	 ����� 
�� ���� ������
��
 ��
� 
�� �) �����


����"
(�� ,������ !���
 
���
� �� 
�� ���
 ����
 �� 
�� 
����� 
�� �




����
����"

&� �	����� ���  	�!��'

#�� ���% ������!��
 �
� ������������ ��!���
�� 
�� ?��
 ��
�� ��
�
����� 

 
�� ��� �� 
�� ��� ������ ������ �� ���������� �� 
� 6 #��
�
$��� 
���!��

�� �


 ��
� 5 �%�� ��
���

�� ��!�����
�" ,������
��
�� 
�!�� 

 ��
$� C
$�� �
����� *�, $���

��� 
�� �
�� ���
�� +
�
$� %��� 
�������" )��
 �� �����
� �%

���� �� �
� *� �>5 �� �




�
��B��	 �$�� �0� ��%���

����+ 
�� ������
��
 ��
� 
�� �

��
��
)���� ������
����" )
�� �) �
�
!�
��� ���� !�
����� ��
� 
��
������
 ��������� �� 
�� ���
�� �� �, $���

��� 
� ���� 
� �
�� ���
��"
��!� �%���$

���� 
�� !
�� ��� 
�� ?��
 
�!� *�"�" ��

� � ����

���
�	 �, $���

��� �� ��
� 	 �
�"+"

���% ���� ���
���� �


 

���� �� ���04���. ��
����� 
�� �� 
��
�� ��� ������� �� ���/ 

 ��!�����
� �� 
� � � ���� �!�����"
:�
�� 
�� ����
��	 ���% ���� ������
 0� �%�� �� ��
���

�� ��!���� 
�
� ����� ���� 
���� ��������� !�
����!��
� �� �, $���

��� ��
���	
�J) 
�����	 %�
������ �

��� �� 
�� �
�� ���
�� 
� ���� 
� �
���
��

���� �� ������� 
��� %����� 
�� �)"



��	 ���� �� ����	
���


���������������

F� ������� ��� ��

�
��� 
� ��� �����
���� �� 
�� �&'( 
������

��
���
�
!��
� ��� 
�� ��������
 ������!
��� �� 
�� ���" F� 
�
��

�� 
������
� 
�� 
�!����
�

�$� �

K 

 
�� �� �% ���
�
�
��" F�

���������� ������
 ���! �&'( 
�� ���! 
�� �

���
� 
�������"

�� ���� ���������
���� +� ���6 �� ���� 7������ �	 8�

�����
�
��� �� 19:;;-
'";;:)�

"� ���� ���������
���� +� ���6 �� ���� ���
� ��

� * ���� ";< '";�;)�

&� =� ����
�� �� ���� +����
��� 2���
����� 1�

�� 	�� 
�� ���� 8���� !���0��
���	 
��� ���������

,� ���� ���������
���� +� ���6 �� ���� ���
� +�� ��

� 	��� �5";;& '";�")�

-� ���� ���������
���� +� ���6 �� ���� ���
� +��� ��

� 			� �;";;& '";�&)�

3� ���� ���������
���� +� ���6 �� ���� ���
� ��

� * �	�� &�: '";�&)�

5� ���� ���������
���� +� ���6 �� ���� >�� 7� ���
� 	
� ;-&;"� '";�&)�

:� ���� ���������
���� +� ���6 �� ���� ���
� +��� ? ��� ��";�; '";�&)�

<� ���� ���������
���� +� ���6 �� ���� ���
� ��

� * ���� �-� '";�&)�

�;� ��7� *���
� 7� @�������� ?� @��������� ��� @� 8
������ #��� ���
� 7� � ���
"�5" '";�")�

��� ���� ���������
���� +� ���6 �� ���� ���
� +��� ��

� 			� �;�:;- '";�&)�



������ �������

	�
� ��� 
����� �����


�������
��

�� �����1

�	
 ��
 ��



 ���

 �	����	
���	�2

1��������� �	 
����
�� �� ��� 
����� ���
� �������

2������������ 
����� ������ ���������� ���������

���� ������ �����

������������	
���
�
����������	��
���������������

��������

��� ������ ��	�� 
����
����� �� ����� �� �������� � ����� �� ��������� �� ���
���� ������ ���� ��� 
��� ��	�����	 ��� 
����
����� ��� ����������� �� � ����
�������� ����� �� ����������� ��� ������� ���������� ��� ������������ ���
������������ �� �� �������
� ������ �� ����������� ���������	 ��� ��������
������������ �� � ������ ��� 
����
����� ���
���� � ������ �� ��	� ������� ����
����� ����	 ����������	 ����������� �� ������ ���������� �� ����	��� ������
��� ����� �� ����������� �������������

�� ������	
����

��� ���� �� 	�� 
����� �
��� 
�	�� ���� ������ ������ ��� �������
�������	���� ����� �� �
�� ��	��	��� 	������
��  �� �������	�� �� 	��
!"#� $%&' ��� �
����� ��	��	�� �()� $*& �� ����� �� ������+�� 	��+�
 �	�  �	�� ����� %'* � ����  ���� ,������� � 
������ �-,��
�� ����
��� ����� .���	� ������' ���� �	�	���  ��+� �
	�����
���' ��� /
�0
�������� ��	��	�� �1)� $2& �� ������	�� ��	� *3 	������,�� 4 (�����	
�������� �������+��� 	��  ���� () ���� �� 2�### +�2' ��� ,��	�0
	�,�� �� ��	� () ��� 1)  ��� �
������
��� 	��	�� �� *##%4*##* ���
����� *##3 	�� ��	��	�� ��� ���� �� �	������ �,���	��� 	��
�� 	��

%#5



��� ���� �� ����	
���


�
�� ��	��	��� ���� ��� ��� /
��������� ��	��	���  ��� ���,��	�� ��
*##6' (���� 	��� 	�� ����� ������ ��� ���� �
,,�����	�� �� ��
�,0
,��� �� ���� �� *5 +�2  �	� �	�	���� �,���� �	 75# � $3&� ���� 	��
�,����� �� 	�� ���� ������ �������+�� �� 	���� ����	����� /
���������
��	��	���  �	� 	�	�� 8��� �� ��� 180◦ �� �.��
	� ��� 30◦460◦ �� 	��
�����	��� ����� $5&' ���� ���� �� ���� ����� ��������  �	� �
�� ��	��0
	��� $9&' ���� ���� � � ����	� ������,  �	� ��	� �� 	�� �-,������	�
�����	��� 	� �� �� ������ ��' ��� �	���� ��� �������� �,���	��� �� 	��

����� �
��� :������	��� ��
���� ���� � 	� 	��	 �	��� ��	��	��� 	���0
���
�� ��� �����,	� ��+� ����� ��� ����� ��� ��	��	��� �� �����
��� ��� $7&' ��� :������	��� ,������� ���� � ������	� ��� �,���8� �	0
���,����� ,�������� �	
����� ����������	�� �	
���� �	�' $6&'

�� 
���������� ��� ����������

��� �����,	 �� �
�� ��	��	��� ������	� 	�� �����	 ,�������	 
,0
	��� ���  ��� ��8��� ��	��	��� ���� �� 	�� �
����� ��	��	��  �	� 	��
��������	��� ����
�����	� �� 	�� ��� �� ������ ,������� �� 	�� /
0
��������� ��	��	��' �� ��-���.� 	�� ������� �� 	�� 	 � ��	��	���
� 	����
�� �������	��� �� �����,�������' ��� �
����� ��	��	�� �� ����0
���	�� ��0���� �� 	�� /
- �� �	���,����� �
��� ��� 	��  ���� ���	��
�� ����	���� 	� ���
�� ��-��
� ,��,����  ��+��� �	�	���� $"&'

��� 1) ����
�����	� ��	��� ��	� ��	��	�� �������	��� ��� �	��0
�,���� ����	�����' �
��� 
��� ������� ������� 	� �������	� ,��	� ��
	�� ��	��	��� ���� ����
��� ����	 ��� �� ������ ,������ ���0	�0���
�������	���� �� 	��  ���� �,	���� ���	�� $%#&' ��� �	�	� �� 	�� �	0
���,���� �� ����	���� �� ��	��� ����� ������� ��� ����� ���	� $%%&�
��� �� ,������ ���� ����
� ����	����� $%*&� �	�� ����	����� $%2& ���
��	����	� ,��	
��� $%3&�' �
��� ��� ���� �
��	 � ����� �	���,���� �����
����� �� ������� ����� �� �	���,����� ��
�����' ��� ���	��  ��+�
���
����� ���� ����
��� ����	 ��� �	 �� �������� 	� ������ 	�� �	�	�
�� 	�� �	���,���� ��	�� ���� ����� ��� �� �� 	�� ���,��	��� �����0
	��� $%5&'

�� ����
��� ���	���

��� ����� ��������� ���	�� ����� 	�� 
���
� �,,��	
��	� 	� ��	���
�
����	�� 	�� ���	 ��	����� �������	��� �� 	�� ������ ��	����	����
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 	����
� �	�� 
�� �
�		� ����	 ����	��
�	� ���

��	�  ! "# ��	���� 
����� �# �������� ����	�

�	 ������	 ,������� ��������' ��� ��������	��� 1) ����
�����	� ���
	�� +�� 	� ��	 	�� ������ ����� 	� ��� () ����
�����	�� 	�
� �����	
�������	��� ��� �����8���	 ���� �� ;��	� ����� �;�� ���
��	���� ��
	�� ����	 ,��8�� �� 	�� ��� �� �� � ���
�	 �
��	�	� $%9&' :��� 	��
������� ������ �� �
����	�� ��	���	�� �� ;�' �� ����� 	�� �����	
�	
���� ��� 	��	 ���� 	��� ��� �� ��	���	�� ���� 	�� �
�� ���	��	
�� 	�� ��� �� $%7&'

��� �-,��
�� �� �
��� �� ���������� �� 5�### +�2 �� ����� ����
��� 	�� ��	����	�� �-,��
�� �� �
����	�� 2*�### +�2 �� ��' �����
��� 6%�596 ����	�  �	� .���	� ���� 60◦ �����	����  �	� �
�� �-,�0
�
�� �E > 3 ��<� �� 	�� %'5 +� �,���� ()� %%�"3# �������� ��� ���
�.���	� = 60◦�� *5�979 ����	� ��	��	�� ����� #'2 ��< �� 	�� #'75
+� �,���� ()� ��� %%�%7* ������ ��� ��� ����
��� ��	� �� ()
��� 1) ����� % ��<' ��� ������ �������	��� �� 	�� () ������ ��
	�� 	���� ����� ���	����� ����	 ������� �� 	�� 1) ������ ����
��0
���	 �� ��� � �� 1��' % $%6&' ��� �������� +�� ����� �� ������ ��0
�� � ���� ��	����� �	
���� �� �������� ��	����	����' �
��� ����
���
σinel(��) = 92±7(stat)+9

−11(syst)±7(Glauber)�� �	 ��� ������ ��
��0
����	 	� 57 ± 0.3(stat) ± 6(syst) ��< $%"&' ��� ���
�	 �� ������� ����
� ����
�����	 �� 	�� 	��� �� 	�� ���	���
	��� �� ��-��� �� ��� ��
��,	�� Xmax' �	 ������ �������� 	�� 
����	���	��� �
� 	� � ,�������
��-�� ���� ���,���	��� ������ ������' �������� ���,���	��� �� ��0
	������� ���� 	�� ����
�����	 �� 	�� ������� �� ��-��
� ��� ��
��,	�� �〈Xmax〉� ��� 	�� ���,������ �� 	��� �
��	�	� �σ(Xmax)� $*#�*%&
�1��' * ���	 ��� ����	 ���,��	����� $**&�'
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��	� $! %��� 
����� �� ������ ������ &����' ��� ���������� �� ��� ������ ����(
�� &��	��'

��	� )! %��� 
����� �� ���� ���������� ������

�� ��,��	��	 ���	
�� �� 	�� ������ ��� ��� ��� �� 	���� �
��
���	��	 $*24*5&' >	 ���� ������	������ 	�� 	�,� �� 	�� ,������' �
������	�� �������� ���� � 	� ������	�
�	 	�� ,���
�	��� ��,	� �� 	��
�
��� �� 	�� ����� ��� ��� $*9&' ��� ������� ��-��� �� 	�� ���0
	���
	���� ��� ��� � �� 1��' 2' ����� ����
�����	�� �����  �	� 	����
�� 1��' *� ��� �� 
��� 	� ������ 	�� ������	� �� �������� ��	����	���
������ �	 
�	��0���� ��������' ���� �� ��,��	��	 �� 	�� �����	
�� ��
	�� ����� ���	��� ��,���� ��	� �� 	�� ������ ��� 	�� 	�,� �� 	�� ,��0
���� ��� 	�� ������ ��� �����,������� ��� 	�� �������� ���,���	���
��������'

�� 
��
�	�����

��� ���� �
���	� ��	� ,������� �� �
��� ���� �� ����	 �� ��������
��	����	���� �	 ������	 ,������� ��������' (� ���  � ��� ��	 ���� 	�
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	 ���� �� 	�� ���0
�
�����	� ,������ ��,��	��	 �������	��� �� �������� ��	����	����'

��� �
	��� �� ���	��
� 	� ��� ��� ���������	���  �� ���	���
	�� 	�
	��� 	��+' ���� ���	���
	���  �� �
,,��	�� �� ;(;� ��� ,��?��	
@A%2##7'

 � *� ������� �� ��� &��� ������ ��	�� +������������', -���� .���� %���� �
���, �/ &$//0'�

$� *� ������� �� ��� &��� ������ ��	�� +������������', -���� .���� %���� �
���, $1()1 &$/ /'�

)� *� ������� �� ��� &��� ������ ��	�� +������������', -���� .���� %���� �
���, $$2($� &$/ /'�

0� �� "�����3 ��� ��� ������ ��	�� +������������, )$�� .+4+ ���������	�,
��5�
!  /2�06/�

�� �� 7�(*� %����� ��� ��� ������ ��	�� +������������, )$�� .+4+ ���������	�,
��5�
!  /2�06/�

8� �� "����3 ��� ��� ������ ��	�� +������������, ))�� .������������ +����� 4��
+��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� 6/�

2� �� ����� �� ��� &��� ������ ��	�� +������������', *.-"�, �, �  /$) &$/ $'�

6� <� =����>� ��� ��� ������ ��	�� +������������, :��� ����� *� ����, ���, 16
&$/ $'�

1� 5� ?����� ��� ��� ������ ��	�� +������������, ���������	� �� ��� $6�� .+4+,
�� 6 )�

 /� %� #� 4������ ��� ��� ������ ��	�� +������������, ���������	� �� ��� $6��
.+4+, �� 0�)�

  � <� @����� ��� ��� ������ ��	�� +������������, ))�� .������������ +����� 4��
+��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	�  //�

 $� *� +������� ��� ��� ������ ��	�� +������������, ))�� .������������ +�����
4�� +��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	�  /6�

 )� �� ���
����> �� ��� ��� ��� ������ ��	�� +������������, ���������	� �� ���
)/�� .+4+, ��� )02()�/�

 0� �� ����� �� ��� &��� ������ ��	�� +������������', ������������� �������, ��
����� $/ )�

 �� �� ����� �� ��� &��� ������ ��	�� +������������', *.-"� �, �/1// &$/ $'�

 8� *� ������� �� ��� &��� ������ ��	�� +������������', ����� 4�
� <���� ���,
/8  / &$//6'�

 2� %� *� ������ ��� ��� ������ ��	�� +������������, ))�� .������������ +�����
4�� +��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	�   �

 6� �� "����3 ��� ��� ������ ��	�� +������������, ))�� .������������ +����� 4��
+��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� $2�
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� <���� ���,
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$/� �� ����� �� ��� &��� ������ ��	�� +������������', ����� 4�
� <���� ��	,
/1  / &$/ /'�

$ � @� �� "��3� ��� ��� ������ ��	�� +������������, ))�� .������������ +�����
4�� +��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� )��

$$� �� <��������("��
�� ��� ��� ������ ��	�� +������������, ))�� .������������
+����� 4�� +��������� &.+4+ $/ )', ��5�
! ) /�08$/ 9�����(���7:;�

$)� .� @���A�� ��� ��� ������ ��	�� +������������, ))�� .������������ +����� 4��
+��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� 00�

$0� ?� B�	� ��� ��� ������ ��	�� +������������, ))�� .������������ +����� 4��
+��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� 06�

$�� C�4� ������ ��� ��� ������ ��	�� +������������, ))�� .������������ +�����
4�� +��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� �$�

$8� #� C�����(C���3 ��� ��� ������ ��	�� +������������, ))�� .������������ +��(
��� 4�� +��������� &.+4+ $/ )', ��5�
! )/2��/�1 9�����(���7:;, ��	� 0/�
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SCI model

!�� "# ����# $�% ���&�� ���� �������
 �����������
 '�� ��	���
� ���
�� ����
�����
� �� ��	���
� ����(�����
� �� ��� ������
 ����
 ��
���� �)������� ����
�%*+ ���� ,��� ��)�- *����# $�% γ+ &�� �� ���&�� ��	���
���� ����� ������
 ������
��� ��� �������
�� �� ��� ."/� �����
 ��������� �� � ��
����
 �� ��� ��	�����
�
����

�	 ��� ��
	� ��� �
��� �	������ 	� ��� �	���	�
 ��� ��� '�� ��� '��
������ ��������� �	 -./� 0,1 ���
�����	� �(����$ "�� �������� ����
����
��� �� ��� .�2� 031 �������	� ���� ��� 
��� �	� ���� ����%���$

#�� ��'�� ��	�
���	� �� �� ������ �� ��� ��� �� ��������� �	 ���
��
	� ������% �� ��� �	���	�$ �� 	���� �	 �
�����% ��� ����������% �	
��� �	���	� ���
��
�� �� ����� 	� ��
	� ������% �� ��� ���
 �� ���4
���% �� .��$ ,
 ����
 ��� ��'�� ��	�� �����	� �� � �
����	� 	� ��� ��'��
���� ������	� 051
 ���
���� ��� ��	�	�� �	 �� ������ �� ��� ".� 061
��	�	� ������	�� �� 3,7 �$ #�� ������� ����� ���� ������%� ��� ��	��
�����	� ���
� �	� ��� ��
	� ������% �� ��� �	���	�����
��� �� � !"
����
���� �� ������	��� �
������ ��	�������% 	� 7$75$ #�� %���	� ����
��	�� ��� �(��� 	� ��� 378 
���������% 	� ��� ��
	� ������% ���4
��� ���	 ���	
�� ��� �	���������	� 
������������$ #�� ������ �
����
������% ��� ����������% �	 ��� ��
	� ������% �������
��	� �� ���� β �%
�
�����%��� ��� ��
	� ������% �� ��� �	���	� ��	� � !" �% (1−β)ν

����� ν ������ ������� 9, ��� ,$ :��� ν �� ��
�� �	 9, *����$ ,+
 ���
��
	� ������% �� �������� *����
 ���������+ �� ���� β$ .�	� .��$ ,

�� �	���� ���� ��� ��'�� ���� ��	�� �����	� �� ������ ��������� �	 ���
��
	� ������% �� ��� �	���	� ��� ��� �����
 ��� �� ��� ��������%
����� �� ��� �	���	� �	��� ��	� � !" ��� ��� ���
��
�� �� �����
	� ��
	�� �� �	�������� ������� � !" ��� ��� ���$ #��� ���� ��
�� ���	����� ���� 	� ��� �	���	� 
����������%$ #��� ����
������
��� �� ����	���� �	� � �
���	���% �� �	� �� ,7 ��−1 ����� ��� ��	��
�����	� �� ���% ����� *�%������%
 	�� ��% �� �	� �
���	���% ����	
� ����

� �� ��� ���+$
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�� ������ ����� γ + jet 
�
���

.��$ ,
 �����
 ������%� � �	������ 	��������� �� ��� ��� ���� ��� ��	��
��� �
��� �	����� �� ��� �	���	�
 �����% ��� γ+'�� �	 ��� ��'�� ��	��
�����	� ����	 051 �� � �
����	� 	� ��(������� ���� *

√
ξ1ξ2S+ �	� ��(��4

��� ���
����	�� 	� ��� �
��� �	����� 	� ��� �	���	�
 d/u ���%���
������� 7$3; ��� 6 �� ����� 	� 7$3;$ :� �	���� ���� ��� ��	�� �����	�
����	 ������ �% � ����	� 3$; �	� ��(����� ���
�� 	� u/d$ #�� ���
��(������� ��� �� � !" ���
��� ���� u = d = s = ū = d̄ = s̄
 �����
���� ���� �	� ��������� �	 ��� ��(������ ������� ��� ��(����� �
���
�	��	���� �� ��� �	���	�$ #�� ��� ���� ���� ���	� 
� �	 ���������
�	� �������� ����� ���
� 	� d/u �� ���	
��� �% ����$ ��� 
� ���
��
���� d/u = 0.25 �� ���	
���$ �� ���� �� ��� ����
 �� ���� �� ������ �	
�	 ���� �	 ��� � !" ��� ��(������� ��� ��� ����� �� ��� �� ���
���
�� � !" ��� �� �	����� �	 ���� ���	 ���	
�� ���� ���
����	�$ ��
��� ��� �	 � !" ���� ���� �	 � ����� χ2
 �� �	
�� �������� ���� ���
�	���	� �� �	� ��� ���� 	�'��� �� � !" ��� ��� ���$ &� ��� 	����
����
 �� ��� � !" ��� �	�� 
���� ���� ��� ���
����	�
 ��� �
���
�	����� �� ��� �	���	� ���� �� �
����� �	���������$ #�� ���������
	� ����
���� ��� ��	�� �����	� ����	 �� � �
����	� 	� ��(������� ����
�� ���� �	�� 	� ��� �%�������� 
������������ ���� ������$

<	�� �	�	� ���������	� �	���� *<��+ ��� ����������� �	���� �	 �)4
����� ��(�����	� �� ����	��� �	������� 0;1$ �� .��$ ,
 �����
 �� �	����
���� ��� �������
��	� 	� ��� γ+'�� �	 ��'�� ����	 �� � �
����	� 	� ���
�	��� ��(������� ���� �������
��	�� ��% ���	� �	 �������
��� �������
��� ������=�� ��� �%����=<�� �	���� ����
�� ��� ������ �����
�	 � >����� ���������� 	� ��� �	��� ��(������� ����
 ������ �
�����
������� ���	 �	�� ���$

�	�	  
� ��� �
� ���������� �� �����
 ���
���
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�

�� ���� ��	����
 �	�� ��	�	�� ��� ������ ����� ��� ���������	� ��� ��4
������ �� ".� �� 3,7 �
 ��	 '��� ��� ����
��� �� ��� "#�"<=�2<
������� ������	� ��� � ��� ���	�� 	� ��% �����% �� ������� �������
��� ��	 '��� 0?1$ #��� ���� 	� ����� �� ���	����� ����� �� �� ���������
�	 ��� ���
�����	� �%������ ����� �% ��� -./� 0,
 @1 ��	�
��	�



��� ���� �� ����	
���


��
���	�$ #��� ��	���� ��� ����� ���� ����
��� �	 ���� ��� ���� ��
	�� 	� ��� ���� ����	�� �	 ��	�� ����� ���
�����	� �(����
 ����4
������ ��	� ��� ���� ���� 	�� ��� ����	�� ��� ����
������ �	� '���
��������� �% � ����� ����� *����� �� �	 �������� ����� A�	��
��B ���
�����+$ "� �� �)�����
 ��� ��	�� �����	� ����	 �	� ������ ���� ���� �	
������ ���� 	� ����	
� ���� �� � �
����	� 	� ��� ������� '�� pT �� 	�
��� 	���� 	� 378 ����� �� �
�� ������ ���� ��� �)�������	�� �	� �	�4
��(������� ������$ #��� �� �
� �	 ��� ���� ���� ��� �
������ ��	�������%
	� 7$75 �� ��� ��� �	�� �	� ���� �	 �� ������� �	� ��(������� ������$
#�� ���	�������� ������ 	� ���� ����
������ �� 	���	
��% ���� �� ��4
����� 	� ��� ���� 
���	�� ���������% 	� ��� �
������ ��	�������%
	� ��� ��(������ ��	������ *�� '��� ��� '�� ��� '�� ������ �	� ��4
������+$

�� ������	
� WW ��� ZZ �������	��

�� ��� <������� 2	��� *<2+ 	� �������� ��%����
 ��� �	
������ 	�
�����	�� ��� ��
�� �	�	�� ��� �	��������� �% ��� ��
�� �%��������
	� ��� ����������$ #�� ����
������ 	� W ��� Z �	�	� ���� ��	4
�
���	�� ��� ��� �)������ 	� ��	 ��	�	�� ���	�� �	 ��	���� �������%
��������� ����� 	� 	�� 	� ��� �	�� ���	����� ��� ����� 
������		�
��������� �� �������� ��%����
 �����% ��� ������	���� �%�����%
�������� 0C1$

:� 
�� ��� ����������D���	� 	� ��� �
����� �	
������ ������ �� 0E1$
#�� �
�� �	 ������ �
����� ��	���	
� ��
�� �	
�����WW ������ ���
��� �	��	����
 �����% 0.0015 < ξ < 0.15 �	� ��� ������ ��	�	�� �	�4
����	����� �	 ��� ".� �	����� ��	�	� ������	�� �� 3,7 ��� 637 �

�ET > 37 F�G
 Δφ < 3.13 ������� ��� ��	 ����	��$ �� ������	�
 �
�
� 	� ��� pT 	� ��� ������� ����	� pT > 160 F�G ��� 	� ��� ��(���4
���� ���� W > 800 F�G ��� ���
����� ����� ��	���	
� �	
�����
������ ������ �� ���� ����$ "���� ����� ���
��������
 �� �)����
��	
� 7$@ ������	
�� ������ �	� �� �)������ ������ 	� ,@ ������ ��
��� ��	���	
� �	
����� �� ��	
� �	
� 	����� 	� ������
�� �	��� ����
��� ������� � � ����� 0,71 *|aW0 /Λ2| = 5.4 ,7−6+ �	� � �
���	���% 	�
57 ��−1
 ��� ��	
� ��	 	����� 	� ������
�� ������ ���� ��� �������
�2< ������ 0,,1$

#�� ������ �	� �
����� ��	���	
� �	
������ ������� γ ��� W
�	�	�� ��� ����	���� ����� ����� � �
�� ���
����	� 	� ��� "#�"<



�
��	��

�� ��� ���
�� �������� �	������� ���

������	� ����
���� ���� 
� 061 ���
���� ��� ��	�	�� �	 �� ������ ��
".� �� 3,7 � 	��%$ ���������� �
���	������ 	� 67 ��� 577 ��−1 ����

�����������%
 35 	� 6? ������� ����4
� ������ ��� ���� ��	����� ����
���� �	��������$ �� 	���� �	 ���
�� ��� ������	
��
 ���� W �� ��4
�
��� �	 ����% ����	������% *�	�� ���� ��� ����4����	��� ���� �� 
�4
��� ��
�%+$ #�� �
�� ���� 	� ������	
�� ��	������ 
��� �	� ��� "#�"<
����
������ 	� <������� 2	��� WW ��	��4�����	� ��� ���
�����

�����% tt̄
 WW 
 WZ
 ZZ
 W+'���
 �����4H�� ��� ������ �	� ������$
�� ������	�
 ��� ������	��� ��(������� ������	
��� ���� ���	 ���
4
�����
 <���� 	��% ����	��� ����%� 	� ��� : �	�	�� ��� �	��������
 ��
���
��� �� ������	� ���� ���� 5 ������ ���	������ �	 ��� ������% �����)

����� ���	�� 
� �	 ��'��� � ����� ������	� 	� ��� �	�4��(������� ����4
��	
��� *�$�$ tt̄
 ���	�	� ��	�
���	��
 W+'��
 ���$+ ����� ���% ��	�
�
�� ������ ����� �
������������$ !�������� �����4H�� ��� � �
������	
��� ��� �
�������� �% ���
����� ��� ��(������ �� �D��
����
����� ������� ��� ��	 ����	�� Δφ < 5$,$ "���� ����� ���
��������

� ������� ����������% ���� ������� �	 ���� ���
����	� ����	
� ���� 
�
��� 	�������$

&� ������� �������� ���� �� ���	 ��� ������ �	� ��	���	
� �
�����
γγγγ ��	���	
� �	
������ ����� �� �	� ����� ����������� �� ���
.�2� �������	� 0,31$ ��� 
� �	���� ���� ����� �� �	 ������� �)������
����� 	� �
�� �	
����� ��� ��� ����������% 
���� ��� �	����� ��	�	�
������	�� �� �)������ �	 �� ������� �� ��� 	�� �	� γγWW 	� γγZZ

� � � � � �� ���	
 �� ���
����� 	�������� �������� �� γ ����	��
���	����� ����� ������� �
� ������� �� ��� 	�
����� �� �
� �������
���� ��
���� �
� 5σ ���	����� ��� � ! "��� ��
��� ��� ����� ��� �
��
������� �� #$ ��� %$$ ��−1

������
�� 0�+� ������ 1�
����
��� 2 L = 30 ,.//- ��−1

34�5−26 7σ 879 ��

aW
0 /Λ2 3:/ /./� / /./6 7 ; "/−6 . < "/−6

,. = "/−6- ," ; "/−6-

aW
C /Λ2 3:/ /7.� / />=6 . / "/−5 8 ; "/−6

,8 < "/−6- ,7 . "/−6-

aZ
0 /Λ

2 3:/ //=� / /.>6 " ; "/−5 < ; "/−6

,7 7 "/−6- ,. 7 "/−6-

aZ
C/Λ

2 3:/ /.8� / /.86 7 . "/−5 . ; "/−5

,. / "/−5- ,8 . "/−6-
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��	���	
� �	
������$ �� ����	����� �� ��� ���
 γγγγ �
����� ��	��4
�	
� �	
������ ����� �� ������� �	 ��� �)������� 	� �)���4�������	��
�� ��� 
�������
 ����� ����� ���� �	 � ��������������	� 	� �	�� �)���4
������ �� ��	��� ��%����$ "� �� �)�����
 ��� "����� ��	�	� �	�����4
��	� �)��������� 0,51 ����� �� ����������� ��� ��� �)������� 	� �)���4
�������	��$ ��	�	�� �	
�� �	��
������ ���	
�� �)���4�������	��
��� ��� ������������� ������������	� 	�  ������� �	� ����� �)���������
����� �� ��
� �� �
�� ��	���	
� �	
������ �)���$ .�	� ��� �	��� 	�
���� 	� ��	��� ��%����
 ��� ���
��� 	� ��� "����� �)��������� �	
��
������ 	� ��� �������� 	� ��� ��	 ��	�	� �	
����$

" 5 1 !���
� % + ?����
� � @ ������
� ���� ���� A &$� 7/ ,"8=7-B C C A��
������� � @ ������
� 1�
 D @��� ���� %'� E.. ,"8=E- 

. F A��
������ + $��������� 5 D���
��� 0 ?����� F *�
���� � *���
�
* 1���G������ �����
�# ��H�
#""/. .7>"B F A��
������ 5 D���
���
0 ?����� � *���
� ������� ��	
��
 
���� ������ ��������
�� �� ��� �����
����# �%*+ �
� ��� ��� �������� ������ �
 ��� ����������
� �� �%*+ ���
��� �������� ��H�
#/8/> >E<" 3������6 

> �� F������� � *���
� F 1�������� $ ������� ��H�
#">/< ;8/" 

; +'�+1 ���� � �%*@������./""�/". 

7 + %��
� 4 C
�����
 �
� D *������
� ���� ���� A #&&� >=" ,"88<-B
I ���� � ( � 7= ,"88=-B D *������
� ���� ���� A ) %� ><; ,"888- 

< � F������� � *���
� F '�G���
���� * I������� ���� *�
 $ '(� >� />;/"/
,./">-B 0 ?����� � F������� � *���
� ���� *�
 $ '#� />;/>< ,./""- 

= � F������� � *���
� ���� *�
 $ (�� />;/.E ,.//8-B 0 ?����� � *���
�
� F������� * ������
���� %�� ���� D �   � .78�.=. ,.//E-B ���� ���� A
&  � .><�.;/ ,.//=-B � @�
����� * ������
���� � *���
� 1 �����
� ���� 
���� A #' � >7= ,"88<-B � @�
����� * ������
���� � *���
� ���� ���� A
#&&� >.8 ,"88<- 

E % �����
� 0 ?����� � *���
� ���� *�
 $ '�� /=;//> ,./"/-B 0 ?����
�
� � *���
� ���� *�
 $ ('� /=>//7 ,.//E-B D �� !�
����� �� ���� ������
�
��H�
#/8/E ././ 

8 4 A���
��� �
� ! A���&���� ���� ���� A %''� ./" ,"88.- 

"/ 4 +����
�� �� ��� 30�+� ������������
6� ���� *�
 $ ($� />.//7 ,.//;-
3��H�
#�����)J/;/./."6 

"" �F1 ���� � D�%� $(� ""< ,./">- 

". 0 ?����� A ��
G�� � *���
� F 1�������� �
 ����������
 

"> + +������ � 4��
����� 4 *����� ���� *�
 ���� )�� 
� .� 8"�8; ,"8E.-B
+ +������ D $�������� 4 *����� ���� *�
 ���� )�� C�� .7� "E/; ,"8E.- 
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��������� ��� �	��� �� 	� ��� �	�� ������ ������� 	
������
���� ��� ���� �	������� ������ ���� ���� �� ��� ��

√
s ! " ��# ������$	�$����

������� %	 �&������ �	� 
������ 
��	�� ��� �������� �	��� �� �	����

�� ������	
����

��� ������	� 
���� 
�
� �	������ �� ���	����� ���� ����	������
�� ����	������� ����� ������	� ���	� �	� ����� ����	�� �������	��
���������� ���� ��� ���	�	��� �	������ ��� ��	 �����	 ����	������
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��� %�#%� �������	 &'( �� )*') �	������ �	��� ����	������ ��	 !�

���	����� 
�	� ���� )* ��−1 �� ���� ��	� ������	�� �� %�#%� ��	���
�	����+�	���� ���������� ��

√
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!�
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'��� �( ����( )�������	� ��&������ ���� �
������* �	�
���� �	 ��� ���� �� ���
	� ��� �+
����� 
�� ��	����* ���� ��	 �������� Z′ ������� 	&������� ��� ����	
	� 	
���&�� �	 �+
����� �&���� ���� ����������� ����������� �� ��	�� 
��	�* ���
������ 
��� ��������� ��� ����$��
������ ���������� ������������ ,����( ��$
���� �+
����� -������ ����. ��� 	
���&�� -�	��� ��� ����. /01 ���� ������ 	� σB
��� �+
����� σB �	� Z′ 
�	�����	� ��� ��� ��	 23$�	��&���� Z′ �	���� �	� ���
�	�
�����	� 	� ��� ��������	� ��� ����	� ��������� ��� ���� ���� 	� ��� Z′ ���
���	�� ���&� ��
������� ��� ���	������� �������������

�� 
���
��� �����
� ���	���
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	 �����
�� ��� 
���� ����������

����� 	��������� �	� �	������� �� ���� ������ ������ ��� �
� ����
0	��� 1��2�� ����	���� ���	� ����������� ����������	 ����

3�� �� ��� ����	���� 	������ �� ��� ���	�� ��	 �������� 	����������
4������ ��	 ��� �������	�� ��� ������ �������� �	� ����� �� )* ��−1

�� ���� &)(� %� � �������	 ����� ��� ���������� ������	� �����

��
� Z ′ �� ����� %����������� "5+��������� ������ ��� 4������+
����	�� �	������� 
G∗� �	� �������	��� �������� ������ ������ ����
�� ����� ��� ����+pT �����	�� 
�	 ����� ����������� #������ 
���+
�������� �����	�� ���� ���� pT > 40 0�. 
pT > 30 0�.�� �����
���� ����� �	� 	����	�� �� ���� pT > 25 0�.� ��� ����	����� ��
��� ����	���� ���� �� �������� ���	� ����� �� ����� ��	 ��� �������	��
������� �� ��� ���� �� 6��� '� 7�������� ��� �	���� �� Z/γ∗ ��������
�� ��� ��������

8� �����2���� ������ �� ����� ��� 9:; $�#� ������ �� �	���+�������
����� �	������� 	���� 
σ×B� �	� ���� ��� ���� �� ��� 	���� �� 6��� '
����� ��� �������� ��� ����	��� ������ ��	 ��
 Z ′ ��	 ��� �������+
���� �� ��� �����	�� ��� ���� ��������� 
����� ����� )�-5 
)�</� ��.
�	� �������� ��	 ��
 Z ′ 
G∗� �������
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��� ����� ������� �� ����	�� �� � ����	��� �������� &=(� >� ��
���� ��������� ���� ��� �������	�� ��� ������ �������� ��� ����	����
����� ��� ��� ������� ��� ������ �	���	�������� �� ���	� ����	������
>� ���� ���	�� ����� ���	���� ������ �� ��� ������� �	� �������	���
��� ��
 Z ′ �� ���� �� � �������	 � 8� �����2���� ������ �����
�
 �	��������� �� ����� ��� ������ �� ��
 Z ′ ����� '�9 ��. �	�
�������� ����� '9�: ��−1 �� �����

���	���� ��	 ������+?�� 	��������� &<( ��� ��?�� 	��������� �	�+
����� �� ����������� ���� � ������������ �������� W �	 Z ������ &:(
���� ���� �� ���������� �	�� �
 �	��������� ����� )*�= ��−1 �� �����

�	�	 �����
�� ��� ����������� ������

.����	+�� � ���	 � 
.#@� �����	 �� ���� ���������� �� ��� �
� ����
�	� ��2��� �� ���	 � ��	 ����� ���� ���	������� ���� ��� ���� �	���+
��	������ �	���	���� ����	 ��� �����	���� ����� �	���� .#@� �	�
������� �� ������ �	���	�������� �� ���	� ����	����� ���	 �� ��� 0>

��������� ���� ��� ����� �� .#@� ��� ����� �	��+����� ����	��+
��		��� ������ �	� ��������� A�� +������� ������� ��� ������� ��+
�������� �	� �������	�� �� ��� ���	���� ����	���� ������

��� ���	�� ��	 ����	��+��		��� �������� .#@� 
T → Zt ���
B → Zb� ����� '<�= ��−1 �� ���� �� ����	���� �� 4��� &5(� ��������
������ ������ ������� ���� �	�����	�� �������� 
pT > 150 0�.�
Z ����� ��������� 	������	����� ���� ���������� ���	��� ���� B�+
��	 �������� �� ����� ) b+������ ?��� ���� ����� �	�����	�� ��������
HT > 600 0�.� ��� ����	����� �� ��� ����	���� ���� �� ��� Z �����
��������� ��� �������+pT b+������ ?��� m(Zb)� ����� �� ����� �� ���
���� �� 6��� )� 7������� ��� �	���� �� Z + jets �	���������

8� �����2���� ������ ����� �
 �	��������� �� ����� ��� 9:; $�#�
������ �	� ��� �� .#@ ���	 �	�������� �	���+�������� ��� ���� �� ���
	���� �� 6��� ) ����� ��� �������� ��� ����	��� ������ ��	 ��� �������
���������� �� �����	+�� � T ���	 � 
����� �� �����	+�� � T 
B� ���	 �
����� :-: 
5<:� 0�. ��� 5-* 
/):� 0�. �	� �������� ��	 ��� �������
��� ������� ���������� 	������������

��� ���	�� ��	 ���	���+��		��� �������� �����	+�� �T ���	 � 
T →
Wb� ����	���� �� 4��� &/( ���� ���� ��� ���� ��� ������ ����� �

�	���������� 
����� �� T ���	 � ����� :*: 0�. �	� �������� ��	 ���
������� ���������� ����� '<�= ��−1 �� �����
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'��� �( ����( ��� m(Zb) ������
���	� ����� ��� pT(Z) ��� HT-4���. ��5���������*
�� Z ��������� �&���� �	�������� �� ����� ��	 b$������ 4���� ��� ������� 
����
�� ��� �

�� ��� �	��� 
����� ��
������ ��� �	��� 
�� ��	��� ������������ ,����(
6��� 
�	�����	� ��	�� �����	� ����� -/01 ����. &����� ���� �	� � �7-�. �������
&���	�$�� � T 5��� 

�	�	 �����
 ��� ���� ������ ���� ����������

���	���� �	� ���� ��	��	��� ��	 ���	 �	�������� �� ��� �� ����	������
������� ��	������ 
pp → χχ̄� ��� ���� �� ���� ����	������� ������
��� 2��� ����� �� ��������� �� ��� �������	 ��� ��� ������ ��� ��
�������� �� ���	� �� ���������� �������+����� 	�������� �� �
 ��	������
��� ��	������ ������ ���� �	�� ����+?�� ��������� ��� �� ��� ��	��
	��� �� ���	 �	 ����� 	��������� ������	� ����	��� �	����� ���� ���
�� �����	������ ����	��	���� ����+W �	�������� ��� �� ��� ��������
�	������

��� ���	�� ��	 ��	 �����	 ���	 �	�������� �� ����������� ����
� W �	 Z ����� ����� )*�= ��−1 �� ���� �� ����	���� �� 4��� &-(� >�
���� �������� ���	�������� �������� W �	 Z ������� 	������	����� ��
� ������ ������� ?��� �	� �������	��� "����� ���� ���� �� ����� ���
���� ?�� ���� pT > 250 0�.� ������	������� |η| < 1.2 ��� ���� ��+
����� :*+')* 0�.� �������� ������ �	� �������� �� ���� ��	�� �������
�	�����	�� ���	�� 
Emiss

T � �	�� ��� ���������� χχ̄ ��	������� ��� ��+
��	����� �� ���� �������� �� ��� ���� �� ��� ��	��+	����� ?�� ����� ��
����� �� ��� ���� �� 6��� =�

>� ��� ������� �� ������+�� � ������ ����� �
 ��� �	���� �	����+
����� 9*; $�#� ������ �	� ��� �� ��� �C������ 2��� ���� ������ M∗�
��	 ��C�	��� ��	 �����	 ���	���	�� #����� �	� ����� �� ��� 	����
�� 6��� =�
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�� ��	��� �� ��� ������ ����	� Emiss
T >

350 9�#� �	�
���� ������ W/Z 
	�	� ������ ������
���	�� 	� ��� )0 	
����	�
�� ��� ���������&� ��� �	��������&� ����� ���� ��� ������ ���� 	� � 9�#���
M∗ = 1 TeV ��� ����� �� ����� 7������������ ������� ����������� ��� ����������
�	����
���	��� ,����( ������� 	� 	
���&�� ������ 	� ��� �:����&� ���	�� ����
����� M∗ �� /�1 ���� �	� &���	�� 	
����	�� ��	� �	�
���� ������ W/Z 
	�	�
�������� M∗ &����� 
��	� ����� ����� ��� �+������

�� ���
�	�����

���	� �� � ���� ��	���� �� ���	���� ������ ��� �
 �� %�#%�� 7������
��� ��� �� �������� ��	 ��� �������� !�
 	������ ���� )*') ����
�	� ���	������ ����� ���� ����	 ��� ��. ���� ������ %�#%� �� ����
�	���	�� ��	 ��� ���� 	�� �� ��� #�$ ���� ���	����� ���� ���	��
��� ���������� ���� ��� �	��� ����	������ �� �������	 ��� �������
���� �� �C�	���

�� ����� �	���
	����	�* ;<%�� �* ��"��8 -���".�

�� ����� �	���
	����	�* �����$�=%'$���8$��>
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�(??�����������?���	��?�00>>>8�
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 ��� "�� %�&'& �#×�� (
�����# ���� 
� )ν2K ������� ������ �� 78�� "��
12.8+5.2

−4.8 �
−1 ��� ����#�
��� "�� 13.2+3.6

−3.2 �
−1� �� #��� �
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	 ���������� �� ��� =������ =����
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8�����
� �����
��� ��������
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��� �� �������
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������� ��
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 ! ����� ���������
��	� #���! ��

! 8 ����  ��9 $�� �%!

�! �&� ���������
��	� #���! ��

! 8 ���� :��5 $�� �%!

:! ����� ���������
��	� ���6 ;<=�� : ��6��:!

.! ����� ���������
��	� #���! ��

! 8 ���� 66�  9 $�� :%!

4! ����� ���������
��	� #���! ��

! 8 ����  ��� .. $�� :%!

5! ��� ��""� ����� ���
��	 >��1�	" )���
� ��?��( ��9!��.� -��
���/!

@! �! A! ��	���� A�1�! �1��! =��1 ���! '�+! ��� ��@ $ 9.6%!

6! �!�=! B�	"� #���! 0��! ��� �.� $ 94�%!

9! B! )��� �!*! )��
��	� C! )��� D! &��	�1��� &! �����+�� �	� =!*! ���	� #���!
0��! A ��� �@4��� $�� �%!
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 ��� ��	�	��
 �	�� ���
 �� ����� ��	 �� �
 �
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����� �	� ��� �	�����	
 	� ��� ����� ���	
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�

����		
� $��� ���� �	����� 	
 ����
� ������� 	
 #����	
��� ��	
����	
 ��
%&'( �

 ��� )&(�

�� ������	
����

���� ���� 	
 ����� �
�� ������ ��� ���� ��������� ����� �� ���
������� ����� ����� ���� �������� ��ψ ����������� �� �� ������
��
��� ��
������ �� ����� ����� ������ �� ��� !���� "���� #�����
$!"#% &'() *� ��
� ����� ������� ��� ��� ���
 ��������� �������
����� ��������� $��� !+, ����-����� �� ��� !., ,���� ��������
 ��
���������� ����
��% �/����-��� �������
 ��� ���
� �� ��� �����
 ��������
����) *� � ������������ ���� ��� ��������
 ������ ������� �������
���� ��� cc ������
 ������� ��� c ��� c ������ ���� ��
����� ���
���
��� ������
 �� ����������� �� ��� ��ψ ����� �� ������� ����������)

0�� �� ���  ��� �����-������ ���� �� ��� 1*23�1*
4 �5��������
�� ��� ��������� �� ��� +.61 �#� ���-� ��� ���
���� ��� ������
��� ����������� �� ��ψ ���������� �� �78 ���������� �� 	44 * "�9 &	()
:���-��� ���� ����������� ��� ����� �� ������ ��� ���� ����������
����� �����-�� �� �������������� ���������� ��� �� ���������� ��-��-��

��
�� ������ ���� 07+� ��� 078) ;�� ��ψ ����������� �� ��� �����
������� ��� �������� ��������� ��� �� �  ��� ����� ���������� �����
������� �� σabs ∼ < �� �� ��� ���������� ����� �� ������� ������ &2()
*� ��������� ��ψ ������������ �����
�� ���� �5������ ���� ����
���������� ����� �������� ��� �����-�� �� ������������ ��� �������

'<2
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#�7#� ���������� �� '
3 * "�9 ��

�����
 ��� ����� �� �� ����������
����������� ���������� �������� ��� ���������� �� � ����� ��� �����
�� ������ &<() +��������� ������� ���� ����� �������� �� ��� 1*=4
�5�������� �� >�7>� ���������� �� '
3 * "�9 &
()

.5���������� ������� ���� 6:>+ ��� ���� �������� ���� ?:+�
��-����� � ���� ������ ������� ��������� ���� � -������ �� ��������

�/���� ���� ��� ����������� �/��� ��� ���������� ���������� �� ���
����� ����������) ;���� ������� ������� ���� ������� �� ��� 
���� ����
��������� ��������� $��������
 �� �������������
%� 
���� �����������
������� ���  ��� ����� kT ���������
� ������� ���  ��� ����� ������ ���
��
� ����� ������� ����������� �����-�� ������� ��� �������������)

;��� ����� ������� �� ���� �� ��� ���� ������� ���������� �������
�������� �� 6:>+ ��� ��� ?:+)

�� 
��� 
��	���

;��  ��� ��������� ������������ ��������� �� ��� #:.1>@ �5����
����� �� 6:>+ �� *�7*� ���������� ��

√
s

NN
A 	44 "�9 ������� ���

���������
 �������) B����� �� ������������� ��� ��-�� �� ��ψ ������������
������ �� �� ��� ��� ������� ���� ������ ������ RAA $�� ��� �� ���
����� �� ��� ����� ��� ������ ��������������� ���������� Ncoll� �� *7*
���������� �� ��� ����� �� �7� ����������%� �� -��� ������� �� ��� ���
�����-�� �� ��� �#� $��� ���� ����� �� B�
) '% &=� C() ;��� �� ��������
�� ��� �����
�� ����������� ����������� �� 6:>+ ��� �� ��� ��������
�� ���� ���� ��� ����� �� ��
������ �� ��������� ����
�) ;�� ����

*��� +, )���, $�� ��ψ 
������ �	
�-����	
 ����	�! %AA! �������
 �� ��
.����
���
�� �&/0'1 ��

√
sNN 2 �33 ��4 567 �

 �� 0�89! 0��3 �

 0�63 �� :�:

�
������ 5;7� %����, ��ψ RAA �������
 �� �&/0'1 �� �	����
 �

 ��
.����
���
��

√
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��� ���������
 ������ �� ���� ��ψ �� ���� ���������� �� ������� ����
�� ������������ �� ����� � ������ �� ���� �� ����� �� ��� ���� ����
��� ����
� ������� �� ������� �������� �� ���������� ������� ���� ��
������������ $��� ��
�� ����� �� B�
) '% &=()

#:.1>@ ��� ���� �������� ��� ��ψ RAA �� ������������ �����

��� �� =	 ��� 2D "�9 $��� B�
) 	% &3() E����� ��� �5����������
�������������� �� ��
�� ���� ����
� �� �����-�� �� RAA)

;�� ������ �������� ��-�� �� ����������� �����-�� �� �������������
���� ��� �#� ����
� ��
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√
s

NN
A 	44 "�9� ��� �� �5������� �� ��� ��������� �������

������ ��ψ ����������� ��� ����������� �� ������������� �� c ��� c
������) *� ��� ��������� ����
� ��������� ��� ������ ����������� ���
�� ����� ��������
 �� ��� !"# ���������) F�� �� ��� ���� ����� �-��
���� ����
� ���
�� ��� cc ���������� ����� ������� ��������� �� ������
��� ������ �� ��
������ ���������
 ��� ����������� �� ����������
���������� �� ������������� �� c ��� c ������) >� ���� ������� ����
��� ����������� ������������� ������ ������������� ����� ����� �� ���
������������� ���
� &D() >� ������� ���� �� ��� ���� �������� ���������
������������� ������ ������������ �����
� ��� ������ �-������� �� ���
��������� &'4() *� �� �5������ ������������ ����� �� ��� ���� ��������
�������� ��� ����� �� B�
) 	) *������������ ��� ���
�� ������ ����
�������� ������ ����������� ��� ���
�� ������������� ���� �������


*��� �, ��ψ RAA �������
 �� �&/0'1 �� ��
.����
��� ��
√
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�
� ���������	
 �

 ���	���
�.
��	
 5+37



��� ���� �� ����	
���


�� ������ �������� RAA �-�� ���� ����� ����
� ���
�� �� ����������
�
������� ���� ��� ������������ #:.1>@ ����) :���-��� ���� �����
��� ��G������� �� ����������
 ��� �����
�� ����������� �����-�� ��
������� ��������) >� ����� �� �� ����� �� �������� � ������� ���� �����
���������� ��� � �����
�� ���� ������� ������ ����������� &'4()

>� � ��
�� ���� �������� �� ��ψ �� ������ �� ������������� ��
����� ������� ��� ��ψ ������ ������� �������� H��� v2� ���� ��� �����
������) ;�� ����������� �� ��ψ H�� ���� ���-���� �� �����������
��� ���������� ������� �� ��� ������������� ��������) *� 6:>+� ���
��ψ v2 �������� �� �;*6 �� *�7*� ���������� ��� ����� �� �� ����
������� ���� ���� &''() F�� ��� ������ ���� ���� ��� ��������� v2
�� -��� ����� $�� ��� ����� �� 	�2I% &'	( ��� ���� �� ���� ��
���
��������� ��� ������ ������ � �� ���� ��������� ��� �� ����) *�
��� ?:+� ����� ������������� �� �5������ �� ���� � ���
�� ����� ���
��������� -����� ��� �������� ���
�� $�� ��� ����� �� 
I% ��� ���
*?>+. �5�������� �������� �������� � �������� v2 �� ��ψ �� �����
������� #�7#� ���������� ����� �� ���������� ���� ������������ &'2()

;�� #:.1>@ �5�������� ��� ������� ��� ��ψ ���������� ������
����� �� ��� ������ ���� �� -�����
 ��� ��������
 ������) >� +�7+�
���������� ��� ��ψ RAA ����� � ������� ����-��� �� ���� �� *�7*�
���������� ���� ���� ��� �������� �� ��� ���� ������ �� �����������
��
 �������� Npart &'<() * ���� ���� � �� ��� ����� �� ��
�� �������
�� ���� ���� ���-��� ��
��� ��������� �� ��� ������������� �� Npart

��� Npart ≤ '44) 6�������� #:.1>@ �������� ��ψ ���������� ��
+�7*� ��� 878 ���������� ��

√
s
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A 	44 "�9 &'
() >� ����� ����

���� ��ψ ���������� �� ������ ����� ��/����� ������� 
��������� ���
���� 
�-�� ���������� ����������� �� ����������� ������)

;�� �����-�� ��ψ ����� ��� �� �/����� �� � -������ �� ���� �������
������ $+1�% �/���� ��������
 ������� ���� ������� �� ��� 
����
������������ �������� $��������
 ��� �������������
%� 
���� �����
������� ������ ����� ������ ���������
 ��� ������� ���������� $��� �
��-��� ��� &'=(%) ;�� ����������� �� ��ψ �� � ����� ���� ������ ����
�� �7*� �� ���������� ��� ���� ����������� ��� �� ����������-���
����� ����� +1� �/�����) #:.1>@ ��� �������� ��ψ ����������
�� �7*� ���������� ��

√
sNN A 	44 "�9 �� ����� ��������� �����-���J
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-2.2<y<-1.2 (8.3%)

|y|<0.35 (7.8%)

1.2<y<2.2 (8.2%)
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 ��ψ RdAu �� pT �������
 �� �&/0'1 �
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�	�����	
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√
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������������ $|y| < 4)2
%� ������� �������� $')	 < y < 	)	% ��� �����
���� ������� $K	)	 < y < K')	% &	'() ;�� ���������� ����
����� RdAu

-�) pT �� ����� �� B�
) 2 ��� ��� ����� �������� �����-��� �-������) *
����� ��� ��
�� ���� ����������� �� ���� �� ��� ����� �����) E������
�� �������� �������� $��� *��
���
 ���������% ��� ����������� �� ����
�� ��� pT L 	 "�9��� ��� ���� ��� ������� �������� �����-��� ���� �
���������� ������� ����-��� ���� � ����������� �5������
 �� �� pT ∼
< "�9��) B�� ��� ����� �����-���� RAA �� ���������� ���� ' �� pT > <
"�9��� ��

�����
 �� ������� +1� �/���� �� ��
� pT ) ����� ��������
����� ��������
 � ��5���� �� +1� �/����� ���� �� ��������
� �������
���������� ��� +����� �/���� ��-� ��G������� �� ����������
 ��� ���
�7*� ������� &	'() 0� ��� ����� ����� ������ ������������ ��������

���� ������ pT ���������
 ��� ����
� ���� �� ��� ������� ������
���� ���������� �
������� ���� ��� pT ��� ���������� ����������
�� ��� ��ψ RdAu ���� �� ��� ����� �������� �����-��� &		()

�� ��� 
��	���

;�� ���������� ������� �������� �� ��� ?:+ ��� ������ ��/�����
���� ����� �������� �� 6:>+) B�
��� < ����� ��� ��ψ RAA -�) Npart

�������� �� *?>+. �� #�7#� ���������� ��
√
s

NN
A 	)C= ;�9 &	2�	<()

;�� ���
� ��/������ ������� ������� ��� ������������ �����-�� ��
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 = 2.76 TeVNNsALICE Pb-Pb 

 13%±            global syst.= c>0 GeV/
T

p|<0.8,y, |-e+ e→ψJ/

 15%±     global syst.= c<8 GeV/
T

p<4, 0<y, 2.5<-μ+μ→ψJ/

*��� >, ��ψ RAA �� Npart �������
 �� �)'(/ �
 ��=�� �	�����	
� ��√
sNN 2 ��;6 $�4 5�8!�>7

6:>+ $����� �� B�
) '% ���� ��� ���� �� �� ������� �� ��� *?>+.
����) B����������� �� ������� ��������� ��� ��-�� �� ����������� ��
������������ �� ������� ���������� ������� � -���� �� ∼4)=� ������� ����
��� ����������� �� ∼4)	 �����-�� �� 6:>+ $��) B�
) '%)

* ���
� ��/������ �� ���� �����-�� �� ��� pT ���������� �� RAA)
;�� ���� ����� �� B�
) 
 �������� ��� RAA pT ���������� ��������
�� *?>+. �� ��� ?:+ &	<( ��� �� #:.1>@ �� 6:>+ &=( �� �������
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∫
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������ �� ��� �� 	��	������ dl2 	�������
 ��� $�
� /�	���
����� 	�����&����� �� ������� ���� ��
 �%����&���� ������ )�	��� �

�� $�� du ���� ��� 
��&����� 	�������� �� ��� $'�� ����� �� 	�����

������
 �����
���� ����
���������� 4� ���
 ����� �� ��� 
���
 ��
	��	����� du ���� ��� 	�������� �� 
	��� ��������� ��������	� �� ���
����� -0.� 9� ������ ��� ��������	� �� ��� ����������� ����� ���
��������
 
	��� ����
���������2xi → μi · xi;ϕ→ ν · ϕ�

,�� ���
� ���
 ���� �� ��� ��������
 �'���

��� ��� ����� :=2

du = 2
N + 1
N − 1

+
k−1∑

i=1

mi

(
1 − 1

pi

)
. ->.

1�� �
 $�� ��� ���
� �� ��� /�	������� ��
���2

Δd ≡ du − dl =
4

N − 1
. -?.



�������� ����	��
	� ���

��
� �� $�� ����2
lim
N→∞

(du − dl) = 0. -�@.

)�# ��� /�	������� ��
��� ��	���
�
 �
 � ���	���� �� ����� �� �������
������� ���
 ��	� �
 ���
�	���� ���
���&��� )����
 	������
 
����

�

��� /�	�������
� ,
 �� �
 �'��	���# ��� ����� 	����	�� �����
��� ��
��� 
�
���
 �
 ��� ��

 ���� 0� ��� �&������ ��
���
 ��� 	����	� ���
	��

�	�� A�
� ,
 �� 7���# �� ��� ������ �� %������ A�
 ��� ���	����
�����
��� �� � 
�
��� �� ��� ��	����� �� ��� %������ 	����	�� �����
�
 ��
��� ���� � �����
��� �� 
��	�� )� �� �
 �������� ���� ����� ���
���� ��

�&�� ����
 �� A�
 �� � %������ 	�
�� 4� �����	����# ��� ���

���
 �� ��� 	�������	� � ��

�&����� �� %������ A�
 �� 0������
�����

�
���
�

 � !�	���"��� #	$ ������ �����	 �
 ���
���� ��������� �%�
���� &

"�$
'�!�$  ()*��

+� %��
 ,

	�	$ %���� -��� . ��$ /01//0 �+//(��

2� 3�#� %
��	"
�$ ����� ������ ��� �
����� �,	
�

� 3�	����� %�������
�$
!�����
�	��$  (0)��

1� 3�4� &	����$ !�4� &�
��
��"�$ 4�5� 6����"
�$ ���� 7� #
�� %���� & ��$ 08 �
08) �+//0��

8� 3�4� &	����$ ��9� 6�����"
$ 4�5� 6����"
�$ #
�� %���� ����� & ��$  02(�
 018 �+/  ��



�������� �� �	�
��
�

������ ���	
1,2,3

1 ������� �	�
��	��
	� ��������� �� ����� �
	�� �
���

������	 ���� �� ������ ���
��� �����	
2 ������	�  !" ��#	� ��������� �� !�

����$# 	�� ���
�
���

%��������#� ����	$�������	
��� &'� �() �� ���
�
���� ������
3 �	*+,�	�
�+�������� �-�� ��	���	�����.
#����

������+/�������+���������

�� �-�
������$ �� 0+�112) ,����	�+����� ����	�#

�+�	��3 ��#���4����	����

��������

�� ������ ��� 	�
������ 

��

 
� ��
���� �
� �������� �
�� 
� ��� ��������
��

� �
 ��� ������� 
� 	��	�����
����� �
� 	��������

�� �
���
�

��

�������� 	
� 	 ��
��
���� ���������� 
� ������
�� ����
�
���� ���	��

��� 	 ������� 
� 	 ����
� ��1 �������� ������
��
�	��� �	� 	 ��
���
�� 	 ������� ��
�	�� X � ������ ��� ����� 
� 	��� ����
	�
 	��� ��
�
���
 �
����
��	� �	

��
��� �������� 	
� ��
�	�� ������	� ����
����� 
� ����
��� ��� �� �
�� 	
��� ��
�� ��
�� ��� ��	������ ��	�
���
� 	
� ����
�	� �
��	�
��� ���
� ���� 	
� 
��
�����	����

!�
 	� �������� 	������ �� ���� �� ��� ���
�� ����
�� ��
� ��� "#$�

�� ���� �� � 	
��
���

%���
��
 �����
����
��	� ������� ��	���2 �
�� ���
�
�	��� (z1, z2)�
&�� ������� 
� 	 
���	������ �� ��� �� ��� ��
��� 
� �2� �	�� ��� �

�
�
(0, 0) �� 	 �����
�� ��1� &�
� ��1 ������� ��� 	���� 	� ��
�� ��
	��
�	�� ��� ��
���

#''



�������� �� �	�
��
� ���

!�
�	��� ���	�
��� ��� �������� �	�
���� �2� ������� �̃2� �	�
�� ��(��� �� ��	�� �� ��� ���	�
��

�̃2 = {z1w2 = z2w1 ⊂ �
2 × ��1}, )#*

���
� (w1 : w2) 	
� ��� ����������� ���
�
�	��� �� ��� ��1� %��	
���

���
� 
� 	 �
�+���
�� �	� π : �̃2 → �2� ��
�� 
� �
����	
 	� ��� ��
��
z1 = z2 = 0 , 
�� -	���
	� 
�  �
� 	� ��
� ��
��� .�����
� ��� �	��


���� �̃2 
� ����
����	
� �� 
� ��
���� �
�� )#* ��	� ��� �	��� 
� �2�
��
�� 	��
�	�� ��� �

�
� 	� �
��
��� 	������ ��� �� 	� �
��
��� ��
���
�� ��� ��1�

/� (
�� 
� �	� ���� �
�� 	� 	
�
(�
	� �����
���
��� ��� ��� ��	��
���� ����� �
�� ��
�� �� ����
��� ��� 
�	��
 ��	� ��
� 
� ��� ���

�� ��� �������� ���� ���������

�� �	� ���� 	� ����
�	�
�� �� "0$ ��	� �������� ��	���
�� �̃2 	���	
�

���
�	��� 
� ��� ����
��
� 	 �	��
	� ����
�	�
�� �� ��� /1.2 ���	�
�
��� "3$ 4 ��� ���	�
��� ��	� ����

�� ��� �����
 ��	�� �� 
���	�����
)�	��� �������
��� �
�� �������	� (��� ��
�����* �� �4�

&�� �
������ �	� �� ����

�� ��� �����
 ��	�� Mn,k �� 
���	�����
��
 �	��� �
��� U(n) 	�� 
���	���� ��	
�� k 
� �� 
��	
� 
� 	� 	
����
�56	���
 ����
��� �2k(n+k)//

H

U(k)� 7� �
�� �
�� �2k(n+k) 	� 	

�������
�� �� ��� k× k �	�

��� B0, B1 	�� ��� �	�

��� I, J �� �
 ��
k × n 	�� n × k� 
������
����� &��� ��� 	��
�� �� U(k) �� �����
�	�

��� �	� �� ����

��� 	� �������8

B0,1 → gB0,1g
†, I → gI, J → Jg†, ���
� g ∈ U(k). )3*

9��� ��(�
�� ��� ������ �	�� ��
 ��� U(k) 	��
��� μR 	�� μ�� ���
�	� �

�� ���� ��� /1.2 "3$ ���	�
���8

/1.2 : μR = μC = 0. )0*

!
�� 	 �	����	�
�	� ��	����
��� ���� 	
� ��� ���������� �	��
	��
������� ����
�� �
��
�
�� 	 �����
	�� ��
� 
� ��� 
�����8 μR = ξ1 �k,
μC = (ξ2 + iξ3)�k� 	��� ���
���
�� ����

�	��� 
� 
� �	��
	� �� 
������

�� !�
 ξ �= 0 ����� ���	�
���� ������
� �� �����
 ����

�� ��� �����

��	�� �� 
���	����� �� �4 )��� ��
�	��
� 
� �� �����
 �������	�*� :��
����
��� ����
�	� 
���
�
��	�
�� �� ��� ����
��� ���	�
���� ��� �� "0$�

� ��	� ���� ���

�� 
���	����� �� 	 ��� �	�
���� Y �= �4�



��� 
��� �� 
��������	��� ��� ������

!�
 ξ �= 0 ��� �
����� ��
�� ��� �� �� ����

�
	� ���� ��
 	���
	�
U(1) 
���	������ �� ��� �	�� n = k = 1 ��� �	� ��
��� ������
�
��� �	��� ������
	� ����
�
��� 	�� ����� ��	� ��� ��

������
�� (���

��
����� 
� �������	� �� 	 �	�
���� �̃2 ����

��� �� )#*� �
�� ���
���

� �
���� ��
�� ��� ���

� 
������ �� ��� ������
�� )#* 
� �2×
��

1� &�� ����
�	� 
�	��� ��
 ��� 	���	
	��� �� ��� ������� 
� ��	�
��� U(1) 
���	���� �	


�� ��� +��� ��� 
���	���� ��	
��� ��� 	���
	 �������� ��	
��� ����� �	����
� ;�� �
�;	���� ��� ����
� ��1

	
���� 
������
!�
 ��	� ������� �� �������� ��	� ��� 56	���
 ������
	� �� ���


������ ���

� 
�
K = log x+ x, )<*

���
�
x := |z1|2 + |z2|2 )=*


� 	 U(2)�
��	

	�� ����
�	�
�� ��	� �� �
�� ��������
 �
���������

 � �!�"��#� �"�����$ ��� %��&�
�������

��� �'� %��"��

/�����
 ����
�� 
�	�� ���
� ��� ������� 	���	
� �	��
	��� 
� 
�
��� �
	����
� �� �>���
�� ����
������

� (��� ����

�� �� 1��
	���
��	��� 	� �
����	

�
�� �� %	�	�
�?	� �	�
������ �� ��
� ����
�� ��
����

�� N = (1, 0) ����
������

� ����

�� 
� '1� ��
�� 	

�� 	�
�>���
�� ����

�� ��
 ��� ;����	�
��� �� �
���
����
��	� 1��
	��� ���
�	��� 	� ADE��
����	

�
�� �� 	 �
	����
�� K3���
�	�� )%	�	�
�?	�
��	��* "<$� &�� ����	���� .
��� �
	��� �� ���� ����

�� �	��
	��� ��	��
�� �	�
����� )��� ����	���� ��
	�
�	�
��	� 
���	������* ��
�� 
������
���
�� �� ��1 ����� 
� �
�� ��
�	� ������ O(−2)�

�� �
� �
����
��� ��� �	��� (��� ��
����� ����
(��� (Wa)A 
�
�� �����
�� ��

	�
�� �� ��� ����
��	
�� 	�� �	� �� ���	���� 
�
�������	
� (���� 	� �������� �� �� �
��	
 �
��
 
� ��� @
	���	��
���
�
�	��� (θa)A�8

W a
A = λaA + F abθbA + (Diσi)ABCabθbB + . . . , )'*

	�� ��� �	�

� �� (���� F ab 
� ��
	�������8 CabF
ab = 0 )C 
� 	 ����

������
	�� ��	
�� ���+��	�
�� �	�

�*� &�� 
�	�
�� �
���
�� ��
 ���

����� a = 1, 2, 3, 4 �� ��� SU(4) �
���� A = 1, 2 �� ��� SU(2) ����������
�
����



�������� �� �	�
��
� ���

��������
��2	+�
	�	 ��
��
W a
A �
	���	��� 
��� ��� 
�	�
�� �
���
�
��

�� ��� ��������� (����� �� �	
�
���	
� λaA 
� 	 ��������
��2	+�
	�	
��
��
 	� ����� (Fab)∗ 
� �
��	
�� 
��	��� �� Fab� ����� 
� �	� ���� 15

�	� ����������� ��
�� �	� �� �	���� 
��� 	 �����������

� 
�	��
�	���� �����
 Fμν � 	�� Di 	
� 	 �

���� �� 
�	� 	��
�
	
� (�����

�� 
� �
��
���� ��� 	���	
	��� �� ��
� �

����� 
� ��	�� �� 	 �
�����
D� ��	� 
� 
���
�	�� ��
 �� ��
�� /����
�� ��	� ��� ����
� 
�������
M ����
����
����� �
�� ��	�	
 ���������� mφ

a
A� ���
� a 
� 	� U(N)

�	��� 
���� 	�� m �	���� ��� ����
����
���� )m = 1 . . .M*� ��� ��
��� �

�� ��� ��� �	
� �� ��� ����
������

� A	�
	��
	�� ���
� ���
Di (���� ����
8

L ∼ 1
2
D2
i +Di

[ M∑

m=1

(mφaA)∗(σi)AB mφ
a
B + ζi

]
, )B*

���
� ζi 
� 	 �

���� �� !	������
������� ��
��� &�� (���� Di 	
�
	��
�
	
�� 
� ��� ����� ��	� ���� �	�� �� �
���
� ��
��� �� ���� �	�
�� 
����
	��� ��� �� )B* �� �
�����

L ∼ 1
2
[ M∑

m=1

(mφaA)∗(σi)AB mφ
a
B + ζi

]2
. )C*

&�� ����� �� ��
��� 
� (��� ��	�� ���
� ��
� �����
�� 
�	���� 	 ) �
�*
�
�
��� 
� �
��� �� ��� ����
�56	���
 ������ �	� ���	�
��� μi =
0, i = 1, 2, 3� D
��� (��� ���(��
	�
��� 
��	��� �� �	��� �
	����
�
�	�
��� 	
� ���
�	����� �� ���� �� �	�� ��� ����
��� �
�� 
������ ��
��� �	��� �
��� U(N)� ����� ��� ��	�� �� ����
�	� (��� ���(��
	�
�
��� �	��
	�
�� ��� �
�
��� �� ��� ������
	� 
� ��� ����
�56	���

����
��� { μ−1

i (0), i = 1, 2, 3 }/U(N)� &���� ����
�56	���
 ����
����
	
� E
��
�;	� 	�������
�	��� ���	��� F���
��	� )/AF* ��	���� ��
��
�	�� ���������� ����
�� �������� 
� �����

&�� ����
�	� 
���
�
��	�
�� �� ��� �
��	�
�� ��	��
	��� 
� ��
� ����
�
�� 
� ��
�� 
��	
�	���8 ��� ������ /AF ���

�� �
��
��� �� ���
����
�56	���
 ����
���� 	
� 
� �	�� ���

�� �� ��� 
������
��� �� ���
ADE��
����	

�
�� 	� ��
�� �� ��	�� ��
 1��
	���G

&�� F����
�.	���� ��	�� 
� 	 ����
	� �	�� ���� N = 1,M = 2�
�� 
� ����

��� �� 	 56	���
 ������
	� ��	�� 
� �

��
���� 
� �����
����
�
���� ��� ��
 �� ��� ���� 
���
�	�� ��
�� �
�� �� 
�� ���	��
��
	
���� ��� �

�
�8

K = log x+ x2 + . . . , 	� x→ 0. )H*



��� 
��� �� 
��������	��� ��� ������

&�� 
���
�	�� �
>�
���� ������� )<* 	�� )H* 
� ��� x ��� x2 ��
��

� ��� ���	��
��� �� ��� 56	���
 ������
	��� :�
 ��
�� 
� ��	� ����
	
� �
>�
��� ���	��� ��� ��1�� 
� ��� ��� �	��� 	
� �������� �
��
�
>�
��� ��
�	� �������8 O(−1) 	�� O(−2)� 
������
�����

(� �������� �����"� �� 	
���
�� %��"��

/ �	��
	� �����
��� ��
�� 	

��� �
�� ��� 	���� 	�	���
�� 
� ��	�
�	����� 
� ��� �	�� �� 	 ����
� ��1 �������� �
�� 	 ��
�	� ������
O(−m) ��
 �
���
 m� 
��� m ≥ 3� !
�� ��� 	�+����
�� ��
���	 
�
������� ��	� ��
� �	� ���� �	���� ��
 	 ��1 
� 	 ��
�	�� Y �� ����	�
��
��
�	��
��� 
��� c1(Y ) < 0� 4 ��
� 
� 
� ����
	�� �� ��� O(−1) �	�� )
�
	 ��
�	�� �� ����
�
�� ��
�	��
��* 	�� ��� O(−2) �	�� )%	�	�
�?	�*�

�� 
� 
���
���
�� �� ���� ��	� 
� ��� ���	�
�����
�	��
� �	�� 
� 
�
����
��� �� ��
�� 56	���
�F
����
� ���

�� �� ��� ���	� ��	��� �� ���
O(−m), m ≥ 3 �
�� ������� ���
 ��1� ������� �� ���� ��
 ���
���

�� gij̄ �	�
���
��

Rij̄ = −gij̄. )#I*

&�� ���

� 
� 	������ �� �� U(2)�
��	

	�� 	�� �

�
�	�
�� �
�� 	

56	���
 ������
	�8 gij̄ = ∂2K
∂zi∂z̄j �
�� K = K(x)� !�
 ���� 	� 	��	� 

��� ���	�
�� )#I* �
�� ��� �����	
� ����
�
�� )������ �� 	�	����
�
�� )<* 	�� )H**

K(x) = log x+ a xm + . . . 	� x→ 0 )##*

�	� �� ������ ����
�
���� ���
����
�� 	 ��� �����
�� Q := xK ′� ��
�	� �

�� ��� �����
�� 	� �������8

Ym :

⎧
⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎩

m > 3 : x =
3∏

i=1

(Q− yi)
1

2+yi ,

���
� y3
i + 3y2

i − (m− 2)2(m+ 1) = 0

m = 3 : x = e−
2

Q+2

(
Q−1
Q+2

)1/3

.

&�� 
���
���
�� �	�� 
� ��	�� ��
 m ≥ 3� ��� 56	���
 ������
	� ����� ��

�(�
�� 	� |z1|2 + |z2|2 → 1� 2�
����
� 	�������
�	��� ��	
 |z1|2 +
|z2|2 � 1 ��� ���

� ���	��� 	� ��� A��	������� ��	�� H4 ���

� ��	

��� �����	
�� .�����
� ��� 
���

����� ��	� ��� �������
�	� ��	
�
	���

��
�� �� ��
� ��	�� 4 ��� F���
 ��	
	���

��
� 	�� �
��	��
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� 
�����
�� 
���
��� ��	� ��� �����	
� �	���� �� S3 = ∂H4� ���

� 
	���
 �	� �� �� 	 ����
��� ���
���� ��
� �
��
���� ��� ���� ��	��
L(m, 1) = S3/Zm� E���


�� ��	� ��� �����	
� 
� ��� 	��
��

	��
���� ��	��� �� (�� ��	� Ym �	� ��� �������
�	� �����
� �� 	 �
��
������ ���
 ��1�

&� ����	

 �� �� �	�� ����

��� ��� ��
����
���� �� 	 ����
�
��

1 �������� �
�� 	� 	
�
�
	
� ���	�
�� ��
�	� ������ O(−m),
m > 0� &�� m = 1 �	�� ��

������� �� ��� ��	��
�	� ��������� )#*�

���	
��
��
�
	��

� 	� �
	����� �� ��?	� /
�����	� J� 1
 K����
	� D� @�
��
���
�� K� J
 �
�
�	������
�� 5� L	
���� ��
 �
�����
��� 	�� �� M�/�M��
	��� ��
 �

���

�� �� �� 	�����
�� ��� 
���
���� "0$� � 	� 
������� �� J
��� /�/� D�	��
��� 	�� �� �� �	
���� ��
 �����	�� �����
� 	�� �����
	������� �
����� 	��� �
�� �� ��	�� A� -������ �� ��
 ��� 
��
�	�
�� �� �	
�
�
�
�	�� 
� ��� �����
���� NM�� &
���� 
� .
�� F��
�� J���
��O 
� ���
%

��	� 2� ��
� �	� �����
��� 
� �	
� �� �
	��� E!�E ##�I#�
II3H'�	� #0�I#�#3<I= �(��3� #3�I#�0#3HC�����	 	�� ��� �
	�� ��
 ���
D����
� �� A�	�
�� D�
���
(� D������ �� E���
	 MD��<'#3�3I#3�#�

�� �� �� 
�� ��� ������� 	�
��� 
� � ��
����� ��!��"�#$%�&'�(

&� )�*� +������ ,�-� ������
� .�/� ���
���� �
� 0�1� )�
�
� �
��
���
�
� 
�
���
��

��� 2���� 3���� + ��� �'4 5�6%'7�

#� ���� �����
 �
� ,�+� ,� ���
�� ������
�	� �
�	 ��
	 �
��
		�
�
���

���
��

��� 8
���
� )���� 2���� ���� 9#� 5&$$97�

9� )��� �
�	��� �
� /��� )

��� ��������� �������� ��� �� ���
��

���
������:6($#�(%�

�*
� �
�� �������� �
�����
	 ��� ���������
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�
�	 ��	�� ���
�� ��� �
��

������
!
�
�	 �� ��� �������� ��	��� �� ��� ������� "�
� ���	� 
���
�� ���

���
�� ��
�� �
���� �� ��� �����
	� ��	��
	� αs� #	 
��
�
�	� ��� ������
�$�
%
�� 
	 
	��
������ ��
�� ���
� �
����
���

�� ������	
����

��� ����� ��	 
�������	� 
�������� �� ��� ����� �����	 ��������
����� �	� ��� �����������
 ����� ��	 �������� ������ ��� ���	�
��� ���� ��
������� ��
�����	��� �
�������	�� ���� 
�������� �	

����
�� �	 ����� ��� ��	��� ����� ��	� ����� �������� ��� �������
�	 �	� �	����� �� � �
��� ���� ������ ���
��� ��� �	� �� ������ ���
�	������ 
������ �	 ��� 
����
� �� ����� 
�������	� 
�	 ��
������ 
������
���� �	 ����	 �
�	������ !�� ���� ��� �� ������� �	������ ��� �	���"
���	��	� #��	��� ��������	���
� �#�$� �� ���� ���� �	�������

$���	� ��� 
��� ��	 ����� �� ��� ��� ���� �	� ��� ��� ����
���� �� ���� ����!������ � ����%�	� ������� �� ��� 
�������	 
����
���
����� ������ & �������� �� ��� #���% '���	 (������ �� #'( & ����
�� !����� ��%� � 	����� 
����
�  ���� �	� �� �� ����� � ���� �����
���	���	� ����) ���� ���	 * ��+
 ,*-� ���� �� ������� �� !� ��� 
���
!�
���� �����������
 �������	���
� ���� ���� ����� ����� �� ��� �����
���
����� 
�	 ��

�������� ���
��!� ��� ��
�����	��� ���� ,.-�

*/.
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 ��� 
���� ����	 ������ ���

�	 ��� ���	����� ��������
�� ������ !���� �	 #�$ ���� �� ���
������ �� 
����
� ��
� �	 ����� �	��� �� �������	���
�� !�������� ���
�	� ���� �� ���� 
��� �� ��� & ��� ����� '���� ��	��	���� ��'��
�0�
���� ������ ,1- & ���	 
����
� �� ��� �����	� 2���� ��2� � 	�������
��	������	�� 
������� PL �� ��� ������ �� ��� �	����� ����� ���� �
����� �

����� �� ��� �	���� ��	���� ε �	� ��� ���	������ 
�������
PT ,3-� 4� 
�	������ �������	���
� ��� ���	� ��� 
��������� � �����
�	������
� �� ��� ������� ���� �

���	� 
������ !�����	 ������ �	�
��
�����	� ��� ��� �� ��
���� � ��������	� �	�����

��
������	� �� ��� �'� ��� ��������� 	������ 2	� 
�	 ��� ���
�	���	
� �� ��%� �	�� �

��	� ��� 	��� �� �����	� ����� �5�2�� !��
��� ������� ��� ���	 ����� ,6-) !�
���� �� ��� 
����	
� �� 7��!��
�	���!������� �	 ��� ������ ,8-� ��� 
�������� �� ��� ������ �	
�����
��
�	�	������ �	� ������� �� ���� ���� �� �	9	���� : !�� ���
 ���"
���� ��� �
������ �	 ,/- ����� �� ��� ����	 ���� �	� 
�	 ������
��� ��� ������� �����	� ����� �� ��
� ����� �� ��� 
�����!����� ��"

�	���	 !� ;��� ������	� 
�����
���� �	 �	����� 
�	�����	 ������ !� ���
��
��
������	 �� ��� �2 �	� ��� 5�2� ���� ������ !��	� �������� !�
��	��� �������	 	��!��� �	� 
��
���� ���	%� �� � *"���
 
��
�"
�����	� ��� 
�����
�� ��������	 ���� ����  �
�����	� �	����� 
�	�����	

�	 !� 
�������� 	�����
���� ���� ��� ���
 �� � <�	��"����� �<��
������� �	� �� �������� �� �� ��� 
�����
�� ��������
�� ������� :� �

���� �� 
�	
�
�� ���� ������ ��� ��

�������� ������ ��� �
���� ������
�	 ,=&*>-� ��� �	�� ��������
�� �	������	� �����	� �
 �� 	�� �	 ���
�'� ��������% ��� ��� 
����
� 5�2 �
�
�����

�	 ���� 
��
����	�� �� 
����	� ��� �
�
���� 
����
��� �������
�	 ,**- ��� ��� 9��� ����� �	� ��� �� �� �	 �	
�� �� ��� 
�����
��
��������
�� ������ �	 ����� �� 
��
��� ��� ���� ��������	 �� ���
�	����"����	��� ��	��� T μν � �� ��� ������� �� 	�� ��� ������
������
�?�� ,*.-� �	 ��
���	 . �� ���� ������ ��� �	����� 
�	�����	 �����
����� ��� ��
���	 1 �� ������� �� ��� 	�����
�� ��������

�� �����
� ���������� �� ��� ��� �����

�	
	 ��

�	 ��� ��� �������	�� �� ���� ��%� ��� ����� @�
%&A
���	��� �����

���
� Aτ = 0� a, b, c ���	� ��� 
���� �	��
��� ����� i, j, k ��	���



��� ���� �� ���	���	����� �	� ������

���	������ �
����� �	��
��� ���B� ��
��� ��� 
�	���� ������ �� ,*1- ����
����� �	 ��� �'� ��������% �	� �	 ��� (τ, η, x, y) 
�����	��� ������
��� ����� 9���� �� �2 ;��� �!��� ��� ����� 
�	� �τ = 0+�

Aia(x⊥) = αia1 (x⊥) + αia2 (x⊥),

Aηa(x⊥) =
ig

2
αiab1 (x⊥)αib2 (x⊥),

����� ��� 9���� αaλ=1,2 ���� � 
����� ��
�	� �	 (x±,x⊥) ��� 
���
������ ������ !� ��� 7����	 ��	�� Uλ

αiabλ (x⊥) =
i

g
Uac†λ (x⊥)∂iUcbλ (x⊥),

Uλ(x⊥) = exp
(
−ig 1

∇2
⊥
ρλ(x⊥)

)
, �*�

Qs !��	� ��� ���������	 �
���� �	� ��� ρ ∼ Q2

g !��	� ��	��� 
����

����
�� ���
��!�� !� � 
��!�!����� ������!����	 ��	
���	��

�	�	 
��

��%�	� �����  �
������	� �� 
��	� ����� �	 ��� ������ 
��� ����
C��	��� �	��
�� (k⊥, ν)� 
�����?����	 λ �	� 
���� c) aμak⊥νλc =
δac ε

μ
kλe

ikx ���� ��� 
�����?����	 ��
��� εμkλ ��������	� kμε
μ
kλ = 0 �	�

εikλε
i
kλ′ = δλλ′ � ��� ��
�	� ������ �!���	�� �	 ,**- ���� ����� �����

 �
������	� �� τ = 0+� ����� ���� ���� 
��
������ �	 ��
 �� ��� ���
	�
����

aiak⊥νλc = F+,ia
k⊥νλc + F−,iak⊥νλc , aηak⊥νλc = Diab

(F+,ib
k⊥νλc

2 + iν
− F−,ibk⊥νλc

2 − iν

)
.

�.�
����

F±,iak⊥νλc(τ, η,x⊥) = Γ(∓iν) e± νπ
2 eiνη Uab†1,2 (x⊥)

[
δjk − 2kj⊥k

k
⊥

k2
⊥

]
εkkλ×

×
∫

d2p⊥
(2π)2

eip⊥·x⊥ Ũbc2,1(p⊥ + k⊥)
(
p2
⊥τ

2k⊥

)±iν [
δij − 2pi⊥p

j
⊥

p2
⊥

]
. �1�

�"�
� �
���� ����	�� �	 ��� �	���� ��
�� ������� ��� &#���' ���
�
�	 ()*+�
"�� ������� 
������	�
�
�	 �� ��� �	���� ����	��	�� �

 ��� &#���' ���
�
�	

� %���	� ��� ����� �� ��
� �
���� 
	� 
� ��������� ���� ��� 
 ������� ������
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��	� ��� ����� ��������	 �� ���  �
���"
���	� ������� ��� 
��� ����� 
�	�� �	� ���� ��� 
����
� 5�2 �
�
����
�� 
������� !�� ����� 
��
�� ���� τ = 0+�

�	�	 �����������

�	 
�����
�� D�	�"<���� �D<� ���������	�� �� ��� ����
���� �	 ,6-
���� ��
���� �������	
�� 
�	 
����� ��� 	�����
�� ������� �� �	� ����
��
����� ��
�	��	�  �
������	� �	 ��
 �� �*�� 2	� ��� �� 
��
����	�
���� 
��!��� ��� ���	� �	 ,/-� ����� ��� ������� ��9	�� � ��������
�	����"����	��� ��	��� ��

T μνresum =
∫ [Da]F0

[
a
]
T μν

LO
[A + a](x), �3�

���� F0

[
a
]
!��	� � '������	 ������!����	 �� �����	
� ��
����� !� ���

�
�
���� ��  �
������	� �.�� ���� T μν����� ��%�� ����� �	�� �

��	� ���
9��� ����� �� C��	��� 
����
���	�� �	� � ��!��� �� ����� ������ �����

����
���	�� 7��	 �

���� �� �
���� ������ ,=&*>-� ���� ������� ���
�!�� �� �

��	� ��� ��� ��� ��
���
�
�
 ��	���������	� �� � 
����!��
��������?����	 �� ��� ������) ��� ��������	 �� �	 �C�����	 �� ������
�	� �	 ������
�?����	 �� ��� 
��������� 7� ���� ��������� �

�� �3� ��
��� D< 
����

�� �	����

� ���	���

�	
	 
�������� ��������������

�� ��� ����	 �	 ,/- ���� ��������	� 	�����
���� �3� ����	�� �� �� �
<�	��"����� ���
��	� �� ��� �	����� 
�	�����	 ������ !� ��� ��� ��
��� 
�����
�� !�
%����	� 9��� �*� �	� ��� 5�2 �
�
���� �.� ��������
!� ��	��� �������	 
��E
��	��

Aμa = Aμa +

√
1

2πV
Re
∫

k⊥ν

∑

λc

aμaνk⊥λcc
cλ
νk⊥ , �6�

V !��	� ��� �����
� ������ �	� ccνk⊥λ !��	� ��	��� 
��
��� �������	
	��!��� �� �����	
� �	�

〈
ccλνk⊥c

dλ′∗
ν′k′

⊥

〉
= δνν′δk⊥k′

⊥δ
λλ′
δcd. �8�
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2	� ���	 ;��� 
������ ��� ���� ��������	 �� �6� ������� ��� 
�����
��
D�	�"<���� �C�����	� ���� �	 �������	��	 ����������	

Eμa = − τgμν∂τAνa, ∂τEμa = τ gμνDρabFb
ρν , �/�

���� ��� �����B� ��� 
�	�����	� Dab
μ Eμb = 0. �	 ��� 
��
���� �	� ���

�� ��
��	�� ��� ��� �� ��� A ���� ��	% �����!��� Uμ = e−igaμAμ �	
����� �� ���
��� 
������� ����� �	�����	
� �	 ��� �����
�� ��� aμ ���
��� �����
� �
�
�	�� �	 ��� μ ����
���	�

�� �	����

� ���	���

�	 9���� * �� �������?� ���� �� 
�������� 	�����
�����
7��� �� 
��
��� �� 
������� ����� �� ��� ����� P

T,L
/ε� ��� ��0��"

�	� 
��
�	�	�� �� T μνresum !��	� �������� ���� ��� �����
� ������ �	�
��� <� ������� ���� �� ���� �� 9	� 	�����
���� ��� g = 0.1 �	�
g = 0.5�

7��� �� ��� �� ���� ��� g = 0.1� ��� �������� ������ �����
���
���� �3� �� ���� 
���� ���� ��� 
��� �2 ���������	� ���� �������� ����
��� �	���!������� ���� 	�� ��� 
����� ����� ���� �� ���� ����� �����
��� ��
� � ����� ����� �� ��� 
��
��	�� 4� 
�	������ g = 0.5 ����
�	 ��
����	� C���������� 
��	��) ��� ��	������	�� 
������� �	
������

Nucleus 1

x−

Nucleus 2

x+

Aμa = 0
aμa
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ḡ2
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�r 2
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(�k 2)ε
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−

−[k, r2
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}
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(
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x2�q 2
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, I�p,�q = I−�p,−�q = I�q,�p = I�p,−�p−�q.
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�q 4
1

)

+

+ ln
(

(�q1 − �r1)2

�k 2

)
ln

(
�k 4�r 2

1

(�q1 − �r1)4�q 2
1

)

+ ln
(
�r 2
2

�k 2

)
ln
(

(�q1 − �r1)2

�r 2
2

)
−



������ ����
�� �
� ��

�
	�
��
	 ���	����
	 ���

−4
(�k 2)ε

ε2
+ 8ζ(2) +

[
q1, r1

]
I�q1,−�r1 − [k, r2]I�k,�r2+

+
q+2 (q+1 − r+1 )

k+r+1

(
[
r1, r2

]
I�r1,�r2 +

[
q1, r1

]
I�q1,−�r1+

+2
[
k, r2

]
I�k,�r2 + 2

[
q1, k

]
I�q1,−�k

)}

. �7�

"��
 ��		�����
 ��		�
��
�
 �� ��� 
��
��	� ��	
��) 	������ /��� ���
��	
�� �
�� ��	 ����������
 �� ��� 	����
��	 �����	 #� ��� 
�����	���
�	�

��	�����
 ��� ! 4�		�
��
��
� �	�

��	�����
 ��	 ��� ������
�����	 �


〈GR1| → 〈GR1| − 1
4
〈GR1|(B)

[

ln

(

�̂q 2
1 �̂q

2
2

)

, K̂(B)
rem

]

, �-�

/��	� K̂(B)
rem �
 ��� ��	
��) �
�� ��	 ����������
 �� ��� 	����
��	 �����	

�
 ��� �D! E
�
� ��� 	�
��� �� �
���	����


−1
4
〈GR1|(B)

[

ln

(

�̂q 2
1 �̂q

2
2

)

, K̂(B)
rem

]

|G1G2〉 =

= 〈GR1|G1G2〉(B) ḡ
2

8

{
q+2 (q+1 − r+1 )

k+r+1

[

ln
(
�q 2
2

�r 2
2

)
ln
(

�q 4
2

�r 2
1 �r

2
2

)
+

+ ln
(
�q 2
1

�k 2

)
ln
(
�r 2
2

�q 2
2

)
+ ln

(
(�q1 − �r1)2

�q 2
1

)
ln

(
�k 2�q 2

1

�r 2
1 �r

2
2

)]

−

− ln
(
�r 2
1

�r 2
2

)
ln

(
�k 2�r 2

1

�q 2
1 �r

2
2

)

−ln

(
�k 2�q 2

1

�r 2
1 �r

2
2

)

ln

(
(�q1 − �r1)4

�k 2�q 2
1

)

+2
[
k, r2

]
I�k,�r2−

−2
[
q1, r1

]
I�q1,−�r1 +

q+2 (q+1 − r+1 )
k+r+1

(
[
r1, r2

]
I�r1,�r2 +

[
q1, r1

]
I�q1,−�r1−

−[k, r2
]
I�k,�r2 −

[
q1, k

]
I�q1,−�k

)}

, �;�

/� �#���
 ��		�����
 �� ��� �	�

��	��� ������ �����	

ΦG1G2GR1(t)
=
ḡ2

8

{
q+2 (q+1 −r+1 )

k+r+1
ln
(
�q 2
2 (�q1−�r1)2
�q 2
1 �r

2
2

)
ln
(

(�q1−�r1)4�q 2
1
�k 2�r 2

1

�r 6
2 �q

4
2

)
−



��� ���� �� ���	
��	
�

� �	� ���
��

−3 ln2

(
�k 2�r 2

1

�q 2
1 �r

2
2

)

+ 4 ln
(
�q 2
2

�q 2
1

)
ln

(
�q 4
2 (�q1 − �r1)4

�q 2
1 �r

2
2
�k 2�r 2

1

)

−

−4 ln
(
�q 2
2 (�q1 − �r1)2

�q 2
1 �r

2
2

)
ln

(
�q 2
2 (�q1 − �r1)2

�k 2�r 2
1

)

− 4 ln2

(
�q 2
1

�q 2
2

)
−

−8
(�k 2)ε

ε2
+ 16ζ(2) + 3

q+2 (q+1 − r+1 )
k+r+1

×

×
(
[
r1, r2

]
I�r1,�r2 +

[
q1, r1

]
I�q1,−�r1 +

[
k, r2

]
I�k,�r2 +

[
q1, k

]
I�q1,−�k

)}

. �.�

��� �� �
 
�� ��� �
� �� ��� 
��	�! $
 �� �
 �
�/
) ��&
����
 �� +�D
������ �����	
 ����
�
 �
 �
 �
�	�� 
���� /���� �
 �
��! "�� �
�	��

���� �
�� �� ��&
����
 �� ��� ������ �����	 �7� �
�� �, � ��G�	
 �	��
��� �
�	�� 
���� �
�� ��	 ����������
 �� ��� 	����
��	 �����	 ��> ! "�
��2�
� ��� ������ �����	 �7� �� ��� �
�	�� 
���� �
�� �
 ��> ) /� 
���
�� ��� �� �.� ��� ��	�

−1
2

ln
(
�q 2
2

�q 2
1

)
〈GR1|(B)K̂(B)

rem|G1G2〉 = 〈GR1|G1G2〉(B) ḡ
2

2
ln
(
�q 2
2

�q 2
1

)
×

×
{
q+2 (q+1 − r+1 )

k+r+1
ln
(
�q 2
2 (�q1 − �r1)2

�q 2
1 �r

2
2

)
− ln

(
�q 4
2 (�q1 − �r1)4

�q 2
1 �r

2
2
�k 2�r 2

1

)}

. ��>�

$���	 ���
) �
�
� �	���	���
 �� ��
����

 I�a,�b) /� �#���


ΦG1G2(1)GR1
=
ḡ2

8

{

(1 − z)

[

ln
( |1 − z|2

|z|2
)

ln
( |1 − z|4

|z|6
)
−

−3Li2(z) + 3Li2(z∗) − 3
2

ln |z|2 ln
1 − z

1 − z∗

]

− 4 ln |1 − z|2 ln
|1 − z|2
|z|2 −

−3 ln2 |z|2 − 4 ln2

(
�q 2
1

�q 2
2

)
− 8

(�k 2)ε

ε2
+ 16ζ(2)

}

, ����

/��	� ��� 	���� z = −q+1 r+2 /(k+r+1 ) �
 ��
��	��� �
��	��
�! ��
����)
�
 �	��	 �� ���� �� ��� ������ �����	 ��	 ����������
 �� ��� 	���
��	
��
����
) �
� ��
 �� ��
��	� ��� ��	�
 ḡ2

( − (1/2) ln2(�q 2
1 /�q

2
2 ) −

(�k 2)ε/ε2 + 3ζ(2)
)

�
 ����) 
�
�� ���� �	� ��	���� ����
 �
�� �����
�
�
 ��� �58 �

��%!
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�
 �
 ���� �����	 �� 
�� ���
�� ��� �� 
�� ���� ��� �
���
�� 
�� ����� ��
� ����������� ��� � �
���

	 ��
������

�� ������	
����

��� ������ 	����
 �� ���
	������ ���
����� �� 	�� ���
	������������
���
� �� �� ���� ��������	 ��	� ���������	�� ��	��� ��
������ 	��
��	��	 ���� ���� ���� ���� ����� �� � ����� 	����
 ����� �� 	��
����� ����� SU(2)×U(1)� ���
� �� 	�� ����
	 �����
	 �� 	�� ������
������� ��� �����	��� �� ����� 
��	��
	��� � ! 	��������� � ������
�� ���������� ����� 	� � ������������� ���� "�� ��		�� ������	���#
��� �� � 
�����
�	�� ��
��
�� �
�	�� �	 �� ������ 	� ��$��	���	� �	�
����	� ��� ����	��� $����� �� �	� ��
��
�� ������	���� %� 	��� �����
�� ���
��� �	 	�� ��$�� �� 
�����
�� ����� &���� 	�� ����&�� ���
#
	������ ����� ��	� 	�� 
��	��
	�� ����� ����� SU(2; j) × U(1)� %	
��� ����� �'()! 	��	 	�� 
��	��
	��� ������	�� ������ �� 	�� ��#
���
 s �� 
��	��#��#���� �
�	�� j2(s) = g

mW

√
s� �� 	�� 
��	��
	��

����� ����� 
��������� 	� 	�� *��� �����
 ����	 �� 	�� ���
	������

 +,



����������	 
���� �� ���� �
���� ���

������ -

������ 	� 	�� ������� 	����
 �� ����#.��������� �����#
	�
 �/�,! .��������� &��� ���
� �� 	�� ���
	������ ����� �� ����	 ��
	�� ����	 j2 → 0(s→ 0) �� 	�� ���� ���
� ��� 	�� &��� ���
��� ���
���������� �� 	�� ���
	������ ����� �� ����	 �� 	�� *��� �����
 ����	
�� 	�� ���	�0 ���������� �� 	�� ���� ��� ���������� �� 	�� &����
1� ��	��� ��	� 	���� ������������

�� 
������ ���
������� 
����

1� 
������� 	�� ���
	����������� ����� 	�� 
��	��
	�� ����� �����
SU(2; j) × U(1) �
	� �� 	�� ������ ���	�� ��� 2���� ��
	���� ���

��	��
	�� ����� SU(2; j) ��� �	� ��������	�� ��������	�	��� ���
�
C2(j) ��� ��	����� �
 	�� ��	�
���	� ������
	
 �� 	�� ����� SU(2)
��� 	�� ���
� C2

z′(j) =
(
jz′1
z′2

)
=
(

α jβ
−jβ̄ ᾱ

)(
jz1
z2

)
= u(j)z(j),

detu(j) = |α|2 + j2|β|2 = 1, u(j)u†(j) = 1 3 4

���� 
��	��
	��� ������	�� 	���� 	� *��� j → 0 �� �� �2��� 	� 	��
�����	��	 ���	 j = ι, ι2 = 0. ��� 
��	��
	�� ����� SU(2; ι) �� ������#
���
 	� ��
��� ����� E(2) ��� 	�� ���
� C2(ι) �� 	�� &��� ���
� ��	�
	�� ���#��������� ���� {z2} ��� 	�� ���#��������� &��� {z1}� ���
�
	���� �� 	�� ���	��
 ����� U(1) ��� 	�� ���
	�������	�
 ��������
U(1)em �� 	�� ���
� C2(j) ��� ��$�� �
 	�� ���� ��	��
�� �� �� C2�

��� ���
� C2(j) 
�� �� ��	����� ���� C2 �
 	�� ����	�	�	���
z1 → jz1� ���
� ����
�� 	�� ����	�	�	��� �� ��� ������� ������	���0
T1 → jT1, T2 → jT2, T3 → T3. -� ��� �� 	�� ����� &���� 	���
	���� $����� �� ��� �������� �� 
�� ����	�	�	� 	�� ����� &���� ��#
�	��� �� 	����������� 	�� ������	���� �����
0 A1

μ → jA1
μ, A2

μ →
jA2

μ, A3
μ → A3

μ, Bμ → Bμ."�� 	�� �	������ ����� ����� &����
	���� ����	�	�	���� ��� �� �������0

W±μ → jW±μ , Zμ → Zμ, Aμ → Aμ. 3'4

��� &���� Ll =
(
νl
el

)
, Ql =

(
ul
dl

)
��� SU(2)#������	�� ���� $�
#

	��� �� 	�� ���
� C2� �� 	���� 
�������	� ��� 	���������� ������� 	�



��� ���� �� ���
�
�
����� �
� ������

	�� 
�������	� �� z� �����
0

νl → jνl, el → el, ul → jul, dl → dl. 354

��� ����	 ���	�� ��� 2���� &���� ��� SU(2)#������	�� ���� �
������ ���
	�������� ��� ��	 	�����������

-�	�� 	���������	���� 3'4� 354 	�� ����� ���������� �� 	�� ���
#
	������ ����� 
�� �� ��������	�� �� 	�� ����

LB(j) = L
(2)
B (j) + LintB (j) =

=
1
2

(∂μχ)2 − 1
2
m2
χχ

2 − 1
4
ZμνZμν +

1
2
m2
ZZμZμ − 1

4
FμνFμν+

+j2
{
−1

2
W+
μνW−μν +m2

WW
+
μ W

−
μ

}
+ LintB (j) = LB,b + j2LB,f , 3)4

����� �� ����� 	�� ��
��� ����� 	���� ���
���� 	�� ����� ���	�
���

��	��	 �� 	�� ����� ��� ������ ����� 	���� LintB ��� �������� ��
	���� ��	���
	����� 6� ���������� 3)4 ��
����� 
������ W #������
��	� ����	�
�� ����mW = 1

2gv� �������� ���	�� Aμ, ���	��� Z#�����

��	� ���� mZ = v
2

√
g2 + g′2 ��� ����� ����� χ, mχ =

√
2λv� %�

	�� ����	 j → 0 ����� ���������� �� ����	 �� 	�� ���	�0 ����������
LB,b �� 	�� ���� &����

LB,b =
1
2

(∂μχ)2 − 1
2
m2
χχ

2 − 1
4
Z2
μν +

1
2
m2
Z (Zμ)

2 − 1
4
F2
μν+

+
gmz

2 cos θW
(Zμ)

2
χ− λvχ3 +

g2

8 cos2 θW
(Zμ)

2
χ2 − λ

4
χ4 3/4

��� ���������� LB,f �� 	�� &����� ���
� ��� �� 	�� &���

LB,f = −1
2
W+
μνW−μν +m2

WW
+
μ W

−
μ −

−2ig
(
W+
μ W

−
ν −W−μ W

+
ν

)
(Fμν sin θW + Zμν cos θW ) + gW+

μ W
−
μ χ−

− i

2
e
[
Aμ
(W+

μνW
−
ν −W−μνW+

ν

)−Aν
(W+

μνW
−
μ −W−μνW+

μ

)]−

− i

2
g cos θW

[
Zμ
(W+

μνW
−
ν −W−μνW+

ν

)− Zν
(W+

μνW
−
μ −W−μνW+

μ

)]
+



����������	 
���� �� ���� �
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+
g2

4
(
W+
μ W

−
ν −W−μ W

+
ν

)2 +
g2

4
W+
μ W

−
ν χ

2−

−e
2

4

{[(
W+
μ

)2 +
(
W−μ

)2] (Aν)2 − 2
(
W+
μ W

+
ν +W−μ W

−
ν

)
AμAν+

+
[(
W+
ν

)2 +
(
W−ν

)2] (Aμ)2
}
−g

2

4
cos θW

{[(
W+
μ

)2 +
(
W−μ

)2] (Zν)2−

−2
(
W+
μ W

+
ν +W−μ W

−
ν

)
ZμZν +

[(
W+
ν

)2 +
(
W−ν

)2] (Zμ)2
}
−

−eg cos θW
{
W+
μ W

−
μ AνZν +W+

ν W
−
ν AμZμ−

−1
2
(
W+
μ W

−
ν +W+

ν W
−
μ

)
(AμZν +AνZμ)

}
. 3,4
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	��� ��� ���	���� &����
	���� 	�� ����

LL(j) = e†l iτ̃μ∂μel + e†riτμ∂μer −me(e†rel + e†l er)+

+
g cos 2θw
2 cos θw

e†l τ̃μZμel − ee†l τ̃μAμel − g′ cos θwe†rτμAμer+

+g′ sin θwe†rτμZμer + j2
{
ν†l iτ̃μ∂μνl +

g

2 cos θw
ν†l τ̃μZμνl+

+
g√
2

[
ν†l τ̃μW

+
μ el + e†l τ̃μW

−
μ νl

]}
= LL,b + j2LL,f . 374
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LQ(j) = d†l iτ̃μ∂μdl + d†riτμ∂μdr −md(d†rdl + d†l dr) −
e

3
d†l τ̃μAμdl−

− g

cos θw

(
1
2
− 2

3
sin2 θw

)
d†l τ̃μZμdl−

1
3
g′ cos θwd†rτμAμdr+

1
3
g′ sin θwd†rτμZμdr−

+j2
{
u†l iτ̃μ∂μul+u

†
riτμ∂μur−mu(u†rul+u

†
lur)+

g

cos θw

(
1
2
− 2

3
sin2 θw

)
u†l τ̃μZμul+

+
2e
3
u†l τ̃μAμul+

g√
2

[
u†l τ̃μW

+
μ dl + d†l τ̃μW

−
μ ul

]
+

2
3
g′ cos θwu†rτμAμur−

−2
3
g′ sin θwu†rτμZμur

}
= LQ,b + j2LQ,f . 3+4
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����	��	� me = hev/
√

2� mu = huv/
√

2, md = hdv/
√

2 ��������	�
���
	��� ��� 2���� �������

��� 
�����	� ���������� �� 	�� ����&�� ����� �� ��$�� �
 	��
���

L(j) = LB(j) + LQ(j) + LL(j) =

= LB,b + LL,b + LQ,b + j2 {LB,f + LL,f + LQ,f} = Lb + j2Lf . 384
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 �� γZ 
���� �	 ��� ����
 ��
�	 ��
�� h → γZ
��� ��

�

��� � 	�	���� ����� �� ��� �����	 
��
���� �����������	 ���
�
 ���
�� ���
�	
� �� CP ����	 �	� CP ���� ����
 �	 ��� hγZ ���
���� �����	���	
�	� ��
 	�	��������
���� ���
�����	� �� ��� 
��
���� �����������	 �������
����������
����� �
������� �� ������	
 �	 ��� ��
�� h → γZ → γff̄ ����
����� �	� �� 
���
� ��� ��������	 ���� ��� 
��	���� ������

�� ������	
����

��� ����� ��	 
�� �
����
����
�� �� ��� ��
 
������	 � �
�
�
h ���� ���� ��
��	 ��� ���� ��
��� ��� 	��� ��� �
�� �
��������
���� ���  ��� ������ �
�
� �! 
������ ���� ���  ���  ���	
������

��" ����� ��� ���! �#�����
�� 
$ ��� ����	��	 �
	�� %��& ���� �
�
�� �
� ������	 ����� ����
�" �� ����� �
�� 
$ ��� ����� �
�
��
��! �
� ���� 	�'���� CP  ����! (�)�

*� ������� �
 ���	! CP ��	  
������ CPT ��
����
� �� ��� 	���!

h→ γ Z → γ f f̄ , %�&

���� f = �, q" ����� � %q& 	��
�� �� �
�� %+���,�&�

�-�
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 �
��������
�� (�) ����� ���� �
�/��
 ��������!  ��� 	��
�
 ������������ �0���� h → f f̄ → γ Z %f ��� $����
�� ���� ������

mf ≤ mh/2&� ��� �0������ h γ Z ���������
� ���������� LhγZeff ��
���� �
�1���������� ���� �
�1����������! ���	� �
 � �
�/��
 �����

$ ��� ���  �
�
� ��������  
����/���
� �� 	���! %�& 
��� �� ������

� ��#���� 
$ CP ��
������ ���� �� LhγZeff � .� ��� �� ��	 ���
����
��!
�	 ��� �� ����� ��� CPT �!�������" ����� ��� �
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����� 
$
�
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� ������������ �0�����
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��� �� � �
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����/ ����������" �
���1
��!" �
������
� ������� � �� ��	 ����������" ��	 � ��������� �����1
�
���� (2)� �
����� ����� ��� ���! �#�����
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$ ��� �� �� �����
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����
� �  ���� 	�� �
 �
��
�����! �� ��� ������ ���
�!" 
� ��
1
����
� 
$ �
����/ �!�����! �� ��� �#��� 	������
��� �
	��� (3)� 4��
��� ���
 �����
�  
������ 	������
�� $�
� ��� ����	��	 +������ ��1
�������� ��
����
� 
$ ������ �� �
�� �
	��� 
$ +������ ������! %���"
����" �����������
� (5) 
$ CPT ��
����
� �� �������1���
� �!�����&�
��� CPT ��
������ �0���� �� �
�� 
$ ����� ��	���!��� ���
����" ��
 ����� ��" ��� �� �		���
��� �
����� 
$ �
�1����������! 
$ �0������ ��1
�������� LhγZeff ��	 ����� �
�������� �
  �
�
� ��������  
����/���
��

�� 
��
���� ���������� ��� ��
�� h→γZ →γff̄

��� �0������ ���������� $
� ��� h γ Z ���������
� ��� �� ������� ��

LhγZeff =
e g

16 π2 v

(
c1Z ZμνF

μνh−
−c2Z (∂μhZν − ∂νhZμ)Fμν − c̃Z ZμνF̃

μνh
)
, %�&

����� e �� ���  
����
� �������� ������" g �� ��� SU(2)L �
� ����

�
������ ��	 v =
(√

2GF

)−1/2 ≈ 246 ���" Fμν ��	 Zμν ��� ��� '��	

��������� $
� ��� ������
�������� ��	 Z '��	" F̃μν = εμναβF
αβ/2"

c1Z " c2Z ��	 c̃Z ��� 	������
����� �0������ �
� ���� �
��������
��� �����  �
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��� �
 c1Z ��	 c2Z �
���� 
�	 �
 � CP 1����

������ h" ����� ��� ����  �
 
���
��� �
 c̃Z ��	������ � CP 1
		  ���1
	
������ h� ���  ������� 
$ �
�� ���� ����� ���� h �� �
� � CP
���������� ��	 �����$������ 
$ ����� ����� ���	 �
 CP ��
������ �$1
$���� ����� ������ ��  
����/���
� ������ 
$ ���  �
�
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4�� ��� ����� c1Z �� ��� ��� 
$ ����� �� ��� �� ��	 ���  �!����
%67& ��!
�	 ��� ��8 c1Z = cSM

Z +cNP
1Z � .� ��� ��" c2Z = c̃Z = 0 ��	
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 ������ �
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 +���,&)�
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� ���� �+��� ����������� ���� ���
�� $
� ����������� 
$ ���
 �
�
� ��������  
����/���
�" 	�������	 �! ���  �������� ξ2"

ξ2 =
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|H+|2 + |H−|2 =

2 Im((c1Z + c2Z)c̃∗Z)
|c1Z + c2Z |2 + |c̃Z |2 , %2&
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Γ
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d cos θ
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3
8
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)
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�� ���	�� �� ���������� ��� ���
	�����

.� ��� �� ���  ��������� ��,� ������ ξSM1 = ξSM2 = 0" ξSM3 = −1"
��	 	������
�� 
$ ��� �������	 ������ 
$ ξi $�
� ξSMi %i = 1, 2, 3&
����  
��� �
 �0���� 
$ 67�

.� 
�	�� �
 �������� �������	� 
$ �0���� 
$ 67" �� �
���	�� �
�
	�� ���� ��� ������ ��	  ���	
������ �
� ����� 
$ $����
�� �
 ���



����� ����� �	
�� 
� ���
�� ���

����� �
�
�� ��� ���������	 �� ���� �
	��  ��������� ���

ξ1 = ±0.121, ξ2 = ∓0.001, ξ3 = −0.993. %5&

.� :�$� (�) �� ���
 ���	 �0������ '��	1���
�! �  �
��� (<) �� �����
67 �� 	�������	 �! ��� 	������
�1� 
 ����
�� �� ��� '��	� 
$ ��� ���

.� ����� 
�� ���� ��� ������������ �0���� 
� ��� 
��1�

 ����� ��1
���� �� ������ 
$ ξ2 �� ��� h → γZ 	���! ��
�� 10−3� .� �
��	 �� 
$
�������� �
 ����, �� ��� �# ��������� ����!��� 
$ ��� 	���������
� %3&
�$ ���  �������� ξ2 �� ���! ����� ��	��	� .$ ��� ����!��� !���	�	 ��/1
���� ������ 
$ ξ2" ���� �
��	 ���� ���  ������� 
$ �		���
��� �
�����

$ �
�1����������! 
$ �0������ ����������� ��� ������ ��! �����" $
�
�#�� ��" 	�� �
 ��� ����,��� 
$ ����������! �� �� ��	���!��� %$��1
	�������& ���
�! �� ���! ����� 	��������� ���� ����������� 
$ ���
 �
�
� ��������  
����/���
� �� ��� h → γZ → γf̄f 	���! ���
���
��� $
����	1���,���	 ��!�����! AFB ��� �� ���$�� $
� ��������� $
�
	������
�� $�
� ��� �� ��	  
������ �0���� 
$ CPT ��
����
��

���  ��������� ξ1, ξ3 ��� �� �#������	 $�
� ��� �/������� �����
	���������
� �� ���  �
���� h → γ∗ Z → �+�− Z ���� 	���! Z → f̄f

� ���� ����� (�)� �����  ��������� ����! ��$
�����
� 
� ��� CP
 �
 ������ 
$ ��� ����� �
�
�" ��	 ����� �# ��������� 	����������
�
���  �� �
��������� 
� �
	��� 
$  �!���� ��!
�	 ��� ���

���	
��
��
�
	��

��=��>� ����,� ��� 4�����/��� 
$ ��� 

�$������ ?6�� ����	� �� ����1
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�
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�� ������	��
��� ��� ����� �
�
�� 
� ��� ���
�
 ��� ���
�� ���
	
�������� �
 �� �������� �
 ���� ����� ��������	� ��� 	
�����
���
����
 ���
�����!������
� "� ��� ������� ����� �� �� ��
#� ���� ���
��� $��������� ��
��� �� �
��%�� �
 ��� ������ ���
� ������ �

������ ���� ��� �
�� �
� 	
������	� �
 �&���������� '� ����������
���
�����!������
 
� ��� ��������� ���
�
 �� ���	������

(� ��� $��������� 
� ��� ��

LQCD = −1
4
F aμνF

a
μν + iψfγμDμψf −mfψfψf−

−1
ξ
(∂μAaμ)

2 + ∂μca(∂μca − gfabccbAcμ) + counterterms, ���

#���� F aμν = ∂μA
a
ν − ∂νA

a
μ + gfabcAbμA

c
ν �� ��� ���
� %��� ��������

����
� Dμ = ∂μ − igAaμT
a �� ��� 	
������� ����������� ��� )���*

%���� ψf ������
�� �� ��� ����������� ������������
� 
� ��� 	
�
��
��
�� SU(3) f = u, d, s, c, b, t �� ��� +��
�� ����&� ��� ���
�� Aaμ

�,-



������� ��	
�
�����
�� ���

������
�� �� ��� ��.
��� ������������
� 
� ���� ��
��� ca ��� ���
��
�� %���� ξ �� ��� ����� ��������� 
� ��� ������
 	�
��� �������
	
������� ����� fabc ��� ��� ����	���� 	
������� 
� ��� ��
�� T a

��� ��� �������
�� 
� ��� ����������� ������������
�� g = g(μ) �� ���
���
�����!�� ���
�� 	
������ 	
������ g2/(16π2) ≡ as mf = mf (μ)
�� ��� $��������� ����
�����!��� ���� 
� � )���* #��� � +��
� f  
��� μ �� ��� ���
�����!���
� �
���� ��� �������
�� 
��� ��������
����&�� ��� ��������

/� $�� �� 	
������ ��� ��	��� �
����!���
� ���	��
� Π(q2)

(−q2gμν + qμqν)Π(q2) = i

∫
dxeiqx〈0| T jμ(x)jν(0) |0〉, �(�

#���� jμ =
∑

f qfψfγμψf �� ��� ���	��
�������	 )���* 	������ ���
qf = 2/3,−1/3, ... �� ��� ���	��
�������	 	����� 
� ��� )���* #��� �
+��
� f �

0		
����� �
 ������� ����	����� 
� �
	�� )������ %��� ���
�
 ���
���	��
� Π(q2) �����%�� ��� 12������$������ �(� ���	���� �����������
��
�

Π(q2) =
1

12π2

∞∫

4m2
π

ds
R(s)

s− q2 − i0
, �/�

#���� ��� ����
 R(s) = σtot(e+e− → hadrons)/σ(e+e− → μ+μ−)
�� ��� �
�����!�� �
��� 	�
�����	��
� 
� ���	��
���
����
� ����������
�
���
 ����
�� mπ �� � ��
� �����

��� 12������$������ ������������
� ���������� ��� ����
��	 ��
��
������ 
� Π(q2) #��	� ��
��� �� �� ����
��	 ���	��
� �� ��� 	
����&
q2������ #��� ��� 	�� �������� ��
� ��� %��� ��
��	�� ������
�� ���� ��
�� �� ��	����� �
 �&��������� ��
� ��� �#
���
� ������
�� q2 = 4m2

π�
"� �����	���� 
�� ���� �
� ��� ���	
�������
 
� Π(q2) 
� ��� 	��

ΔΠ(q2) ≡ Π(q2 + i0)−Π(q2 − i0) =
{
i R(q2)/(6π) at s > 4m2

π,
0 at s < 4m2

π.
�3�

4����������� ��� ��
��	�� ��� �
��
#��� �&������
� �
� ��� ���	
��
������


ΔΠ(q2)pQCD = θ(q2) ρgluon(q2) + θ(q2 − 4M2
u) ρquark(q2). �5�



��� ���� �� ����
���
�
�� ��� ���
	�

��� ���
� ���	���� ������
 ρgluon(q2) 	
��������� �
� q2 > 0 �� �� ��
����	���� �
 ��� ���������	��
� θ(q2)� ���� �� ��� *�
#� !��
 �������

��� "� ������ ��
� ��
�� ���
������ ����� 
� 6�
���� �������� 
�
Π(q2) #��	� ��� ��
��	�� �
 �����
 ���
��	 	��� 
� ��� ��������
����� �
 ��� ���	
�*
 	��� #��	� 	�
�� 
��
 ���
� ��
�����
�� 
� ����
������� 0� �� �� #��� *�
#� ��	� �������� ������ �
� ��� %��� ���� ��
��� �
����

� ����� �� ��� 
���� a3

s �	
�����
����� 	��� 	�
�� / ���
�
��
�����
����

��� )���* ���	���� ������
 ρquark(q2) ������ ��
� ��� )���* 	���

� ��� �������� ����� ��
� ��� 	��� #��	� 	�
�� �#
 
� �
�� )���*
��
�����
�� 
� ��� ���������� "� 	
��������� �
� q2 > 4M2

u #����
Mu �� ��� ������������ �
�� ���� 
� ��� �������� u�)���* ��%���
�� ��� �
�� 
� ��� )���* ��
�����
� #����� ����������
� ���
�
� 0
������������ )���* �
�� ����

Mf = mf (μ) +O(as) �-�

������� ����� �������
� 
� ������������ 	
���	��
�� �
 � )���* ��
��
����
�� "� �� � ���
�����!���
� ��
�� ��������� )������
 ���� ��������
���� 
� ��� ���
�����!���
� �
��� μ ��� 
� ��� 	�
�	� 
� ��� ������	�
��
� �	����� "� ���� ����� �� ������� �� � ��
��	�� 
�.�	� ��� ���� ��
#�
 �� �� ������� �
 ��� ���� ��%����
� 
� � )���* ���� �
 ���������!�
��� ���
�
�

7� #��� �
� ���	��� ���� ��� ���
����� �
 ���������� )�����
�� 
�
	
�������	� 
� ��������	� 
� 	
�����
����� ������������ ��� ������
�� �
# 
� �� ���� ��������� 8��� #� #��� .��� �		��� ���� 
�� 	
�����
��
��� ����������
� ���
�
 �� ���)���� �
 ��� �&�	� �
����
� 
� ���
���
�
 ���� �� 	
���	��
 ����
��	�� ��� ������������ �&�����
� 
� ���
�&�	� �
����
��

8��	� 
�� ���� #����� ��� ���� ΔΠ(q2) �� �
��!��
 �� ��� ���
���
 �������� 0 < q2 < 4m2

π ���	� ��� ������������ 	
��������
�
ΔΠ(q2)pQCD �� �
��!��
 �� ���� ��������� 0�� #� #
��� ��*� �

������ ���� ���� 
�� ��
��� ��� �� ��� �� �&�	� !��
 ���
# ��� �#
�
��
� ������
�� �� �� �� ��	����� �
 �&���������� ����� ��� 
� 	
����
���
 �
�������������� 	
��������
�� ���� 	
��������
�� 
� ��� �
�� 
�
e−1/as #��	� ��� ��������� �� ��� ������������ �&�����
� �� as = 0+

e−1/as = 0 · as + 0 · a2
s + ...
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9�� �
�������������� 	
��������
�� 	�� �
� �&�	��
 	��	�� ��� ����
��������� 	
��������
� �� ��� 	
�����
�� �������� 0 < q2 < 4m2

π ���
	���� 
� ��� ��:����� ��������	� 
� as� �
 ��� ���� ΔΠ(q2) = 0
�� 0 < q2 < 4m2

π �� ��������� #��� �&��������� 
�� ��
��� �
��
������������ ���
� ��� )���* ������
��� ��
�� q2 = 4m2

π� ���� ��
#�
 #� ��
��� ����
��	� ��� �
��!��
 $��������� ���
� �������

��� %��� ����� 
�.�	��
� ���� �� ���� �
�
�
 ������ ����������
�
���
�
 ���
# ��� �#
���
� ������
�� ���� ���� ��� 	
�����
����� ����
��������� ������ �� ������
 ��������� �� ���� �����
 ����
�� 9�� �
� ��
���� 
��
 ��� ����	���� �&�����	� 
� ��� ����������� ������ #��� %����
	
�;	����� ���
# ��� �#
���
� ������
�� �� 
� ���
����	� ��������
�����
 
� ��� )�����
� 
� ��� ��������	��

���� 
�� 
������ ��� �
��
#��� ������	��
�� 
� ��� �������������
�
��� ������ 
� ���
�� ��� )���*�

(3Mgl)2 > 4m2
π, 4M2

u > 4m2
π. �<�

0���
��� ��� ������	��
� 
� Mu ����� �
 �� )���� ���
�� �
� ���
�������� ��)���* �� �� �
� �&	����� ��
� ��� %��� ����	������

3� �
 	
�����	� ��� #��� ������� ���
�� #� #��� �
��
# ���
����
�	� 
� �/�� 4�������
 ���� �� ��� 
��
 *�
#� #�
 �
 ��� �
�
����������� ���
�����!���� ���
�
 
� ������� ���
�� #���
�� 	
�
�
�	����� �	
�
� �	����� ��� ��.�	��� �
 �&����������� 7����� ���� ���
��
�	� 
�� ������ ��
� � ���
�����!���� ���
�
 #��� �	���� %���� �����
��� =�������9�
���8���� ��	������ 
� ��
�����
�� �
�����
 ����*�
��� �3� ��� ����� ��������
� �
 ��� ������
 ����� ���
��� ���������
������� �	���� %����� ���� #� ��� �
 ��� �������� ��� $���������
��� ��� �	���� ���� �
 ����� #��� ��� �
��
#��� ������� $���������

LQCD+scalars = −1
4
F aμνF

a
μν + iψfγμDμψf −mfψfψf +

+ (DμΦ)+DμΦ+(DμΣ)+DμΣ−λ1

(
Φ+Φ − v2

1

)2−λ2

(
Σ+Σ − v2

2

)2 −
−λ3

(
Φ+Φ + Σ+Σ − v2

1 − v2
2

)2 − λ4

(
Φ+Σ

) (
Σ+Φ

)
+

+Lgf + Lgc + counterterms, �>�

#���� #� ����
��	�� �#
 �������� Φ(x) ��� Σ(x) 
� 	
����& �	����
%���� �� ��� ����������� ������������
� 
� ��� SU(3) 	
�
� ��
�� �




��� ���� �� ����
���
�
�� ��� ���
	�

��� ��� ���
� �������� Lgf �� ��� ����� %&��� ���� 
� ��� $��������� ��
�
�� 	�
��� ����� ��� Lgc �� ��� 	
�����
����� ����� 	
����������
���� #��� ��� 6�������4
�
� ��
�� %�����

7� 	�� 	�

�� ��� �
��
#��� ������ 
� �	���� %���� �
 ��� )���������
v1 ��� v2 �
 �������� ������ 
� ��� ����� ���
��

Φ(x) =

⎛

⎝
φ1(x) + iφ2(x) + v1
φ3(x) + iφ4(x)
φ5(x) + iφ6(x)

⎞

⎠, Σ(x) =

⎛

⎝
σ1(x) + iσ2(x)
σ3(x) + iσ4(x) + v2
σ5(x) + iσ6(x)

⎞

⎠.

�,�
��

���� �
� ������	��
 v1 = v2 ≡ v 
�� 
������ ��� �
��
#��� �������
����� �
� ���
�� �� ��� $���������

LM = M2

[
(A1)2 + (A2)2 + (A3)2 +

1
2
(A4)2+

+
1
2
(A5)2 +

1
2
(A6)2 +

1
2
(A7)2 +

1
3
(A8)2

]
, ��?�

#���� M2 ≡ g2v2 �� ��� ���
� ���� ��������� 
� ��� ���
�
�
0���� ��� 	�
��� ������ ��� �
��
#��� �
�� 	
�������
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φ1 +
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σ3, σ3, σ1 + φ3, σ2 − φ4 ����
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σ1 − φ3, φ4 + σ2, φ2 − σ4, φ2 + σ4, φ5, φ6, σ5, σ6 ��(�
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Lmassive QCD = LM − 1
4
F aμνF

a
μν + iψfγμDμψf −

−mfψfψf + counterterms, ��/�

#���� LM �� ����� �� �)���?��
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� ������� ��� �
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#��� ������

β(as) = μ2 ∂as
∂μ2

=
∑

i≥0

βia
i+2
s ,

β0 = −7
2
CA +

4
3
TFnf , ��3�

���� CA = 3 �� ��� ������� 
�����
� 
� ��� ��.
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��� SU(3) 	
�
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√
s ��� ���� �������� ��������� |q| ������� ���� ��� �����

��������
�

s = 4E2 � −t = �q2. ���
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�� ���� ������ �� �� 
��������� �� ��� ��� t�
�����	 ������	  ��� ������
��������� ��� ��� �
�������� ���	�����  ��� � ������� ��������� p = ±1

Ap(s, t) = s

a+i∞∫

a−i∞

dω

2πi
((−s)ω − psω) fpω(t). ���

�� ��� 
���!  ��� ��� 	������ �����	����" �� fpω(t) �� ��� ����� ��	�

fpω(t) =
γ2(t)

ω − ωp(t)
, ωp(t) = Δ − α′�q2 �#�

��� ���	����� ��� ��� �� ���	��� 
������� $�%

ApRegge(s, t) = ξp(t) s1+ωp(t) γ2(t), ξp(t) = e−iπωp(t) − p. �&�

��� ����� ��	�� �������� ��� 
�� �����	������� �� ��� ω��	��� $�%'
(�� �����	�! �� ��� ����	� 
��� �� ��� � � ������� ��
����� ����
)����	���� 
�����
����� 
�� 
�  ������ �� ��		� �

ApMand(s, t) = ξps

∫
d2k

(2π)2
Φ2(k, q−k)sωp1(−k2)sωp2(−(q−k)2), p = p1p2.

�*�
��� )����	���� 
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�tfω(t) ∼
∑

n

∫
dΩn|f (n)

ω |2. �+�

�� ���
��
� �� �����������	" 
������� 
������� �� ��� ����	 
�����
��
����� σ � ���
��	 j��	��� �����	����" � ,������  ��� ��
��� -����
��� ���
��� �� �������
��

σ =
1
s
�A(s.0), A(s, t) ≈ is sΔ−α

′
P q

2
, �.�

 ���� ��� ,������ �����
��� Δ ��� ��� �	��� α′P ��� ���		 �

������
�� ��� �����������	 ����' /		 ,������ ������
����� ��� ����� ����
�

���� �� ��� �0� ����������	 �1�
���� ��	� �����" $&%'

�� ��� 	������ 	���������
 ������������� �22/�

αs ln s ∼ 1, αs =
g2

4π
� 1 �3�
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MA′B′
AB (s, t) = MA′B′

AB (s, t)|Born s
ω(t), �8�

 ���� ��� �	��� ����� ���9�
���" �� 22/ �� ����� 
�	� 

ω(−|q|2) = −αsNc
4π2

∫
d2k

|q|2
|k|2|q − k|2 ≈ −αsNc

2π
ln

|q2|
λ2

. ����

�� ��� ���	����
 ���
����� ��� ���� ��������	 
�����
����� �� ��� ����	

�������
���� ������� ���� ��� ��	�������� ��������
� 
������������
�� ��� 	���� ���� ��������

√
sk �� �����
�� �	���� �� 
���������  ���

�������� ��������� qi ��� ���������� 
��������� kr⊥ �� ��� �����
	�
�������' ��� 
������������ ���	����� ��� ��� ��
����:�� ���� $*%

M2→2+n ∼ sω1
1

|q1|2 gT
d1
c2c1C(q2, q1)

sω2
2

|q2|2 ...gT
dn
cn+1cn

C(qn+1, qn)
s
ωn+1
n+1

|qn+1|2 ,
����

 ���� ωr ��� ��� ����� ���9�
������ ��� C(qi, qi−1) ��� ��� ��������
���������	��� �����
��' �� 22/ ���" ���

ωr = −αsNc
2π

(
ln

|q2r |
μ2

− 1
ε

)
, C(q2, q1) =

q2 q
∗
1

q∗2 − q∗1
, ����

 ���� ��� �����
�� �	���� ��� ������� �� ���� ������� ��	�
�����'
��� ��� 	���� �� -��������� M2→2+n ����� � �����
�	��" �� 
���

����
� ��� ����	 
�������
���� ��� ��� �
�������� ���	�����  ��� 
�	��
����	�� -������ ���
��� �� ��� 
������� 
�����	' ���� ���	�����
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� ��������� �� ����� �� ��� ,������  ��� ���
���� ������"���
��� 4(;2 �-������ $*%

EΨ(�ρ1, �ρ2) = H12 Ψ(�ρ1, �ρ2), σt ∼ sΔ, Δ = −αsNc
2π

E0. ��#�

��� �������� H12 �� ��� 4(;2 <���	������ ��� Δ �� ��� ,������
�����
���' �� ��� ����
� ��������� �������������� ��� ����	������

�� 
�  ������ �� ��		� � $+%

H12 =
1

p1p∗2
(ln |ρ12|2)p1p

∗
2 +

1
p∗1p2

(ln |ρ12|2)p∗1p2 + ln |p1p2|2 − 4ψ(1) ,
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ρ12 = ρ1 − ρ2, ρr = xr + iyr, Δ = 4αNc ln 2 /π. ��*�

��� =
��>������� �-������ �� ��������� ����� ��� )>�
��� �����������
����� $.%

ρk → aρk + b

cρk + d
��+�

���! �� � ����	�! ��� ��������
����� ��� �������	��� �� H12 ��� 
	�����
��� 
" ��� 
�������	  ������

m = γ + n/2, m̃ = γ − n/2, ��.�

��������� �� ��� �����	��� ��������� γ = 1/2+ iν �� � ����� �����
����� ��� ������� 
�������	 ���� n' ��� �������� ���� ��� �������"
�� ��� ��	�������
 ������
�	��" ��� ��� ��������� �� ����� �� ���
	���������
 ���������� ψ(x) �� ��� ����� ���
����

E = 2χ(n, γ) = ψ(m) + ψ(1−m) + ψ(m̃) +ψ(1− m̃)− 4ψ(1). ��3�

����� ���������� 	��� �� ��� �������
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�
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�	
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	����� �� -����� ��� �	���� ������
�
����  ��� ��� ������:�� �	���� ��� ������ ����� ���������� y �� ����
�������	 η

y =
1
2

ln
εk + |k|
εk − |k| , |y − y0| < η, η � ln s. ��8�

@� �������
� ��� �������������� ��	�� vμ ���
��
��� ��� ����	 �	��
��� ��� ��� ����� ��������� ��	�� A± ���
��
��� ��� �����
���� ���
������	����� �� ��� ������:�� �	����

vμ(x) = −iT avaμ(x), A±(x) = −iT aAa±(x), δA±(x) = 0. ����



��� ���� �� ����
���
�
�� ��� ���
	�

��� ��	�� A± ������" ��� ��������
�	 
����������
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S =
∫
d4x

(
LQCD + Tr(V+∂

2
μA− + V−∂2

μA+)
)
, ����

 ���� LQCD �� ��� ����	 567 �
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���� 
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V+ = −1
g
∂+ P exp

(

−g
2

∫ x+

−∞
v+(x′)d(x′)+

)

= v+ − gv+
1
∂+

v+ + ... .
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j = 2 − Δ −Dν2, γ = 1 +
j − 2

2
+ iν, ��&�

 ���� ��� ���������� Δ ��� D ������ �� ��� ����� 
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���
�����' /
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D = Δ'
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���"

j = 2 +
α′

2
t, t = E2/R2, α′ =

R2

2
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=�����	 "���� ��� H' 4���! 2'7���� ��� I'=������ ��������� �� ���
�	�
�� ���������� �� Nc → ∞ ��� ��	����	��� �����
���� ���	�����
�� N = 4 =C=D  ��� ��� ������	 ��	�
��" ���	����� $�+%' �� ������
���! ���� ���� ���	����� �� ��� 
����
� �	����" �� � � 	���� $�.%' ���
������ �� ���� ��� 47= ���	����� ���� ��� ������" ��� =�������� ���
-�������� �� �
���
� �� ����	������� �����	������� �� ��� ����	������

�����	� $�3%

ΔsrΔsr+1M2→2+n = 0. ��+�

)�������! �� ���� ��� 
������ ��� )����	���� 
�� 
�����
������ $�8%'
����� 
�����
������ ������ �� ��� �	���� ���	������ �������� ���� +
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� ���	����� ��1��� ���� ��� 47= ���
�������� 
" � ��
��� � ���
�		�� ��������� ���
���� R' ���� ���
����
����	� 
� 
�������	 ��������� �� ��� �������� ���
� $#�%' �� 22/
R 
�� 
� 
�	
�	���� �� ��� ��	�������� ��������
� ���� ��� 4(;2
��� 4;, �-������� 
�
���� ��� ����	������ 
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�	
����	������ �� ��� ���� �������
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M2→3

Γ(t1)Γ(t2)|Γa| =c
a
R(−s̃)j2(−s1)j1−j2+caL(−s̃)j1 (−s2)j2−j1, s̃ = s|ka⊥|2

��.�
 ���� Γ(tr) ��� ������� ��������! caR ��� c

a
L ��� � � ���	 �����
�� ���

��� �	��� a  ��� ��� ���������� �������� ka⊥ �����
�� ���� ���
������:�� �	��� $�.%

caR =
sinπω1a

sinπω12
, caL =

sinπω2a

sinπω21
��3�

��� ωa �� ��� ����� �� ��� 
���	�� �����
���� ������ $�.%

Γa(ln |ka⊥|2 − iπ) = |Γa| eiπωa . ��8�

�� ��� 
��� �� �����
���� �� � � �����
	�� a ��� b ��� ���������� ���
��� ��	�������� ���	����� 
������� �� ��� �����

M2→4

Γ(t1)Γ(t2)|Γa||Γb| = caRc
b
L(−s̃)j2(−s1)j1−j2(−s3)j3−j2+

+caRc
b
R(−s̃)j3(−s̃012)j2−j3(−s1)j1−j2+

+caLc
b
L(−s̃)j1(−s̃123)j2−j1(−s3)j3−j2

+caLc
b
R

(
k(−s̃)j3(−s̃012)j1−j3(−s2)j2−j1+

+l(−s̃)j1 (−s̃123)j3−j1(−s2)j2−j3
)
, �#��
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 ���� ��� ���������� s̃ 
������ ��� 
������������ ��
���� ���������
�� ��� ���������� �������' ��� -��������� k ��� l

k =
sinπω1

sinπω2

sinπω23

sinπω13
, l =

sinπω3

sinπω2

sinπω21

sinπω31
, k + l = 1 �#��

��� ���� ���� ��� ��
����:����� ��	������ ��� ��� ����� ��	�� $#&%' ��
�����	��� ����� ��
����:����� ��	������ �� �� ������ �� �������
� ���
���������� τr = ±1 ��� �������� �� tr�
�����	�' ���� ��� ��� �	����

��� ��� ���������� ���
���� ��� ���	������ 2 → n+ 1 �� �		 ��"��
�	
������� ��	���� 
" � ���� �� ��� 
������������ t�
�����	 	���� 
�� 
�
 ������ �� ��		� �

Aτ1...τn
2→n+1 = A+

n∑

r=1

τr Ar +
∑

r1<r2

τr1τr2 Ar1r2 + ...+ τ1τ2...τnA1...n.

�#��
��� ��
����:�� @��� ���������� ��� ���� ���������� ��� ��� ��		� ���

���	�� ���� $#&%

Aτ1...τn
2→n+1

sΓ(t1)Γ(t2)|Γa||Γb|... = |s1|ω1ξ1V
1,2|s2|ω2ξ2V

2,3...V n−1,n|sn|ωnξn,

�##�
 ����

ξr = e−iπωr − τr, ξ12 = e−iπω12 + τ1τ2, V
1,2 =

ξ12
ξ1
caR +

ξ21
ξ2
caL. �#&�

(�� ��� 
��� �� ��� ���������� 2 → 4  � �
���� ��� ���	����� �� � �
��"��
�	 �������!  ���� ��� 47= ���������� �� ��� 
����
�!

Aτ1...τ32→4

s|s1|ω1 |s2|ω2 |s3|ω3Γ(t1)Γ(t2)|Γa||Γb| = ...+
(
τ1τ3e

−iπω2 +τ1τ2τ3
)
A+... .

�#*�
<���

A =
2 cosπω2 sinπωa sinπωb

i sinπω2
+ i sinπ(ωa + ωb) + cosπωab �#+�


������� ��� ������"��
�	 ��	� 1/ sinπω2' 4�� 9��� �� ����� ��"��
�	
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����� �� ��� )����	���� 
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�����	� �� s, s2 > 0, s1, s3 < 0  � �
���� ��� ��		� ��� 
���	��
����
���� �� ��� 
��

Acut = i

∫
dω′2
2πi

(−s2)ω′
2fω′

2
�#.�

 ��� � ���	 ���
���� fω′
2
' ���������  � 
�� ������� ��� ���������� ���

��� ����� ��	� 
�����
����� 
" ��
���
���� ���� ��� ���������� � �
���� ���� ��� ��
	����� ���� �� ��� �������� 
�� 
�����
����� $##%'
�� ��
� ������  � ����

A2→4
pole = cosπωab. �#3�

/� � ����	�! �� ��� ������ s, s2 > 0, s1, s3 < 0  � �
���� ��� ��		� ���
���������� �������������� ��� ��� ��������� ���
���� $##! #*%

Reiπδ = cos πωab + i
a

2

∞∑

n=−∞
(−1)neiφn×

×
∞∫

−∞

|w|2iνdν
ν2 + n2

4

Φ(ν, n)
( −1√

u2u3

)ω(ν,n)

, �#8�

 ���� ��� ���������
 ������ �� ��� �������� ���
� ���

u1 =
ss2

s012s123
, u2 =

s1t3
s012t2

, u3 =
s3t1
s123t2

,

|w|2 =
u2

u3
, cosφ =

1 − u1 − u2 − u3

2
√
u2u3

, �&��

��� 47= ������

δ =
γK
8

ln
|w|2

|1 + w|4 , ωab =
γK
8

ln |w|2, �&��

��� ����
� ��
��� �����
� $#+%

Φ = 1 − a

(
E2
νn

2
+

3
8
n2/(ν2 +

n2

4
)2 + ζ(2)

)
, �&��

��� ��� 4(;2 �����	 �������	��

ω(ν, n) = −aEν,n − a2(εFLνn + 3ζ(3)) �&#�
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�� 	������ $#�%

Eνn = − |n|/2
ν2 + n2

4

+ 2
ψ(1 + iν +
|n|
2

) − 2ψ(1), �&&�

��� ��������	������ $#*% ��������������

εFLνn = −

2

(

ψ′′(1 + iν +
|n|
2

) − 2iνψ′(1 + iν + |n|
2 )

ν2 + n2

4

)

−

−ζ(2)Eνn − 1
4

|n|
(
ν2 − n2

4

)

(
ν2 + n2

4

)3 . �&*�
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Γ(K−p→π0Λ)

Γ(K−p→neutral states)

Γ(K−p→π+Σ−,π−Σ+)
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(� 0 03 4 �56 4 6�6
*�+ 0 �6 4 �57 4 635
-�� 2.36 ± 0.04 0.189 ± 0.015 0.664 ± 0.011
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����� �� ��������� ��� ������
�� ������ ����� ���������� ����� ��� ����	� ������	 ������� ����������
������ ���� ��  ��
 �
������������� ��� �	��������������� �������! �� �
�

���	� �� �
� ������� 
������� � ��������� Q̃2 = Q2 +M2
V 
�� ����" 

��� Q2

�� �
� ������	��� �� �
� �������� �
���� ��� MV �� �
� ���� �� �
� ��������
������ ������	�! #��
 � ���		 ��� �� �� ��$���� 	� ����������" �
� ����	
%�� �		 ����	� 	� ���� �� ��� �� ����!

�� ������	
����

��������� 	� 
��	��
�	��� ��� �������	����� 	�� ������� ������
�
���� 	� 	�� �������� �� �� �����	� ����� ������� 
�������� ��
�����	� ��	 �� ������ ����� 
����� 	�� ��������� �� ! ������� "#$�
%���� ��	����
	 α(0) �� ���� 1.3 ÷ 1.4& �����������������'� (���	)
*��% ���	����	' Q2+ ��� (����) *���� ���	����	' Q2+ ��,���	��� 
���
������ %�	� ������� �������� ��� ������
�� 
' 	�� �������� �� 	%�
��,����	 �
-��	� �� 	�� t �������� � (���	) ��� � (����) ������� *��
	���� ��� ����� ������+ ".� /$& 0��� ��
���� 	�� ����	���� �� 	%�
*�� ���� ����+ ���		����� ��
��	����� ��,����� 
' 	�� ������ �� 	��

�����	��� �� 	�� ������� 	��-��	��'� 	���� ��	����
	 α(0) ��� ���
�
α′(t = 0)� 	'
�����' (1.08÷1.09) ��� (0.25), ���
��	����' ��� 	�� (���	)
�������� ��� (1.3 ÷ 1.4), ��� (0.1 �� ���� ����) ��� 	�� (����) ���&

..1
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2� 	�� 
�����	 �

������ ���	��	�� �� ����& "3�4$� %� 
��	���	� 	��	
#& ����� ���	���5�	��� ������ 
%�% 	�� ��
������� �� 	�� ���	����

�	' �� 	�� ��	����� 
��	���� *���	��� 
��	��+ ��	��� ���' 	�� �������	
���	��� ��	 	�� 
��
���	��6
.& 	���� �� ���' ��� ������� �� ��	���� 	�� ���� �� ��� ����	�����


�	 �	 ��' 
� ���
����	��� �&�& ������ ���'� �	 ����	 	%�� ���
��
���	�&

�� 
������������ �����

0� ��
������ 	�� �
������ 	���� �� ��������� �� Q̃2 7 ���������� ���
�����%��� ��������� ��� !������, "8�9$� � 	%��	��� ��
��	���� �����
��	���5�� 
' � 	%�����
����	 7 (���	) : (����) 7 �������� %�� ����

���	��; A(s, t, Q̃2) = As(s, t, Q̃2) +Ah(s, t, Q̃2), �� �����%��� "3$;

A(s, t, Q2) = H̃s e
−iπ

2 αs(t)

(
s

s0s

)αs(t)

ebst+

+H̃h e
−iπ

2 αh(t)

(
s

s0h

)αh(t)

ebht, *#+

%���� Hs = As(
1+ Q̃2

Q̃2
s

)ns , Hh =
Ah

(
Q̃2

Q̃2
h

)

(
1+ Q̃2

Q̃2
h

)nh+1 ��� H̃h,s = s0s,h√
π
Hs,h.

Hs,h(Q̃2) ���	��� ����� 	�� ����	��� %����	 �� 	�� 	%� 	���� �� �
����	��� �� Q̃2 = Q2 +M2

V � 	��	 ����� 	�� �������� �� ����	���&
0�� 
�����	��� �� ������� 	��-��	����� %��� ���� 	� αs(t) =

1.08 + 0.25t, αh(t) = 1.40 + 0.1t, ��� "1$&
<���� =>& *#+ %� �������	� 	�� ��,����	��� ��� ��	����	�� �����

���	����;
dσel
dt

= H2
s e

2{L(αs(t)−1)+bst} +H2
he

2{L(αh(t)−1)+bht}+

+2HsHhe
L(αs(t)−1)+L(αh(t)−1)+(bs+bh)t cos

(π
2

(αs(t) − αh(t))
)
, *.+

σel =
H2
s e

2{L(α0s−1)}

2(α′sL+ bs)
+
H2
he

2{L(α0h−1)}

2(α′hL+ bh)
+

+2HsHhe
L(α0s−1)+L(α0h−1) B cosφ0 + L sinφ0

B2 + L2
, */+



��� 
��� �� 
������������ ��� ����	�

%���� L = ln (s/s0) , φ0 = π
2 (α0s−α0h), B = Lα′s+Lα′h+ (bs+ bh),

L = π
2 (α′s − α′h),

�	�
���
���	� 	� ��� ���� ��	
 �������� ������	���

������ �		��� ��� ����� 	� 	�� ������
�� ?=�� ��
������	�� ��	�
�� dσel/dt(t) ��� σel(Q2,W )+ �� @A� ��� �@�B ����	����� %� ����
	� �������5� 	�� ��	�&
<���� 	�� �����%��� �������5�	��� 
�����	��� *��� ��� ��& "C$+;

fρ0 : fω : fφ : fJ/ψ : fΥ = 0.68 : 0.068 : 0.155 : 1 : 0.75,

%� �
	��� 	��	 	�� �������5�� ��	� fi · σel(Q̃2) �� ��,����	 ���	����
ρ0� ω� φ ��� J/ψ ��� �� 	�� ���� (W, Q̃2) �������� ��� ���& #*���	+&

������� ��	������� D� 
�������� � ���
�� �	 �� ��� ������ %�	�
=>�& *.+ ��� */+� 	� ��� @A� *�&�& J/ψ� φ� ρ0 ��� Υ + ��� �@�B
?=�� ��	� "#E73/$� %�	� W > 30 F�@2&

��� �@�B %� ����; M eff
DV CS = 1.8 F�@ ��� � �������5�	���

���	�� fDVCS = 0.091&
0�� 
�����	��� �� 	�� �	 ��� 
�����	 �� 0�
�� #& 0�� ������
����

��� �����	� �� 	�� �	 ��� ���%� �� ���& # *σel(Q̃2)+� ��� ���& . *σel(W )�
��� dσel/dt(t)+&
<���� =>& *.+ ��� 	�� �������

B(Q̃2,W, t) =
d

dt
ln
dσel
dt

, *3+

%� ���� �������	�� 	�� ���%��� ���
�� ��� ���
���� 	��� %�	� 	��
��
������	�� ��	� �� @A�� %�	��� ���� ��
���	� t 
��� %�	� 	�� ����
������ �� 0.12� 0.25� 0.5� ��� 0.6F�@2& 0�� �����	� ��� ���%� �� ���& #
*����	 
��	+&

� � � � � �� ��	�
���	� 
� ��� ��
��

�
���� �

�	
� 

��� ����� ���
��� ���� 
������� �	

 ��� �� �
 ��� �

����� � � ��� !�"# �����

[A0s,h] =
√

nb
GeV

,
[
Q̃2

s,h

]
= GeV2, [α′

s,h] =
[
bs,h

]
= GeV−2,

[
ns,h

]
=

[
α0 s,h

]
= 1. s0s,h �$�� �
 1 %��2

A0s,h
˜Q2

s,h ns,h α0 s,h α′
s,h bs,h

���� &'( '!)* +!(, +!'& '!-. /!)+

��� )(!, +!/' +!// +!-' '!'+ -!+.
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2+M2 Q
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  z15     W=  70.0 GeVω
  z26     W=  80.0 GeVω
   z8     W=  75.0 GeVφ
   h3     W=  75.0 GeVφ
  z28     W=  70.0 GeVφ

   z9     W=  90.0 GeVψJ/
   h6     W=  90.0 GeVψJ/

   z6     W=  90.0 GeVρ
   h3     W=  75.0 GeVρ
  z21     W=  71.7 GeVρ
  z29     W=  70.0 GeVρ
  h17     W=  75.0 GeVρ
  z18     W=  51.1 GeVρ

ψ, J/ω, φ, 0ρ 

]2 [GeV
2

Q
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2  z18     W=  47.0 GeVρ
2  z25     W=  70.0 GeVρ
2  h22     W=  55.0 GeVρ
2  h1c     W=  38.1 GeVρ
2  z29     W=  70.0 GeVρ
2  z21     W=  71.7 GeVρ
2  z18     W=  47.0 GeVρ
2  h17     W=  75.0 GeVρ

2   h3     W=  75.0 GeVρ
2   z6     W=  90.0 GeVρ

ϒ(2S), ψ, ψ, J/ω, φ, 0ρ

2   z1     W=  90.0 GeVϒ
2(2s)   h9     W=  90.0 GeVψ

2  z24     W=  90.0 GeVψJ/
2  z18     W=  90.0 GeVψJ/

2   h9     W=  90.0 GeVψJ/
2  z13     W=  90.0 GeVψJ/

2   z9     W=  90.0 GeVψJ/
2   z9     W=  90.0 GeVψJ/
2  h16     W=  96.0 GeVψJ/
2  h15     W= 160.0 GeVψJ/

2  h14     W=  75.0 GeVφ
2  z28     W=  70.0 GeVφ

2   z8     W=  75.0 GeVφ
2   h3     W=  75.0 GeVφ

2  z26     W=  80.0 GeVω

0��! +1 0�� �� 23! �/� �� ���� �� �����	�4�� ����� �������� fi ·σel(Q
2) ��� ρ0" φ" ω

��� J/ψ! ��� �5���������	 ���� �� �
��������	 ����������� �� �
� �	��� 23! �)�!

 W [GeV]
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2=   0.0 GeV2      z21 Q
2=   2.4 GeV2       z6 Q
2=   3.3 GeV2       h3 Q
2=   3.7 GeV2       z6 Q
2=   6.0 GeV2       z6 Q
2=   6.6 GeV2       h3 Q
2=   8.3 GeV2       z6 Q
2=  11.9 GeV2       h3 Q
2=  13.5 GeV2       z6 Q
2=  19.5 GeV2       h3 Q
2=  32.0 GeV2       z6 Q
2=  35.6 GeV2       h3 Q

2= 0.035 GeV2      h22 Q
2=  0.01 GeV2      h22 Q

2=   0.0 GeV2      z21 Q
2=   0.0 GeV2      z1d Q
2=  0.47 GeV2      z18 Q

2=   3.5 GeV2      z18 Q
2=   7.0 GeV2      z18 Q
2=  13.0 GeV2      z18 Q
2=  27.0 GeV2      z18 Q

0ρ

2=   0.0 GeV2      z2d Q
2=   0.0 GeV2      sl1 Q
2=   0.0 GeV2      sl1 Q
2=   0.0 GeV2       f2 Q

2=   0.0 GeV2      z21 Q
2=   2.4 GeV2       z6 Q
2=   3.3 GeV2       h3 Q
2=   3.7 GeV2       z6 Q
2=   6.0 GeV2       z6 Q
2=   6.6 GeV2       h3 Q
2=   8.3 GeV2       z6 Q
2=  11.9 GeV2       h3 Q
2=  13.5 GeV2       z6 Q
2=  19.5 GeV2       h3 Q
2=  32.0 GeV2       z6 Q
2=  35.6 GeV2       h3 Q

2= 0.035 GeV2      h22 Q
2=  0.01 GeV2      h22 Q

2=   0.0 GeV2      z21 Q
2=   0.0 GeV2      z1d Q
2=  0.47 GeV2      z18 Q

2=   3.5 GeV2      z18 Q
2=   7.0 GeV2      z18 Q
2=  13.0 GeV2      z18 Q
2=  27.0 GeV2      z18 Q

]2 |t| [GeV
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6

]  
   

   
   

   
2

/d
|t|

  [
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 elσd

-210

-110

1

10

210

310

410

510
, W = 71.7 GeV2 =   0.0 GeV2 z21 Q
, W = 70.0 GeV2 =   0.0 GeV2 z29 Q

, W = 94.0 GeV2 =  0.003 GeV2 z16 Q
, W = 75.0 GeV2 =   3.3 GeV2  h3 Q
, W = 75.0 GeV2 =   6.6 GeV2  h3 Q
, W = 75.0 GeV2 =  11.5 GeV2  h3 Q
, W = 75.0 GeV2 =  17.4 GeV2  h3 Q
, W = 75.0 GeV2 =  33.0 GeV2  h3 Q

0ρ

, W = 90.0 GeV2 =   2.7 GeV2  z6 Q
, W = 90.0 GeV2 =   5.0 GeV2  z6 Q
, W = 90.0 GeV2 =   7.8 GeV2  z6 Q
, W = 90.0 GeV2 =  11.9 GeV2  z6 Q
, W = 90.0 GeV2 =  19.7 GeV2  z6 Q
, W = 90.0 GeV2 =  41.0 GeV2  z6 Q

0��! -1 0��� �� �
� ���������� ����� ������� σel(W ) 23! �/� ��� �
� ��6�������	
����� ������� 23! �-� �� �
� ρ0 ����� ����

�� ���
	����� �� ��� ���	��� ��� ���
�	�����

2� 	��� 
�
�� %� ���� 
��
���� � ���
��	� ��� �������� ����� 	��	
������
�� 
�	� (���	) ��� (����) ��������� 
�����	��� �� ���	�� 
��	��
����& 0�� �������� ��� ������
������ ���		���� ��
��	���� ��� ����

���� �� 	%� 	����� 	�� (���	) ��� 	�� (����) ���
����	�� 	�� ����	���
%����	 �� %���� ������� 	�� (���	����) �� (��������) �� 
��������&
2� 	�� �����%��G �� 	��� ����� %� ���� ����'5�� ��� ��	� �� ���	��

����� *ρ0� ω� φ� J/ψ� Υ + 
�����	��� ��� �@�B �
	����� �	 ?=�� 
'
	�� ?# ��� H=<B �����
���	����& � ���
�� �	 %�� 
�������� %�	� �
����� ���
�� �� ���� 
�����	��� *�&�& 1 ���� 
�����	���� 3 
�����	���
�� ������� 	��-��	����� ��� 4 
�����	��� ��� 	�� �������5�	��� �� 	��
����� ���	���� ���� 8 
��������+� ��������� ��� ��� ����	����& B��� ��
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	�� �����	� ��� 
�����	 �� ����& #�.& 0�� ������ �� 	�� 
�����	��� ���
>��	�� �� 0�
�� #& ��	 %�� 
�������� ���' ��� ���� �������� *�
���
30 F�@+&
2� ����� 	� �����
���	� �@�B 	���	��� %�	� @A� %� ���� ���

������ � ����5��� ����� 	� 	�� (����) �� 	�� �@�B 
������� 	��	 ���

� 	���	�� �� �� �,��	��� ���� �� >���G���	�>���G �'�	���M eff

DV CS =
1.8 F�@6
0�� ����� �������
�' %��� ������
�� 	�� ��
������� �� 	�� ���
�


�����	�� B �� � ����	��� �� Q̃2 *��� ����& # ��� ���� ������ �� t&
�� ���� 
��� ������ 	�� (���	) ���
����	 �� 	�� ������� ����

���	�� �� 	�� ������ �� ����� t ��� ����� Q̃2& ?����� � 
�����	���
���
����
�� ��� 	�� (���	����) ���I�� (��������) �� 
��������� ��� 
�

�����	�� �� � ���
���	��� �� t ��� Q2& � ���
�� ����	��� %�� ����
���	�� �� ���& "4$ %�	� 	�� ��	�����	��� �� 	�� �����
�� z = t−Q2& 0��
��	��
��' �� 	���� 	%� �����
��� ������� �� ��
��	��	 �
�� 
��
���
	��	 ��>����� ���	��� �����	���	���&

����	�����
����

0�� ��	��� 	���G� !��5�� J��G���5G' ��� ����� ��� �����������6 B���
��	��� ��5�� ��� ��
��	� ����� ��� �����
���	���6 ������ B����G�� ���
D�1 �� 	�� ������ 
�'���� 
������ �� 	�� 1	� =< 
������ 
�����
��� 
��	��� �������� ��

��	&
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ϕ =
∂nϕ′

∂tn
+ f

(
∂n−1ϕ′

∂tn−1
, . . .

∂ϕ′

∂t

)
= f̃(ϕ′). +�,
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S =
∫

exp
{
i

∫
L(ϕ)dx

}
dμ(ϕ); lim

t→±∞ϕ(x) = ϕout,in(x). +%,
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L(ϕ) → L̃(ϕ′) = L[ϕ(ϕ′)] + c̄a
δϕa

δϕ′b
cb. +&,
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δϕ′a = ca, ε,

δca = 0; δc̄a =
δL

δϕa
(ϕ′)ε. +3,
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Q0|φ〉as = 0. +5,
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L = −1
4
F aμνF

a
μν −m−2(D2φ̃)∗(D2φ̃)+ (Dμe)∗(Dμb)+ (Dμb)∗(Dμe)+

+α2(Dμφ̃)∗(Dμφ̃) − α2m2(b∗e+ e∗b), +A,
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 φ �� � �
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�� ���

φ̃ = φ− μ̂; μ̂ = (0, μ
√

2g−1), +',
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��� ��
6
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�� ������
���

φ =
(
iφ1 + φ2

√
2

(
1 +

g

2μ
φ0

)
,
φ0 − iφ3(1 + g/(2μ)φ0)√

2

)
. +�B,
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�
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�

b =
(
ib1 + b2√

2
,
b0 − ib3√

2

)(
1 +

g

2μ
φ0

)
,

e =
(
ie1 + e2√

2
,
e3√
2

)
, +��,
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Aaμ → Aaμ + ∂μη
a − gεabcAbμη

c,

φa → φa +
g2

4μ
φaφbηb + μηa,

φ0 → φ0 − g

2
φaηa

(
1 +

g

2
φ0
)
,

ba → ba +
g

2
εabcbbηc +

g

2
b0ηa +

g2

4μ
baφbηb,

ea → ea +
g

2
εabcebηc +

g

2
e0ηa,

b0 → b0 − g

2
baηa +

g2

4μ
(φaηa),

e0 → e0 − g

2
eaηa. +�%,
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φ→ φ− bε,

e→ e− D2(φ− μ̂)
m2

ε,

b→ b, +�&,
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δφa = μηa +�3,
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L = −1
4
F aμνF

a
μν −m−2(D2φ)∗(D2φ) +m−2(D2φ)∗(D2μ̂)+

+m−2(D2μ̂)∗(D2φ) −m−2(D2μ̂)∗(D2μ̂) + (Dμe)∗(Dμb)+

+(Dμb)∗(Dμe) + α2(Dμφ)∗(Dμφ) − α2(Dμφ)∗(Dμμ̂)−
−α2(Dμμ̂)∗(Dμφ) + α2(Dμμ̂)∗(Dμμ̂) − α2m2(b∗e+ e∗b). +�5,
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� ��
 �
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α2(Dμμ̂)∗(Dμμ̂) =
α2μ2

2
A2
μ +�;,


���� ���
� � ���� �� ��
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��# $�
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m−2(D2μ̂)∗(D2μ̂) =
μ2

2m2
[(∂μAμ)2 +

g2

2
(A2)2] +�>,
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 !����"���� �����
 ������ �� α = 0 

 ���
μ2 = m2#
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Lef = L+ s1c̄
aφa = L(x) + λaφa − c̄a(μca − ba). +�A,

(�
 ��� ���
����
 ��
� c̄, c �� ��
 ���� ���
���� �
�
������� 
 �
����
���� ����
 �� ��� ��
����� ����
�������� �� ���
�����
# �� �
��� �� ��
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 ca = baμ−1# ���
� ���� ���
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��� �
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�� �� ��
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������� +�&, 
��� ca = baμ−1# $�
�
 ��������������� ���	 �� �����
�

δAaμ = Dμb
aμ−1ε,

δφa = 0,

δφ0 = −b0
(

1 +
g

2μ
φ0

)
ε,

δea =

(
g

2μ
εabcebbc +

ge0ba

2μ
+ i

D2(φ̃)a

μ2

)

ε,

δe0 =

(

−ge
aba

2μ
− D2(φ̃)0

μ2

)

ε,

δba =
g

2μ
εabcbbbc,

δb0 = 0. +�',
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 ���������� ��
��� ��
�
 ��������������� ������
 ��
 ����

δAaμ = ∂μb
aμ−1ε,

δφa = 0,
δφ0 = −b0ε,

δea = ∂μA
a
μμ
−1,

δe0 = −∂2φ0μ−2,

δba = 0,
δb0 = 0. +%B,
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Q̂0|ψ〉as = 0, +%�,

Q0 =
∫
d3x[(∂0A

a
i − ∂iA

a
0)μ
−1∂ib

a − μ−1∂νA
a
ν∂0b

a+

+μ−2∂2(∂0φ
0)b0 − μ−2∂0b

0∂2(φ0 − μα2baAa0 .] +%%,

=�
 �� ��
 ����
������� �� ��
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� �����
 ���� ��������� �� ���
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��� �
��
�� �� ��������# �� 
�� ����
� �� ��
 ���
� �'� ����
���� ����
��� �������

� ��
 �
�������� �� ��� ���������� 
 ���������
�� α = 0 ��� ��
 ����������� �
�
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���� 4�����
��������� �� ���
�� ��� ��
 ������
� �
������������ ����� �
���� �
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��������� ��
��� �� 
����� ���������
�# $��� �������� ��
�� ���� ���
�
�
����� �����������
� �� ������
� ������������� ���������� �
����� ���
����� ��
 ���)�
�
�� �����
�#
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�����
���� *��
��� ��������� ����������� �� ��
 ����
��
���� ����
 ��
���
� 
���� ����
� � ��������� ������������ 
������
4����� ��������� +��������� 6���� ���
�, �� �������
#
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$��� 
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�� �������
� ��������� �� ��
 F11� ����� �&�B���%3B5 �)�
� ��� �� ��
 �������� �� F���# ����# .��# C-�����
�� ��������D# �

��� ���� �� 
 ��
�� �� ���������
 �� *#*# :�	���	� ��� ��
 �����������
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��
� �� �
 ������ ���� ����
�
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$� ���� �
������ %���	� ��
�� ����� ���� $&'�$�� "$&&!#�

 � �� (���	�� ���� �
������ )*+� ��� &,-��&! "$&�&#�

'� �� (���	�� ���� �
������ %���	� ��
�� ����� ���� $!�� &$ "$&��#�

.� ���� �
������ %���	� ��
�� ����� ���� �!,�$&$ "$&�$#�

/� 0�1� 2	����� 1��
� ����� � ���� ���! "�!-,#�

-� 3��� �����	� 4�55� ��
�� ����� ��� -��$ "�!-,#�

,� 6� 78������	� 1��
� ����� � ���� .!��/&' "�!,!#9 � ���� .� �.'' "�!,!#�

!� ���� �
������ %���	� ��
�� ����� ���� ''-�'. "$&� #�



��������� 	
� ���

����


���
� �	� ��� 
�	�
��
	

�

���� ������	


���������� 	�
��
��� 	��
�� �� ����
������� �
�� ��� ������� ����� � �������

�!
���" �
����#�$�������

��������

��� ������	
�� ��
�� 
� ����	���	�
 �� � ������ �
�	���������
 ����
��� �	����
	���� ��� ���
� ����	
�� 
����
��� 	�� �
��	��
�� ����	
�� ��	���� 	�� ������
��	� ����
�	� ��
 ��� 	�� ���� �� � ��������	�	
�� ���
 ����	
��� ��
�� 	��
���������
���� ��
��
��� �� ��	�
��
 ���� 	�
� ����	
�� 	��	 	�� ����� ����
��	�� ����� 
� E6 ����� �
	� 	���� ����
�� ���	
���	� �� 

����
��  !""#$%$&
��
 � ������ ���	
���	 �� 

����
��  #$$#$&� '
(
�� �� 	�� ����� ����	��
������� ��
���� 	�� '���
 ���
��  !""#$%$& 	� �� SU(5) ���	
���	  %& )  10&

����
�
�� 	�� �������
 ����
�� ����	����

�� �����

�	�	 
��
��������
 �� ���������� ���� ��� �����
�� ����� �����
���� ���� ���������

��� ������	
 ���	� �
 ��� ���������� ����� �	��� ��	���������	 �� ���
��������� ���	��� ���� ������ �	 ��� ��
����	 ������	 ���� �	 ����
������ ��� ����� �� ������ ��  � �	 �	��� �� �
 ����� ���� �
 !����	�
 ��
 ���	��� ���� ��������� ���������"��  � 
���������� ���	�� �
 �

��������	���	�� #���	�" ��	�
���� $���	���	 �� ���� �� ��� 
��� ����
���� �	 ����� ��������� � �	������� �	���	�� ���������� ���� �� � ������
�������	 �������	���  � 	�	������������� �
 ���� ��������� �� ���
���	�� %�	 ��� ���� �
 ��� 
�����	�� �����  � � ��������	��	
 	�	"���
�	������������ �	� �	 ��� ����� �����  � � 	�	"��� ����������&�

'()
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����
 ���
� ���

�	 ��� �������� ����� ���	� �� ��%��� �� � �������� ����� ���
�
 ����� �	� ���������� �� ��	������� �� ��� ������ �
 ���� 	�	�
�������	
 ����� � *���� ���� ��� �	�� � ������ ���������+ ����+ ������
������	
� %�� ��	  � 	���� �������� ��	�����	���� ���� ���� ��	������
���	 ����
�%�� �����!
�
�  �
& �&������ �����
&�

�� �� ������� ���� �	 ���� ������ ����� ������ ��� ������ �����
����� �������	  �����	 ��� ,	������- % � ���	����	& �����	�� �
 ���
������ ����� �� ������ ��  � � �	������� 	�	����������� �������	
������	
 ��� ����� �
 ��� 	������ ����� � *����� ��� ��������� �����
���	 �� ��	�������� ���	
 ��� ���	����� �
 ��������	��	�� ���� ��� #��

��	
��	 ���	��� ���� ������� ��� ������ ��������� �	 ��� ������
�� �	��������� ���� �� �������	 �����
� ��� ��� �
 ��	
��������� ����
�	��������	 �����"�� ���� � ������ �������� %��� �������� �
 ��
��&� .��
	����+ ���� ��� ������� �����	�� �
 ��� ������ ��� ������� ��  �
��������� �����	
������  � 
���������	�� ���
�������� �
 ���� �����	�
���� �������	 ����� %���
��������& �� ��� �� ��� ���
� ������� �	��
�
/��������	 �	 ��� �	��������	 ��� ��
��	 �	 ��� 0��	�1 ������

�	�	 ��������� �� ��� ���� ����������� U

��� ����� ��� �
 ����� U %��� �'�& �	������ ������� �	����	��	� 
�������
%�& �
 
�����	�� ����� ψi,α,n ���� α����	�� α = 1 : 4 �
 �������	���
���	 �
 ���	 �2' �
 ��� ���	 #���	�" 
���� 3#%'& %��� ������ ��	���
gμν = gμν = gμμδμν + gμμ = (1,−1,−1,−1)+ μ, ν = 0, 1, 2, 3 ��� ����
��������� (������� �	�����& �	� n������	�	�� �
 ��� ��������� �
 ���
���������� #�� 
���� Ω �
 ��� 
��
� �������� 
����� 4��� �
 �����

������� �� � 
�	�����	
 �������	�����	 �
 �	� �	� ��� ���� 
�	����
��	��� ����� #�� 
���� �	�����	
 ��� 
���� SL(2)⊗Ω� U ��	  � ��	�
������� �� �������	��� �
 ���� �����
���� ���������� �������	���  � �
������	 ����������� �5�� ��� 
�����	�� ����� ��1� �� ��
�	
 �
 ���
����������� U � r �	� s������	�	�� �
 Ω����������� �
 ������������
������ �	� ������ ����� �	��� �	 U �� ��	��� 
���� ��
����� ���� �����
���	�����
� ������  ���� �	 ��� 
�����	 ������

��� �������� ���������	 
�� ��� ����������� U �� ��1�	 �	 ���
����� �� �'�

U =

⎛

⎝xi · (δij) ×
(
↓(u11)→ ↓(u12)→

↓(u21)→ ↓(u22)→

)
xi ·

(
↓(ui,13)⇒

↓(ui,23)⇒

)

xj ·
(
⇓(uj,31)→ ⇓(uj,32)→

)
⇓(0)⇒

⎞

⎠(1)



��� ���� �� ��
	��
	����� �	� ��
���

����� (δij) �� � �	�� ������ �	 ��� 	�� ��� �
 
�����	 
������+ xi ���
	�������� 
������ ����	��	� �	 ��� 	�� �� �
 ��� 
������

��� �����	�� �
 ��� 
�����	 ��
�	
 �
 ��� ����������� U ����
��� 
���

↓(ui,13)⇒ = a13 · γλ⇒α,· · ψi,·,n
︸ ︷︷ ︸

; ↓(ui,23)⇒ = a23 · ψ̄i,·,n · γλ⇒·,α ; ⇓(uj,31)→

= −ia31 · ψ̄j,λ⇓,(α,n)→ + ic31 · (ψ̄j,μγμγλ⇓)(α,n)→;
⇓(uj,32)→ = −ia32 · ψj,λ⇓,(α,n)→ + ic32 · (γλ⇓γμψj,μ)(α,n)→.

!��� λ �� � ������������ �	��� �
 ��� (��������
��� ������ →(↓) ��	 �����
� ��� ������ �
 ��� *��	� �	��� (α, n)+

��� ������ ⇒(⇓) ��� ��� ������ �
 ��� �	��� �
 ��� ������ λ+ �	� a+ c
��� ��� ���� 	�������� ���6���	���

�����	 ��� ��������	��	�� ���	�����+ ��� ����
	����	� ψλ+ ψ̄λ ���
��� 
��
� Ω������������ �
 ��� 
�����	�� ����� ψ� ���  ���1(
↓(u11)→ ↓(u12)→

↓(u21)→ ↓(u22)→

)
�	���� ��� ���  ���	 ����� ��� %��� ������ �����

ϕr+ ϕλ,r+ ϕ
+
r + ϕ

+
λ,r �	� ��� ������ ����� Fμν,s& �	 ��� 
���

↓(u11)→ = a11 ·↓
(
I + γ5

2
σλμts

)→
· Fλμ,s+

+↓

(
I + γ5

2
(y1 · δr1r2I + y2 · qr1q+r2)

)→
· ϕr1ϕ+

r2 ;

↓(u22)→ = a22 ·↓
(
I − γ5

2
σλμts

)→
· Fλμ,s+

+↓

(
I − γ5

2
(z1 · δr1r2I + z2 · q+r2qr1)

)→
· ϕr1ϕ+

r2 ;

↓(u21)→ = −ia21 ·↓
(
I − γ5

2
γλCqr

)→
· ϕλ,r;

↓(u12)→ = −ia12 ·↓
(
I + γ5

2
C−1γλq+r

)→
· ϕ+

λ,r.

7������� �
 ��� 
��� ↓(...)→ ��� �	 ��� ����� �
 
�����	� �
 �	� 
�����
���� ↓(α, n)������	�	��+ ����� α �� � ���	�� ������������ �	��� �	�
n �� ��� �	��� �
 ��� 
�����	 ����
� ���������� T �� ���	��������	 �	
��� ���	�� ����� �	� C �� ��� ���	�� ������ �
 ����
� ��	*�
����	�

�����	 ��� ��������	��	�� ���	�����+ Fλμ,s ��� s������	�	�� �

��� 
��
� ������ ���� ����	
�� Aμ,s �	� ϕλ,r+ ϕ

+
λ,r ��� 
��
� �������



��������� 	
� ���

����
 ���
� ���

����� �
 r����������� �
 ������ ����� ϕr+ ϕ
+
r � ts ��� !�������	 
�	�

������� �
 �������� �� �������	�����	 �
 �	� �
 ��� �	������ 
�����	

������� �	 ��� 
���� Ω+ ts1ts2 − ts2ts1 = −iEs1s2s3ts3 + �	� Es1s2s3
��� ���� ���������� �	����������� ���������� ��	���	�� �
 ��� #�� ���

� �� �
 ��� �������� 
���� Ω� qr ��� �������� �	 ��� Ω��������	�����	
�
 
�����	� ���� �����
� ��� 
���� �������	�� �������	 tsqr + qrt

T
s =

Tϕs,r1rqr1 + ����� T
ϕ
s,r1r ��� ������ �����	�� �
 !�������	 
�	�������

�
 Ω��������	�����	 �
 ��� ������ ����� ϕr� ��� �������	 qTr = qr ����
������ a..+ y.+ z ��� 	�������� ���� ���6���	���

��� Ω�
���� �������� ��� 	������"�� �� 
������

Ess1s2Ess1s3 = b1δs2s3 , T
ϕ
s,rr1qrq

+
r1 = b2ts, (Tϕs T

ϕ
s )r1r2 = b3δr1r2 ,

(tsts)nn1 = b4δnn1 , (qrq
+
r )nn1 = b5δnn1 , b2 =

b3b5
2b4

, b1, b3, b4, b5 > 0.

(2)
�	 ��� 
�������1 �
 ��� ���	����� �
 ��������	��	�� ���� ��� ��	�
��	���	�� ���	��� ���� ������+ ��� ����� �
 ��� ����������� U ���
������ ��  � ��� #�
��	
��	 ��	���� �	 ��� ���������� 
�������� �	
��� 7�	1���1� �����

L =
i

2
(ψ̄jγμDμψj −Dμψ̄jγ

μψj) − 1
2
(ψ̄jqrCψ̄ϕr − ψjq

+
r C
−1ψjϕ

+
r )+

+Dνϕr(ϕνr )
+ +Dνϕ

+
r ϕ

ν
r − (ϕνr )

+ϕν,r +Xr1r2r3r4ϕr1ϕr2ϕ
+
r3ϕ

+
r4−

−1
2
Fμνs (∂μAν,s − ∂νAμ,s − Ess1s2Aμ,s1Aν,s2), (3)

����� Dμ ��� 
��
� ����������� Dμψ = ∂μψ − itsAμ,sψ+ Dμϕr =
∂μϕr − iTϕs,rr1Aμ,sϕr1 + �	� X... �� �	 Ω��������	� ������ ������ �

����������� ���
������	�

�	�	 � �����
 �� �����
 �� ��� ����� �� �
 ���������
������ ��������! � �����
 �
 ��� �����
�� ����� U �������������

�	 ��� #�
��	
��	 ���	��� ���� ������ ��� ������	�� �
 ��
� ����
�������	  �����	 ��� ������ ���
� �	� ��� ���� �	��������	� �� �	 ���	�
����� ���� 1	��	� �� ��	����� �	 ��� 
��� ���� ��� ������ �
 ����������

�������� ����������	 [A(1), B(2)]± �
 !����	 ��
 ����� �	����	




��� ���� �� ��
	��
	����� �	� ��
���

��� ������ ∼ ABC �� �������� ������� ���	�� (1) ≺ (2) ��	���	� �	
�������� ��	��� ����	 ��� �� ��� ���� C� �	 ���� ����� �� ��� ����
������������	 �	 ��� ������ ���
� ���� ��	��� ����	 ��	 ���	  � ����
����	��� �������� �	 ��� 
���

[A(1), B(2)]± ∼=∼ δ(1, 2)+ ∼ (C(1) + C(2)).

���� ��

���� ��� ���� ����  ���	� ���  ��	�� �
 #�
��	
��	 
���
������ ���� ���� �	��������	 ��	  � ������ �� ������ ��
� �������� �	
��� ������ �
 ��� ���	����� ,��� %�������� ���������& ����� 
��� � 5�
������ 
�	����� � ����� ����-8 AB → C+ BC → A+ AC → B� 3��� �
����������	 �� ���	 �� ��������	� ������������� �� ��� ��������� �
 �
 ���	��� ������ ��
� ��� ��� ���	 ���������	 �����  � �� ��� ����� ���
��� �
 �	 ��
� ��������� ����������	 �
 ��� ������ ��������� �	 �����
��� ����� ������� �
 ����� U �� �	 �����	� �
 ��� ��
� ���� ���������
�
 �����������

9	 ���  ���� �
 ���� ��	���������	 ���	
 ��� ���	����� �
 ��������	�
��	�� ���� #�
��	
��	 ���� ������ �� 0��	�1 ��	
��� � ����������
�������	 ��� � ���	�� �	 ��� ����� %��� �'+ (+ :�& ����� ��	 ��	���
���	����  � ������ ��� �������	 �
 ������	
 ��������� �	 ��� ��� �
 ���
U � �� ����� ���� �������	+ �� �������	����� �������	� ���  ���	���
�	����������� ��������	 { } �	 ��� �������	���� U ����� 
�	�����"��
��� ����������	 ��������	 [ ]−8

{U1, U2} ≡ −4ig([U1, U2]− + [U τ1 , U
τ
2 ](τ

−1)
− ). (4)

!��� g �� � ����	���	�� ��	���	� ���	
��� �'�+ ����� �� ���	����� ����

��� 
���������	�� ��	���	�+ ()τ + ()(τ
−1) ��� ������ �	� �	����� ������

���	��������	� �
 ���� �����������

(
B1 F1

F2 B2

)
�
 ��� 
���

(
B1 F1

F2 B2

)τ
≡
(
BT1 FT1
−FT2 BT2

)
,

(
B1 F1

F2 B2

)(τ−1)

≡
(
BT1 −FT2
FT1 BT2

)
,

����� Bi =
∑

α
←(Γbi,α)→bi,α+ Fi =

∑

β
←(Γfi,β)

→fi,β+ i = 1, 2 ���

������ 
���� ����  ���	�� ����� bi,α �	� 
�����	�� ����� fi,β �	�
( )T �� � ����� ���	�������	 ��
����	
 �	�� �� 	�������� ������  ����

←(Γbi,α)→+ ←(Γfi,β)
→ �
 ��� ����� Bi+ Fi+ 	�� �� ��� ���� ����������



��������� 	
� ���

����
 ���
� ���

9��	
 �� ��� ������� ��������� �
 ��� ��������	 {U1, U2} �� ��	
���	�������  � �������	��� �� � ����������� ���� �����	�� �������
���	�� �� ���� %�	��&����������� %�	����������"�� �	 1 ↔ 2& �
 ���

���

[(bi,α)1, (bj,β)2]− − (1 ↔ 2), [(bi,α)1, (fj,β)2]− − (1 ↔ 2),

[(fi,α)1, (fj,β)2]+ − (1 ↔ 2).

��� ������� �������	 �� ������ ���	 �� ������ � ��� ��	��� ���
���	
� ���		��  �����	 ��� 	������ �����	�� U1 �	� U2�

�� ��� 	�� �	 � �������	 �� ����� ��� �	�� ��������� �������	
%��� �'+ (+ :�& �������	�	
 ��� ������ ��������� �
 ��� ��� �
 ��������
���� ��������� *��	�� �	 ��� ����� �
 ����� ������������� U + �����
�������	�� ���� ���������� ���	����� ���� ��� ����� �
 ������� ��������
���������8

{U1, U2} = S1(Ū1 + Ū2)τS2. (5)

!��� ( ) �� � 
�	�����"�� ;���� ��	*�
����	 ��������	 Ū ≡ Γ0UΓ0+

Γ0 =

⎛

⎝
0 γ0 × δij 0

γ0 × δij 0 0
0 0 gμ⇒λ⇓

⎞

⎠� ( )τ �� ��� � �������	�� ������

���	��������	 �	 ��� �������	��� �����+ S1+ S2 ��� 	�������� ���	
#���	�"��	��������� 
������ �
 ��� 
���

S1 =

⎛

⎝
I × δij 0 0

0 I × δij 0
0 0 21

4 g
ε⇒
λ⇓ − 3(n−,λ⇓nε⇒+ + n+,λ⇓nε⇒− )

⎞

⎠,

S2 =

⎛

⎝
I × δij 0 0

0 I × δij 0
0 0 3

4g
ε⇒
λ⇓ − 3(n−,λ⇓nε⇒+ + n+,λ⇓nε⇒− )

⎞

⎠,

nε± �� � ���� �
 ��
�����1� (�������� ���� ��� ���������� nε±n±,ε = 0+
nε±n±,ε = 1+ nε± = n∓,ε�

����+ 
��� ��� ���	� �
 ���� �
 ��� ����� ��� ����� �� ����������
��	
��� 
��� %�� � ������ �
 ����� �	��������	�& � ����� ������ ��
� ���
�� ���� �������"� ��� ����	���� ��������� �
 ��� ����� �	�������	 �

����� �	�� U ������������ < ��� ��	��������	 ��  ���� �	 ��� ��������
��	� �
 ��
� ���� ������ 	��� �������� �� ��������� ��� U ������ �� �
������



��� ���� �� ��
	��
	����� �	� ��
���

�	"	 ���������� �
 ��� ����� �� �
 ��������� ������ 
��

��� � ���	�� ��������� �������	 �	 ��� �	�����������	 �
 ��� ������
���	��	�� ���	����� ������ �� ������� �	� ���� �
 ,�	����	
- ������
���	� �
 ��
��� 9	 ���  ���� �
 ��� ������	�� �
 ���	�������"�� ������
���� �
 ��� ������������ �������
��
������ ����	
�� ��	��� �� �����
	������ �� �������	� �	 �����	���� 	��
� ������ �	 ��� 	�� ��	�
��������	 �
 ���������� �� ����� �	� �	�� ����� ��
�� ��������	� 5�
�����
�	�� ���	
 ����������� $	 �����	� �
 ���� � �������	�����	
�� � ���� ���� ��������	��	
 ����� ��
�� ����� ��� ���� %(& �������
��� �������	�� ����� �������	� ������ �	� �����	 
�� ���� ���
��
	�� �����	� U ���� ����� 	�� �����	�� ��������	��	
 �� ����� ���
������ ��������1� ��	��� ��� ��������1� �������	  �����	 ���� ���
	�� �����	�� U1 �	� U2 
��� ����� ����� �� ������ ��  � ��� �����
���	 {U1, U2} = 0 ����� 
�	�����"�� ��� %�	��&���������� �������	 �

���	��� ���� ������ �	���
��� �	 ���	�	
� ��� ������� ����� �
 ���
��
�� ������� ��������	��	
 �� ��� 	�� �����	�� �	 � ���������� �����
�"����	 ������ � �������	� �
 ��� ��� �������� �
 4�������	 5���������
�	 ���� ��� ��
� ��	
�� ����� �� � �������� �� ��� ��	��� �
 ��������8
nμ± ∼ ( 1√

2
,∓ 1√

2
, 0, 0

)
,
(

1√
2
, 0,∓ 1√

2
, 0
)
,
(

1√
2
, 0, 0,∓ 1√

2

)
�

=������	��	
 ���������� ��	�����	���� �� �  ��� �
 ����� �����
�	� ��	 ������ � ������������� ��� ��������� �	 ��� ���
� �� 
�������
��� 	�� �����	�� ���� �������� 
��� ��� ���
�	�� �����	�����	� �	
���	 
�	����� �����
� 	�� �����	���� ������ �������	� ��� 	��� ���
��
����� �
 �������� ��������1� ���	��+ ���� .��� ���� ���	� �
 ����
���������� �� � ����� �� � 	�	������	�� 
���� �
 ���� �������	�  ��
����	 U �����	��� �	 �������	�� ���� �������
� ���� 
���� ��	
 �
�	 ���� �	� ���	� �	� ���	 �������� ��� ����� ��������� %�	/����	
������& ����	
 ������� ���	� �������������	 ���
�� %����� ���	�� ����

�� ���������� ����	���	&� !������+ 
�� � ����� ��������� ����� ��
���� �� ����� �� �� 	�������� �� ���� ���� �� � ������	 ���
� 
��� ���
��
��� �
 �	������� �������������	 �
 ���	�� �� ��� ��
��� �
 �����
���
�	
 %.������		 ���
�&�

�� 	�
����
��


3������	 �
 �������	 %:& ����� �����	 ��� ��������	��	�� ���	����� ��
��� 
������	
 ��������



��������� 	
� ���

����
 ���
� ���

�	�	 #�� ������
 �������� �
 ��� ����� ��� �����

��� 	�������� ��	�����	 
������	
 
��� ��� ��������� �
 ���������	
%�& �	� �������	 %:& �� {U1, U2}(33) = 0� 7����	
 ���� ���������	�+
�� ������ �� ��� 
������	
 �������

'� &��� x1� x2� x3  &��& ��� 
&��� ��(����
 ���
� �� 
&� �)��
���
x3 = 1 ���� ������������ �*��
�� 
&��� ���!
��� ���������� ��
����
���
���
��� ��
����� ����� ��
�
�
������ �� 
&� ��&�
��  &��& ������
��
������  �
& �*����
��
�

�	�	 #�� ��������������� �� ��� ������ �!�����! ����� �
�
��� ����
���
� �� �������� ���������� ��� ����������

��� �������	 �
 �������	 %:& �� ������� �� � �� ��������	 �� �� �
 ���
�������� ���������	 %�& 
�� U �	� � ��	�����	� �������� ����������	
�	 ��� 
�������� �
 ��� ��
�����1� ���	��"����	  � ��� ��������	��	��
���	������ ���� ������� �	 � ������ �
 �������	� 
�� ��� 	��������
���6���	�� �	 U � ���� ������ ��� � ���	�� �	� ������ �	 ��� '>>)�
'>>?  ��12  � ��� �����	� �������

��� �������	 �
 ��� �������	� �
 ��� ����� ����� �� ��� 
������	

�������	�  �����	 ��� 
���� ���������� %'&

b3
b1

= 3;
b4
b1

=
9
2
.

.��� ���� �� � ���	 ���	
 ��� 
���� ������ 
������� ��� 
������	
�
+&� ���
����� ��#�� � ����� Ω ������� 
� ,� 
&� ����� E6  �
& ���
��
%��� 
��
����
 �� ��
������ -./0� +&� ������ %��� 
��
����
 �������

� ,� 
&� E6!��������
�
��� �� ��
������ -.��.�0 -�� �������� ��,!
����
���� 
&� ����� 12�12  �� ����� �����������0� ��� 
&� ���
�����
%��� 
��
����
 3 � ��������
�
��� �� ��
������ -�44.�5�0� +&�� �� 
&�
������ ��������� 
� 
&� 
�����

�	�	 �$ �����%�� ������
� �����
� �
� �����! ��� ��
����
��� �� ��� E6���������� &���'($() �! ������

�� ���  ��
��� 
������

.���	
 �
 ��� ���� ���	��� 	�� �� ������� ��� 
���� E6 �� SO(10)
�	� ��	
��� ��� �
 ��� ��������	��	
 ;: ������������	 �
 4@ 
�����	



��� ���� �� ��
	��
	����� �	� ��
���

��������� %�55A>:>& ��� ;: ���������� %�'@&B%�'>>&B%(�':&� .���
�	
 �
 ��� ����	� ���	��� 	�� �� ������� ��� 
���� SO(10) ��
SU(5) �	� �	 ���	 ��	
��� ��� %�	 � �	���� ��		��& ��� $(����������
%:&B%10& 
��� ��� ��������	��	
 $( ������������	 �
 ;: ����������
��	
��� ���  � ��� ����� �
 ��� ���� 	�� ��� ���� ������	� ���������
������� ���	����� �	 ��� 
���� ���	��� 	�� ��� ���� ��� � ������
�������� �
 
�����	� �
 �	� 
������ �	 ��������� '�� �� �� ���� ����	
���� ������� ����� �	������ 
�����	 
������� ����� �	 ��� �����+  &��&
������
� 
&�
 ���
 
&� �������� 4×�44.�5� ���
���� 4×�5 �,�����,���
��� ������� ��
 �� 
&� 
����� +&�� �� 
&� 
&��� ��������� 
� 
&� 
�����

����+ �	 ���� 
������� 
���� ��	�� ��� �������	 �
 ��� ����� �� ���
� ������ ����� ������� ��  � ����� ��� !������+ �� �� �� �� ��	�����
�� ������ ������� �	� �������� ���	�	
 ��	  � �������� �� ���� 
����
��	���������	�

!� *�'� +	���	��, -�+� .
��	���, ���� ���� 	�
 ��	�����
� 	�
 ��� ��	�

 .�-� /��0��
�, 123, 2���4����-��	��
��, !56�&�

7� 8�9� +	�����
, ��
�� �� ��	
������ 	� 	 ����
 ���
�����	���� �	��	�

����
����  :�����, �*++, 7$$5&�

"� /� ;�.
		, ������	�����
�  3����

�� ��
����
	� <����, !5=�&�

�� 8�9� +	�����
, 8���� > 3������ ��, 2�� 7�" �6��#&, 77#�7"$  7$$6&�

%� 8�9� +	�����
, ��?
�@ ������A$5$#�$"�5�
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������� �� ����� �������	 ����	 �� ���	�
����	�����	 �� ��� ����
 ������	� ��� ��� �� ���	 ������ ��� ������
����������� 	��������	 �� ��� ������	� ���� 	�����	� ������ ������
����	 ��� ��������	� ��� ��	��� 	�����	 ��� ������ ����������� �� 
!���	� "��
 ��#�����
 ���� ��� ���	�� ���� 	�����	 ��� �$�	�� %�
��#�����
 ���� ��	��� 	����� �	 � 	����� �
����������
 	
������� ��� 
#�������� �! 	��! ����������� 	����� #��� ��������
 ������� �� � U(1)
����� #����

&������� 	�����	 �� ������ 
���������	 ���� 
��� 	
	����������

	������ �'� (�� 	������ ������	���� ���������	 !��� ����� 
������� ��
)�� 	���� ����	� ����� ��� �*������	 ��� ���������� �� �	 �!��� *����
��+���� �� �
���� �$��� ���		���� 	�������	 �� � ������
 �! ������ 
��� 
������	 �,�� �� �����	 �-� .� �� ��	 	���� ���� ��� 	�����	 �*������	
�� ��� ������/	����� 
���� ���� ��� 0�����/ �������� 	���� ����	
��� �������
 ��� �������
�� ��� �$��
�� ������� 
�������� �� ����	

�,.
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���� �� �	 ���
 ��		�
�� �� #�� ��� �$��� ��������� !�� 	��� 	������
���#��������	 �� ���!��� 	��� ��������� �����������	 �1��

�� 
����
 ������ �� ��� 
	���� ��
����	��

&�	��� 	����� �	 ����������/�� 

 ��� !�������� ���������	2 ������
��		 ���	��
 μ ��� �����	 �! ��� ���		 	������ ρs� 3�� 	�����	 ����
���	� �� 4�� �����	� ���	 ���������	 ������� ���� � �
����� 4��
��		 	���� mGUT ��� ��� 5���	 ���	���� λ ��������	

μ ≡ Gμ

c2
= λ−1

(
mGUT

mpl

)2

, ρs =
�

mGUT c
= lpl

(
mpl

mGUT

)
, 6�7

����� mpl =
√

�c
G ��� lpl =

√
�G
c3 8 9����� ��		 ��� �������

�� ��	���
� ��� ��	��� 	����� �
�����	 ���� ρs ���� 	������
����������	��� �����	 �! ��������� �! ��� 	����� ��� �	� �� �����$��� 
���� �� ��� ����� ��� �������� �! ��� 	����� �� 	���� ���� �	 ��������� 
�/�� 

 !������� �! ��� �����
��	 xμ(τ, σ) 6μ = 0, 1, 2, 3 σ 8 ����������
����� ��� 	������ τ 8 ������ ����7�

��� :��
� 4��� 	����� ������ �� � ������ 	���� ���� ��� 
�
���	����� �� ��� !��� �;�

S =
∫

dτdσ

[
det(∂μxMGMN (x)∂νxN )

E(τ, σ)
− 1

(α′)2
E(τ, σ)

]
, 6�7

�����E(τ, σ) �	 �� ��$�����
����� 	���� ���	��
�M,N = 0, 1, . . . , D−
1< μ, ν = 0, 1 ��� ∂0 ≡ ∂/∂τ � ∂1 ≡ ∂/∂σ� ������ ��� :��
� 4���
�����	��������� ��� �����	�������� 6�7 �������	 ��� 	����� ���	��� �� 
������� 1/α′ �	 � ���	���� �� �� �������� ����� 	���� =��	���������>
���� ���
��� ��� ���� �! ��� ��������� �����
� ���	 ���� ��
 
� ��� 
	������ �	 � ������
����� �������� !�� ��� ��	� �! � ���� ���	��� �;��

�� ��� ����� E(τ, σ) = −γ(xM,σGMN (x)xN,σ) ����������� 

 ���

�����8��������
 ��������� xM,τ GMN (x)xN,σ = 0� ����� xM,τ ≡ ∂xM/∂τ �

xM,σ ≡ ∂xM/∂σ� ��� ����������� ?����80������� �*������	 �! ������
��������� 

 ?*�6�7 ��*���� ��� !���

xM,ττ − ε2xM,σσ + ΓMPQ(G)[xP,τx
Q
,τ − ε2xP,σx

Q
,σ] = 0, 6'7
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 ������� ��� �����	�����		 ��������� ε� ���	 ��������� �� 
����	 �� ������� 	����� ���	������ xM,τ GMN (x)xN,τ+ε

2xM,σGMN (x)xN,σ =
0� ����� �	 ���������� �� �����8��������
 ����������

�� �	����
�� ���	������ �� ������ ������

�� ��
����	�� ������������� ������

�� ������ 
���	 � ����� ���
�� �! ��
��������	 ������� �� ��� ����� 
������ �! ������������
 ��� ������� �
@���	 ��� ,�� 
�� ��� *��	���� �!
��� ��)����� �! ������������� #���	 �� ��� ������ �! ��	��� 	�����	 �	
	���� !�� !��� 
���� 	������ ���	 �	 ��� �� ��� !��� ���� ��� �
�����	
�! ��	��� 	�����	 �� ��� ������������� #���	 �	 ��	���
�� 
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����� 	
	��� �! ��� ��������� ��A�������� �*������	� �$��� 	�������	
��� !���� !�� � 	������ �
�� �! ������	 �'� (�� �� 	����� 
� ����� ����
���	� 	�����	 !���� ���
 ������� 	�������	 ���� �� ��� ����� �� ���� �
�������� ������� �! ��� ������ �! ��	��� 	�����	� B��� ��!��������
�
��� ��� �
�����	 �! ��	��� 	�����	 ��� ��������
 
� �
������ ���



 ��������� �$��������	� ����� ��� ��� ����	� �
	��� ��C� ����

��� ������� 
������
 ����� ���
��� !�� ��� ��������	��� 	����� �	 �	
!�����	� D� ��	� #�� � 	������� xM (τ, σ) �! ?*�6'7 ���� �	 ���
�

��A�������
�� �� ��� ������ Ω = {(τ, σ) : 0 � τ � τmax, 0 � σ < 2π}�
�	 ���������	�
 ��A�������
�� �� ��� 
������
 Ω� ��� 	���	#�	 	�����
���	������	� ��� ����������
 ���������	 xM (τ, σ) = xM (τ, σ+2π)� ���
��� ����� ������� ���������	� ����� ��� ������� 	����� �������� xM (0, σ) =
ρM (σ) ��� ��� ������� �������
 �! 	����� �����	 ẋM (0, σ) = vM (σ)� 3��
��	���	 �� ���
�� 	�������	 �! ��� &����
 ���
��� !�� ��������� �
��� 

���� 	
	���	 ��� ������ ?*������	 ��	���
��� ��� 	�����	 �
�����	
������� �� 	��� ������������ �����	 �� ��
	��	 ���	� �����������
�$��������� �	 �� ��� ������� 	�����

����� ��� ��� ���� ���
���	 �� ��� �����
 �! ��������� ����� 
������	� 3��	�� ��� ��	� ���	����� ��	����� �����$�������	 !�� �*�� 
����	 ��� ����	������ ��� � ������ ����������	���	 �! ��� *�����
 �! ���	�
�����$�������	� ����� ���	�	�	 ��������
 �� 	���
��� �����$�������
���������
� 	��
����
 ���������	 �! �����$�������	� ��� ��� �������
�������
 �! ��� �
������ ��A������ 	������ ������� ��� ��	� 	����
��A������ �*������	 

 ������ �� ��������� ������	 ���	�� !�� ���	��	
�! ������
 �! ������������� ���� !�� ��� ����������� ����������
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D� ��� ���� �� ���	�������� ��� ��A������ 	������ 3�� ���	�
�� ��������� � ����������� ������� �� ��� ������ �! ��� ����� 	����
�����
��	 τ ��� σ2

τl = lΔτ, l = 0, . . . , L, σm = mΔσ, m = 0, . . . ,M, 6(7

����� Δτ = τmax/L� Δσ = 2π/(M + 1)� ��� L ��� M ��� ���
���
��	 �! 	���	 !�� ��� ��	������� �����
��	 τ ��� σ� �� ���	��������
��� ��A������ 	������ �� �	� � ������ �! ��A������ �����$�������
���� ����� �� ��� ��	��
 ���
����� ��� 	����� �! ��� #�	� ��� 	����� 
����� �����$�������	 �� ��� ����������� ������� !�� �*������	 ����
���������	 ��� 	�+������
 	����� ���+�����	� D� ���!�� ��������
	�����	 
����	� ���
 �������� 
����� ���� �$������ 	�����	� ���� ��
���� ��� �������� ��� �����	� � 	����� ���� ��� !�������� ������	
!�� 	���� ����������	 �� ��A����� ��
��	2

x̂− 2x+ x̌− Λ(γx̂+ (1 − 2γ)x+ γx̌) + f = 0, 6,7

xm = xM (τl, σm), x̂m = xM (τl+1, σm),

x̌m = xM (τl−1, σm), 6-7

Λxm = h2(xm+1 − 2xm + xm−1), 6.7

f =
1
4
(ΓMPQ)l,m[(xPl+1,m − xPl−1,m)(xQl+1,m − xQl−1,m)−
−h2(xPl,m+1 − xPl,m−1)(x

Q
l,m+1 − xQl,m−1)], 617

����� h2 = (Δτ)2

(Δσ)2 � 3�� ��� ������	 �� 
� ������������ �� ��	�

���� 0 � γ � 1/2� �� �������� �� ?*	� 6,78617 �� ��	� ��� 
��	� ��� ��A������ �*������	 !�� 	����� ���	������	 ��� ������� ��� 
������	� ?*������ 6,7 �	 ��� �������� ����� ��
�� ��A������ �*������
�����$������� � ������� ��A�������� �*������ ���� �� �������
 �!
O((Δτ)2 + (Δσ)2)� D� 	���� �������� 	
	��� �! ��� �*������	 �	���
��� ��������� �������

D� ���� ��	��� !��� 	
	��� �����	� ��� ���� ����� 	�������	 !��
	�����	 �� ��� ���� ���� 
��������� ����� ��� ��	� ���
���	 ��������
���� ��� �����	�� ������ �	 	��
�� ��� ��� �
	����� ����� �� ���
������� L×M = 1000 × 100 ���	 ��� �$���� 10−3�

3�� �$������ 3��� �� 	���	 ���	�*���� !����	 �! 	����� 	������ 
��� �� ��� ����� 
���� ����	� �� �	 ���� 	��� ���� ��� 	����� ������

��!����� �� !��� 	��! �����	������	 ��� ��	�	 ��� �� ����� !����	�
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D� ���� ���	������ �
�����	 �! ��	��� 	�����	 �� ��� ��$� ����� 
�������� #���	2 	��������
 �$����
 	
������� ��	�����
 ����� ��'��
9���	 	���� ����� ������/	����� ��� B�@����� 9��������� 	���� 
����	 ����� �	��� #���� ��A������ ������� �� �	 	���� ���� ������
�! ��� 	�����	 �	 ���
 ����������� 8 ��� ��	��� 	�����	 ���� ������$
�	���������	 ��� ��!����� �� !��� ����	 ��� ��	�	� �� �����������
!�� 9���	 	���� ����� 
��� �� ��	� �! � ��������� #���� ��� �� ��	�
�! � 	����� ������������� ����� ��� ��	��� 	����� ������� 	���������
��� ������� �� ������� 

 ��� #���� %�������� �! ��� 	����� ���� 
���� 	���	 ����������	��� =���
��	> �� �������� ���� �$���	��� ���
������		��� �! � 	����� ���� ��� ��	 �������� �	 ������

3�� ��	� �! ��� 	��������
 �$����
 	
������� ��	�����
 ������
����
	�	 	���	 ���� ��� 	����� ���!���	 ������$ �	���������	 ��� �� 
!��������	 �� ��� �����		 �! ��������� B�������� ��������� �� ���
������� ����� ��	��� 	����� ��� 
� ��� �������� �� ���
�� ������	� ���� 
���� ���� �����
 ������ �
��� � �������� �$�	 ���� � ������� �������
�� ��� �$�	� �� �	 ��	� ��		�
��� ���� ��� 	����� �	 ����	� �� !���	
���
�� �������� ��� ����	 �� �� ��
�����
 ������� ����������		 ��� 
!������ �	���������	 ��� ��!��������	 �� !��� � 	��! �����	������	 ���
��	�	�
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3�� ��	� �! B�@����� 9��������� 	���� ���� ��� ��	��� 	�����
������� 	��������� ��� 
���	��������� 

 ��� ������������� #��� �!

���� ����	� %�	� ����� �	 � 	����� ��!�������� �! ��� 	����� ��� ��
����� !����	� %	 � ��	��� �! ��!�������� �������� �� ��� 	����� ��	�	
���� �!��� 	��� ���� 
����� ����	�

0��E	 ���� 	��� ���� ��	� ������	� "! ����	�� �� ��� ����� ����
�� ���� ���	������ ������/�� 	�������� �! �������� �! � ��	��� 	�����
�	 ��	� 
��
 �� ��� ����� ������ 	���� ����� D� ���� ��������� 
���
��������� ��		�
�� ��������� 

 � 	����� �! ������������� ��� ������� 
�������� ����	� #������		 �! ���		 	������ �! � 	����� ��� ������ 5�� 
����� ���� �� 	��� 	�����#�� ������ ��� 	���� ��������� �������� ��	
�������� � ���� 	������� �! ��		�
�� �
��	 �! ��� 	����� ��������� ��
�	 ����������	��� !�� ��� ��������� ���
���	� �����!��� !�� *����������
�����	������� �! �
�����	 �! � ��	��� 	����� ��� ����� �������� �	
*���� ���*���� ��� �����������

 � $�%�"� $������� ���������	 
� ��
	���� �
	�
�
�
 &$�	�
���� '�	����	�� $�����
 (()*�

+� #� ,	����	� ��� "�$�-� -�������� �
	��� ������	 ��� ����� �
�
�
����� ���
����	 &.����	��� '�	����	�� $�����  (()*�

/� 0�%� �� ,���� ������	 �� ������ ����������	� & ((/*� ��1	�!������2(/3+34+
5������6�

)� #�7� 7����� ��� 8� -��
��9� ������	 ��� ������������	 �� ����� �
�� ���

�
	�
�
����� ����������	� & ((4*� ��1	�!������2(43)33: 5������6�

4� ;�<� #�������� ��� ������������ ���
�
 
� �
	��� ������	 &����	���� �

$���	
� $���	��	�� =�	���� ��� $�	�������	�� +33/*�

>� #�,� ������ ��� #�7� 7������ ���
��� ���������� ��� ������� 
� ������	 �

����� �
��� & (((*� ��1	�!���?
2((3@3/(�+ 5���?
6�

:� #�,� A������ ��� -�8� <���
����	�� '��� %� $���� ��� >/( &+334*�

@� #�$� 7������� ��� -�8� <���
����	�� #
�� $���� $����	
� = ��� 4(/ &+33+*�

(� #�#� A�������	� ��� -�8� <���
����	�� -��� %� ����� ;��� �	9� ���� )3+
& ((:*�

 3� ;� -��B��� ,� ������ ��� %�$� �� ,	��	���� ���������� 
� �  
�� �
	��� ������
�
 � !
������ ����� �
��� &+33+*� ��1	�! ���?
23+3@33(�/ 5���?
6�
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�
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��	" �
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6�

 +� "�8� A	�
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����	�� '��� %� $���� ���   / &+33+*�

 /� 7�D�� #�	
��� "�8� A	�
������ #�$� 7������� ��� -�8� <���
����	�� �����
;��� �	9� ���� 8�� +� /3) &+33)*�
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� ���
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� ��� ���� 
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���	�����

�� ������	
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��� ����� ������ 	
 ������ 
�	�� ��� 
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�#������	 ����� ��� 	��	)
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#�.�� ������� ��

�
� � �� ��0 ��� � ����������	�� ������ �����	���&

	
 ���� '������* ��� �	�� ��
� '&'�� 	
 � �	���� �����'�� ��&��'�
���������� #�'	��� ������ 	#/�	�� "��� '	������ %1 &���� 
�	� ���
�	� ����� �	 ��� ���'	/��& 	
 ��� ����� #	�	�* �/�� �
 ��� ��	.�'�
��������& ��	�	��� ����� ��� ���& ����������� &���� 	
 ���� '	���'��	�
��� ����&��� �	 '	��- ��� ������� ��	���� ��� ������� �� 	���� 
	�
��� ��" ����'�	� �	 #� ����& "��� ��� '������ ����'�	� ��� ���'���
��� 	
 ��
�����*

��� �	�� ������� �	��/���	� 
	� ��������� �� ���������� "���
�''���'& ������� #& ��������'� �� �	 ����& ��� ���� ��2����� 
	� ���
���������� �	 ���
 ��� ��������'�� ���	�* �� �����'�� ��&��'� ������
������ ���� ���� ��'������ �� 2��������� 
	� � '	������ ���� ����
���'� ��� 	��& "�& �	 �����3'����& ����	/� ����������� ���'���	�
	/�� �	�� ���� ����	�� �� �	 ��'����� ��� ���� ����* 4	� �����������
�� ��� ��� �� ����� ���� ��� �����	���& ���� ��'����� 
	� ���� �	
#� ��	��'�� ��� ��'	���� "��� � ������ ����* 5	�� ���� "��� ���	 ���
'����� ��� �������/��& 
	� ���� ��&��'� ��	'����� ���� '�������& ������
���''����#��*

�� 
�� ������� ����

�� ��� 3��� ��� ����	� %1�16%1�% ��� ��� ��	/���� ���'	�����	�� ���
� � �67 ��0 ��� ��� ����� ���������� '	���'��� ��	��� %8 
#��

����* ��� ������� �����	���& ��� #��� #��� 2�����& "�� �'���/��
"��� 81 �� #��'� ���'���* ���� �� �"�'� ��� ������ /����* (������
������� "��� ���
 ��� ���#�� 	
 #��'��� �� ��� �''������	�- � ���9
�����	���& ���'���� ��� 	
 ��� ������ /���� "�� 	#������* ��� ���"�
#�'9 
	� ��� ����� ����'�	� "�� ���� �� ��� �	 '	�� "��� � �	��
��:'��� #�'9��	��� 
�	� �� �/����� %1*; ������� �/���� ��� #��'�
'�	�����*

��� ��� "�� ���� �	"� �� 4�#����& %1�, 
	� ��� 3��� �	�� �����
�	"� ��� �� "��� ������ '	�����	�� �� %1�8* ��� ���� �����	"� �'�
��/��& �� ��� '	��	������	� 	
 ��� �����'������ ����'�� #��"��� ���
�����'	���'���� ������� "��'� ���/����� ��� ��'���� 
�	� �������



������	
� ��� 
�� 

�
� ����
�� ���

2��� �3 ��� ��� �%���	� %
��� ��� %��4 
����
���� �� ��
&� &��� ��	 ���4���

� ��� 
��� �'��� ��� ���������	 
����
���� �� ��
&� &��� �
�� ����� 
� ��� �����
�'�� 567

�� �) ��0 ������ �����&* �
��� ��� �����	"� ��� ��� �� ����'��� �	
���'�

�
� � ��6�) ��0 "��� � ���9 �����	���& 	
 �������� '������*

<��� ������ �����& ��� �����	���& ��� #��'� ���'��� ��� �	 #� ��	���
���� �	 %8 �� 
	� ��� ������� '	�����	� �	 #� �	����#�� �	 ��� ������
������* =�
	�� ��� ���� �	�� �����	"� ������� �� %1�7 ��� ��� ��
����'��� �	 ����/�� ��	���� �11 
#��* ����	/������ �����& �� ���
��.�'�	�� �� ��� �����	"� "��� 
������ ��'����� ��� ���9 �����	���&
�	 �#	�� , ����� ��� ������ /���� ����/����� ,11 
#�� �	 ����� ��
, &����*

4	� ��� ���� �����	���& ��� 
������� ��.	� '������ �	 ���
������'��	� ����	� "��� #� ���� "��'� ��'������ ��� &����& ����������
�����	���& �	 � ���9 �����	���& ������� �	 �� ���� '������ �	� �	
��'��� %11 ������� �/���� ��� #��'� '�	�����* �����	���& ��/������
"��� #� ���� �	 �������� ���� �����	���& 	/�� � �	�� ���� ����	� �)�*
��� ������ "��� #� ��������� �� � ����� �	�� ������	"� ����'���
�� %1%�6%1%%* ��� �	�� �� ���� �	 '	���'� ,111 
#�� ���� #�
	�� ���
��� 	
 ��� ������ ��	.�'�* 4����� � �������� ��� ��� �������
�'������* � �������� ���'�����	� 	
 ��� ��'���'�� ����'�� 	
 ��� ���
������� '�� #� 
	��� �� ��� ���	�� #& ��� ���� �����	���& ���
��	.�'� �,�*



��� �� �������

�� �����
� ������
�� �� ��� ��
�� ����
���

5��& ������� "��� �	�� #& ��� ����� '	���#	����	� �	 ���������
��� ����'�	� ��2��������� ��� �	 ������ ��� ��&��'� �	������� 	
 �� ���
������ ����� ����'�	� �� ������* ��� ������� "��� �	'�������
�� � ���#�� 	
 ���	�� ��#������ �	 ��� ���	���� �������& ��	��

	� �����'�� ��&��'� �� %1�% �+�* �� "�� ������� ���� ��� ����'�	�
���
	����'� 	
 ��� '������ ����'�	� "��� #� ���������� �/�� �� ���
��� �;�* ��� ����'�	� ��� ������� "��� #� �������� �	 ��/� 	>���
������� ������	��� 
	� ������ ���'��	�� 	
 %8 ?�0- ��	�	�� ��� ����
	
 +1 ?�0 ��� 5�� 	
 �71 ?�0* ����� �� � ���	�� '	���'��	� #��
�"��� ������� ������	��� ��� ��&��'� ��������	��* 4����� % ��	"�
��� �''�����'� 
	� ����� ��&��'� ��	'����� �� � 
��'��	� 	
 ��	� ��
������	��* ������ ������	�� ��� � �������' �@�'� 	� �''�����'��*

4	��	"��� ��� ���'	/��& 	
 ��� ����� #	�	� ��� ��.	� �	�� 
	�
������ �� �	 ��������� ��� ������ 	
 ��� ��" �����'�� "��� ���
#��� �	���#�� ���'���	�* ��� ����& ��	"� ���� ��� ����������� ����
'���	� 	
 ��� ����� #	�	� '�� #� ����	/�� #& � 
�'�	� %�, �� ���
��� �+�* �������/��& �	 #�&	�� �������� 5	��� ��&��'� ����������
�'���� ������ "��� "��� '������	
����� �����& �� ��� '	�����	�� #�� ���
��������'� 	� �����	���& �� �	�� '	�����* ������� 	
 ����� �&����

 [GeV/c]
T

true muon p
0 10 20 30 40 50 60 70 80 90 100

Ac
ce

pt
an

ce
 fr

ac
tio

n

0

0.2

0.4

0.6

0.8

1
ATLAS Simulation, 14 TeV

WH
SUSY-direct-gaugino
tt

2��� �3 *���%����� 
� ��
�� ��
� ���, 8� ��	 +9+: %�
������ �� � ������
� 
�
���� ��
� �
������



������	
� ��� 
�� 

�
� ����
�� ���

��& ��	" ���� ��� �������/��& �	 3��� ��� ��'	�� ��������	� �2���9�
��� �����	� ����	/� #& )116811 ?�0 "���� ��� �������/��& �	 ��	��
����	/� #& %11 ?�0 �7�* ��� ��'����� �� �������/��& 
	� ������� 	
 ���
	��' ���������� ��'� �� ���	���&� ��� "��9�&���	��'�� �	� ���	���'��
��� ����	" ������	� ���	���'�� �� #��"��� �*, ��� %*) ��0 �$�*

 � ��
�� ������� ����

��� ����� ����'�	� ���� �	 #� ����	/�� �� ���& ����� �	 ��9�
��/������ 
�	� ��� ������ �����	���& ��1�- ����* ����� ��� �	"�/��
'	��������� ��/�� #& ����� 	
 ��� ����'�	� ���� '���	� #� �����'��*
��� �	�� ���	����� '	�������� '	��� 
�	� ��� 5�	� (��
� ��#��

5(�� ���� ��� ��������& ���''����#�� ���'� '���	� #� �����'�� 	�
��������*

��� '������ ���'9��� ����'�	� "��� ���'� ��� 	
 ��� ��
����� #& ���
��� 	
 ��� ��'���* ��� ���9��� '������ ��� �������	� /	����� 	
 ���
����'	� ����'�	� ��&��� ��� �����'��� "��� �		� �''���'& #& �������	�
������ �	���� ��%�* ��� �������	� /	����� 
	� ��� ������	�� �����
��� ����'	� ����� ��&��� ��/� ���'��� ��� ����� 	
 ��� ���� 0	�����
�	"�� �������� ��� '���	� #� ��� ����� 
��� �������	�* � ��'	��
�	��/���	� 
	� �����'��� ��� ���'9�� �� ��� ���	����#�� 	''����'& ��
��� ��������	�  ������	� ���'9�� �� ���� �����	���&* ��� ������ ���
��/��	����� 	
 � ��" %11 �� ����� ���'9�� 
��A� �������& ���� 	

����'	� ����	�� ��� ������& ������� �	 #� ����& 
	� ����������	� ������
��� ����� �	�� �����	"�* =& ����� ��" ��/��'�� ���������- �B�

'		���� ��� #& ����� � �	�� �:'���� ����	� 
	� ������#����� �	"��
��� �������	� ������ 	
 ��� ��" ���'9�� "��� #� �"�'� �	���� ���� ��
��� '������ ���'9��* ���� "��� ����'� ��� �����'�� '	�/����	�� �� ���
���'9�� 
	� ��� #���3� 	
 ��� '��	�������� ��� #�'9��	���*

� ��" ������� ��'����'���� "��� #� ����	��'�� 
	� ������* ���
��" ��'����'���� ��� �	 #� '	�����#�� "��� ��� 	������	� 	
 ��� 5(�*
(������� ��/��������	�� 	
 ��� 	������ ���������� 
	� ��� 5(� ��
������ ��� #��� �	��* =���� 	� ���� � ��" �1 ������� ��/�� "��
����	��'��* ��� �1 �� /��& ������� �	 ��� '������ �� #�� �������
�� 811 9�C �''�����'� ���� '	������ �	 ;8 9�C 
	� ��� '������ ��*
��� �1 ������� "��� ���� ����'�	� ����	�� �	 #� ���� �� ��� �� �������
��'���	�* ��� ��" ������� �� �''�����'� ���� "��� #� %11 9�C*



��� �� �������

!�" 
	� ������ �� ��� ��'����	� 	
 ��� ��A �� ��� �� �������* ���� ��
�	� �	���#�� �� ��� '������ ����'�	� #�'���� 	
 ��� ��	�� �����'& 	
 ���
�� ������� 
,��� ��� ��� �	�� ���� ��2����� �	 ���� 	�� ��� ���'9��*
�� ��� ��" ������� �'���� ��� �����'& 	
 ��� �� ������� �� �������� �	
%1��* ��� ���� �����
�� 
�	� ��� ��A ��� #��� 	�����C�� #& �������
	�� 	��& ��� ���� 	
 ��� ���'9�� ��2����� 
	� ��� �� ������� ��'���	�*
���� ��/�� � ���� ����'��	� 	
 �	�� ���� 
��*

B���� ��.	� ������� ��	.�'�� 
	� ����	/��� ��� �� ������� ���
	��
���'� �� ��� �����'����� 	
 ��� 
�	������ ���'��	��'� �� ��� '��	�����
����* ��� ��" ���'��	��'� "��� #� '���#�� 	
 �����
������ ��� ��� ����
	@�����'�	� �� 
��� �/��� ����* ���� "��� ���	" ��� ��� 	
 ��� 
��� �����
������& �� ��� �� �������* �� ������	� �	 ������� �����	��� #���� 	� ���
���& ���� �	�� 	>��� ��9� 
������ ��9� ����� /����#��� '�� #� ���� ��
��� �� �������* ��� '��	������� ������� "��� ������& ����� ������ ���
��'	�� �	�� �����	"�* ��� �� ��	� ������� "��� ���	 #� ����	/��*
� ���� �������� ��	� ����'�	� ����'�	�- ��� !�" ����� <���� ��,�-
"��� #� ��������� �� ��� ����'�� #��"��� ��� '������ ��	� ��&��� ���
��� ������'��	� �	���* ���� "��� ����'� ��� ���� ������� ���� ����
�� �����& '	����� 
�	� 
�9�� �������� 
�	� ��� #��� ����	�* �"	
��'��	�	����- 5�'�	 5���� ��)� ��� ����� ���� ?�� ����#��� ��8�-
��� ��/��	��� �	 #� ���� 
	� ��� ����'�	� ��&�� ���� "��� #� ���������
�� ��� ��'	�� �	�� �����	"�*

!� ���
�	�����

��� ��	���� 
	� ��'������� ��� ���������� �����	���& �� ��� #& ��
	���� 	
 ��������� ��� �������* ��� #�'9��	��� '	�����	�� 
	� ���
����� ����'�	� �� ������ "��� #� '���������� "��� �� �	 %11 ���
�������	�� ������� �/���� 	/����&��� �	���#�� ������� 
�	� ���������
��� ��&��'� ����������* ����� "��� �	 ���& ����	/������ �	 ���	"
��� ����'�	� �	 ��� �� ������ "��� ������� ������	��� ��� ������
��/��& '	�����#�� "��� ��� '������ ����'�	�* ��� ���� �������� ���
��� �����'����� 	
 ��� ���'9��� ����'�	� ��� � ��" ������� �'����
'���#�� 	
 ������ ������� ���� ��� "��� �	�� ��/��'�� ��	'������
������& �� ��*



������	
� ��� 
�� 

�
� ����
�� ���

�� *��*+ �


��
����
�, *��*+3 
����� 
� ������ �
� � ������
)%��%
�� %% �')
%������� �� ��� 
���� ��	�
� �


�	�� �� �"#$, �"#$)����);�)��<= ����)
 )� ��;;���

�� *��*+ �


��
����
�, *��*+ ��������
 0�
%
��
 �
� � >�����
)0��%
�� %%
"'%������� �� ��� ����� ��	�
� �


�	�� �� �"#$, �"#$)����);<)<!=
����)0� ��;;<��

!� ���� �����
���� ��� 0�
����, �����������	���
��
��

���
�

<� ?�+� /�@�����, ��)��� 0�������� +%��� ��	 +������
�, �"#$)����)��A ��	
�"#$)*�+)����)�A; �������

6� #����& 
� ��� B  �����
� 9%���	� 0
��� 8
�4��
% �#� 90�,
������������
��

���
��
���
�
�

������������������
�
�������� !"�,
����!��

A� *��*+ �


��
����
�, 0������ �� � ����)�����
���� ��� &��� *��*+ �9%)
	����, *��)0�:+)09/)����)���= *��)0�:+)09/)����)��< �������

C� *��*+ �


��
����
�, 0���
������ �����%��
�� �
� �� �%���	�	 *��*+
	�����
� �� � ����)�����
���� ���, *��*+)0�:+)09/)���!)��< ����!��

D� *��*+ �


��
����
�, +������� �
� +�%���������� �� ��� ���� 
����
����
��� &��� ��� *��*+ E�����
�, *��)0�:+)09/)���!)��� ����!��

;� *��*+ �


��
����
�, +��	��� 
� +���������� �
 $�& E�
�%�
� ��	 E��
%
#��
������ &��� �� 9%���	�	 *��*+ E�����
� �� � ����)�����
���� ���,
*��)0�:+)09/)���!)��! ����!��

��� *��*+ �


��
����
�, *��*+ 0����) 9%���	� �
 , �"#$)����)����)
���= ����) )��� �������

��� *��*+ �


��
����
�, *��*+ 0����)  9%���	� �
 , �"#$)����)����)
���= ����) )��! ������

��� 0�F� E�����, �� G
�	
, 0���
������ ��	 
%�����
� �'%������� 
� ��� *��*+
+����
�	���
� ����4��, *��) $E"�)0#?�)���!)��;,�+�������	 �
 0
+�
����!��

�!� *��*+ �


��
����
�, $�& +��

 8���
 �E#, �"#$)����)���!)��A=
*��*+)�E#)��� ����!��

�<� :� >�
������� �� ���, ���	
���
�� 
 ���� ����������� �������� ���������

������� �������� ��� ���� �������� �� �������!����, $��
�  ������� .���� *
�� ��;;A��

�6� H� +��4���� �� ���, "��� ��� ���!#�� ������� ��� �$��� %������� ������&

���� �� � ���� #��!, $��
�  ������� .���� * ��� ����;��



tt̄ CHARGE ASYMMETRY
AT HADRON COLLIDERS1

A. Chapelain

Irfu/SPP, CEA-Saclay, France
e-mail: antoine.chapelain@cea.fr

Abstract

We present the current status for the measurements of the tt̄ charge asym-
metry at the Tevatron and LHC colliders.

1. Introduction

At NLO, QCD predicts the top quark to be emitted preferentially in
the direction of the incoming quark, while the top antiquark in the
direction of the incoming antiquark. This charge asymmetry comes
mainly from the interference between qq̄ → tt̄ tree diagram with the
NLO box diagram, and from the interference of initial and final state
radiations (qq̄ → tt̄g). Results from the CDF and D0 [3, 4] collabo-
rations have driven a lot of attention because some of the measured
asymmetries were significantly higher than the SM predictions. In
this note we present the most recent results for the CDF, D0, ATLAS
and CMS collaborations and compared them to the latest prediction
based on the Standard Model [2].

2. Observables

The Tevatron and LHC colliders present different initial state parti-
cles at different energies. The Tevatron is a proton-antiproton col-
lider at

√
s = 1.96 TeV and the LHC is a proton-proton collider at

1Received after the dead-line.
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√
s = 7 and 8 TeV. At the Tevatron tt̄ pairs are mainly produced

through quark-antiquark anihilation and there the laboratory frame
is equivalent to the partonic rest frame. Thus at the Tevatron the
charge asymmetry results into a forward-backward asymmetry (FB).
At the LHC tt̄ pairs are mainly produced through gluon-gluon fusion
which does not contribute to the charge asymmetry. In the subdom-
inant qq̄ → tt̄ process, the antiquark originates from the proton sea
leading the tt̄ system to be boosted in the direction of the top quark.
Indeed the incoming quark carries on average a higher momentum
than the incoming antiquark. In that case the charge asymmetry
results into a forward-central asymmetry (FC).

We therefore define two different observables at the Tevatron and
at the LHC to measure the tt̄ charge asymmetry:

Tevatron Att̄
FB =

N(∆y > 0)−N(∆y < 0)
N(∆y > 0) + N(∆y < 0)

, (1)

where ∆y = yt − yt̄,

LHC AC =
N(∆|y| > 0)−N(∆|y| < 0)
N(∆|y| > 0) + N(∆|y| < 0)

, (2)

where ∆|y| = |yt| − |yt̄|,
yt and yt̄ are top quark and antiquark rapidity, respectively.

We also measure the tt̄ charge asymmetry based on the leptons
coming from the decay of the W boson coming from the top quark
decay:

Tevatron A`` =
N(∆η > 0)−N(∆η < 0)
N(∆η > 0) + N(∆η < 0)

, (3)

A`
FB =

N(q × η > 0)−N(q × η < 0)
N(q × η > 0) + N(q × η < 0)

, (4)

where ∆η = η`+ − y`− ,

LHC A``
C =

N(∆|η| > 0)−N(∆|η| < 0)
N(∆|η| > 0) + N(∆|η| < 0)

, (5)

where ∆|η| = |η`+ | − |η`− |,
η`+ and y`− are positive and negative lepton pseudorapidity, respec-
tively.

The interest of measuring such an asymmetry is that we do not
need to reconstruct the tt̄ kinematic and the lepton kinematic is well
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measured. The leptonic asymmetry is also sensible to the top quark
polarization if any.

3. Top Quark Signature and Reconstruction

The top quark decays almost 100% of the time into a W boson and
in a b quark. We therefore classify the tt̄ final state according to the
W boson decay mode.

The `+jets channel, where one W boson decays hadronically and
the other leptonically, is characterized by one isolated lepton, at least
four jets and missing energy due to the presence of a neutrino escap-
ing the detector. This channel has a good production rate (∼ 45%
of all tt̄ events) and a reasonable amount of background. The main
backgrounds in this channel are W+jets events estimated using sim-
ulation and data, and multijet production where one jet mimics a
lepton. The later is estimated using data. The dilepton channel,
where both W decay leptonically, is characterized by two oppositely
charged leptons, at least two jets and missing energy due to the two
neutrinos. This channel suffers from a smaller production rate (∼ 5%)
but has little background. The main backgrounds come from Drell-
Yan process estimated using the simulation and W+jets and multijets
background mimicking leptons estimated in data.

Beside the above requirement, the event selection, which aims at
increasing the tt̄ fraction in the analyzed sample, uses topological
criteria as well as well as b-quark identification.

For the tt̄-based asymmetry, the reconstruction of the tt̄ kinemat-
ics is needed. This reconstruction is performed using kinematic fit-
ters. In the reconstruction algorithm, the different lepton-jet permu-
tations, the experimental resolutions, the b-quark identification are
taken into account. The mass of the W boson and the top quark are
fixed to their world average values within their widths. In the dilep-
ton channel we additionally need to make some assumption about
the neutrinos kinematic since their presence leaves the system un-
constrained.

4. Measurement

After reconstruction the tt̄ kinematic, we can measure the raw asym-
metry, i.e. the asymmetry observed in the detector. To do so we
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need to subtract the estimated background from data. At this level
we cannot compare the measurements between experiments (CDF
and D0 on the one hand and ATLAS and CMS on the other and)
due to different detector effects and different acceptance cuts. The
raw distribution need then to be unfolded to correct for these effects
and get back to the production level asymmetry.

5. Results

Table 1 shows the inclusive production tt̄-based and lepton-based
asymmetries measured at the Tevatron compared to the predictions.
We observe that there are differences up to about two standard de-
viations (SD) between measurement and predictions. Figure 1 shows
the differential measurement of the tt̄ asymmetry as a function of
the invariant mass and the rapidity of the tt̄ system performed by
CDF [5]. We observe a significant difference between measurements
and prediction up to about three SD. D0 does not observe such a
difference.

Table 2 presents the inclusive production tt̄-based and lepton-
based asymmetries measured at the LHC compared to the predic-
tions. The measurements are consistent with the predictions. ATLAS
and CMS performed differential measurements of the tt̄ asymmetry
as a function the invariant mass, the transverse momentum and the
rapidity of the tt̄. We observe consistency between the measurements
and the predictions also for for highly boosted tt̄ system.
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CDF [5]
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T a b l e 1: Inclusive production tt̄-based and lepton-based asymmetry
measured at the Tevatron. All values are given in %

Att̄
FB A`

FB A``

CDF `+jets 16.4 ± 4.5 [5] 9.4 ± 3.2
2.9 [6] −

CDF dilepton − 7.2 ± 6.0 [7] 7.6 ± 8.1 [7]
D0 `+jets 19.6 ± 6.5 [4] 4.7 ± 2.6

2.7 [8] −
D0 dilepton − 4.4 ± 3.9 [9] 12.3 ± 5.6 [9]

Prediction [2] 8.8 ± 0.6 3.8 ± 0.3 4.8 ± 0.4

T a b l e 2: Inclusive production tt̄-based and lepton-based asymmetry
measured at the LHC. All values are given in %

A`` A``
C

ATLAS `+jets 0.6 ± 1.0 [10] −
ATLAS dilepton 5.7 ± 2.8 [11] 2.3 ± 1.4 [11]
CMS `+jets 0.5 ± 0.9 [12] −
CMS dilepton 5.0 ± 4.4

5.8 [13] 1.0 ± 1.6 [13]

Prediction [2] 1.23 ± 0.05 0.70 ± 0.03

The final Tevatron measurements as well as the new LHC mea-
surements performed at 8 TeV are expected to be published soon.
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